F. No. 28-6/2018-IS-9 Government of India Ministry of Human Resource Development Department of School Education & Literacy IS-9 Section

Dated the 31st July, 2018

Subject: Samagra Shiksha – 4th Meeting of the Project Approval Board (PAB) held on 17th May 2018 – Circulation of Minutes in respect of Tamil Nadu

The 4th meeting of the Project Approval Board of Samagra Shiksha was held on 17th May 2018 in Conference Room, No. 112, 'C' Wing, Shastri Bhawan, New Delhi to consider the Annual Work Plan & Budget (AWP&B) 2018-19 of Tamil Nadu.

2. A copy of the PAB minutes duly approved by the Secretary (SE&L) in respect of the AWP&B, 2018-19 for Tamil Nadu under Samagra Shiksha is enclosed.

(Alok Jawahar) Under Secretary to the Govt. of India Tel No. 2338 1095

То

- Sh. Rakesh Srivastava, Secretary, Ministry of Women & Child Development
- 2. Shri Heeralal Samariya Secretary, Ministry of Labour & Employment
- Smt. Nilam Sawhney, Secretary, Department of Social Justice & Empowerment, Ministry of Social Justice & Empowerment
- 4. Sh. Deepak Khandekar, Secretary, Ministry of Tribal Affairs
- 5. Shri. Parameswaran Iyer, Secretary, Ministry of Drinking Water & Sanitation
- Shri Ameising Luikham, Secretary, Ministry of Minority Affairs
- Ms. Shakuntala D. Gamlin, Secretary, Department of Empowerment of Persons with Disabilities, Ministry of Social Justice & Empowerment

,

- Dr. Punam Srivastava,
 Dy. Adviser (Education), Niti Aayog.
- 9. Prof. Hrushikesh Senapaty, Director, NCERT
- 10. Prof. N.V. Varghese Vice Chancellor, NIEPA
- 11. Smt. Anita Karwal, Chairperson, NCTE, Hans Bhawan, Wing II, 1 Bahadur Shah Zafar Marg, New Delhi 110002.
- 12. Prof Nageshwar Rao, Vice Chancellor, IGNOU, Maidan Garhi, New Delhi
- 13. Ms. Geeta Narayan, Member Secretary, NCPCR, 5th floor, Chanderlok Building, Janpath, New Delhi 110001
- 14. Sh. Sanjay Kumar, JS (SE.II Bureau).
- 15. Sh. Shashank Shekhar, JS (EE.1).
- 16. Sh. Sachin Sinha, JS(AE & Coord.)
- 17. Ms. Darshana M Dabral, JS & FA, MHRD
- 18. Sh. Pradeep Yadav, Principal Secretary (Education), School Education Department, Secretariat, Chennai, Tamil Nadu – 600 009

Copy to:

- 1. All Divisional Heads of ISSE Bureau
- 2. All Under Secretaries of ISSE Bureau
- 3. Shri Rajeev Mehra, Chief Consultant (appraisal) for circulation among the appraisal Team for the State of Tamil Nadu.
- 4. NIC- with a request to upload minutes on the Shagun portal.

Copy for information to:-PPS to Secy(SE&L) PPS to JS(SE.I)

(Alok Jawahar) Under Secretary to the Govt. of India

Government of India Ministry of Human Resource Development Department of School Education and Literacy

Minutes of the meeting of the Project Approval Board held on 17th May, 2018 to consider the Annual Work Plan & Budget (AWP&B) 2018-19 of Samagra Shiksha for the State of Tamil Nadu

1. INTRODUCTION:

The meeting of the Project Approval Board for considering the Annual Work Plan and Budget (AWP&B), 2018-19 for Samagra Shiksha for the State of Tamil Nadu was held on 17th May, 2018. List of participants in the meeting is at **Annexure-I**.

Shri Maneesh Garg, JS (SE.1) welcomed the participants and the State representatives led by Shri Pradeep Yadav, Secretary, Government of Tamil Nadu and invited them to brief on the initiatives taken by the State.

2. INITIATIVES OF THE STATE

- State has taken initiative for recycling of 50% of textbooks in government schools.
 State is undertaking the process for monitoring of BRCs/CRCs. The State is planning to provide tablets to more than 30,000 schools for supporting the Shaalakosh initiative of the Department.
- The IEDSS centres at present have the ICT facilities such as magnifiers, JAWS software, flash teacher support for low vision students and angelpro for visually impaired. The centres are provided with all ICT materials which are very useful for the visual and hearing impaired students. The special educators were trained by the NGO and NIVH for handling the instruments for the benefits of the CWSN students in the secondary classes.
- The abstract maths can be learned by the pedagogy CPA (Concrete, Pictorial, Abstract) in which children learn the maths concepts by doing with concrete objects. The Vikram Sarabai Science Centre provides the necessary material and the Ramanujam Maths & Science Institute provides the necessary kit for the exploration
- IMPART (Improving Participation) is another special initiative designed to improve the participation of students in secondary education. The scheme is implemented in

the special focus districts viz. Cuddalore, Kanchipuram, Nagapattinam, The Nilgiris, Perambalur, Tiruvarur and Villupuram. The best projects of the students are duly awarded in the District Level Science Exhibition.

• Inclusive schools – All RMSA schools which are upgraded by the mission are having the provision of ramp up to second floor and the toilet and other provisions were totally CWSN friendly. 1,254 new schools and 44 model schools have this provision.

3. ACTION TAKEN COMMITMENTS GIVEN BY THE STATE FOR 2017-18

The progress made in implementing the commitments given by the State in 2017-18 was reviewed. The status in respect of some of the major commitments and the comments of the PAB thereon are as follows:-

SI.		Action taken				
No.	Commitments					
1	There are 817 primary and 9 upper	Presently,	there is no	single teacher /		
	primary single teacher schools in the	school in the Sta	school in the State. The State has taken initiative			
	State. Two districts namely Krishnagiri	to merge 1053 s	chools with	very low enrolment		
	and Vellore have higher PTR in	with other school	ols in the vic	inity. During 2017-		
-	primary and upper primary schools	18, as per the	DISE data,	in Krishnagiri and		
	respectively. The state has rationalized	Vellore, the PTI	R is within th	ne norms of 1:30 in		
	the teacher deployment. The state is	Primary and 1: 35 in Upper Primary schools.				
	conducting online monitoring for					
	teacher redeployment and transfer	r The PTR of Vellore and Krishnagiri d				
	through MIS. In a single day the	-				
	redeployment process is completed.	District	Primary	Upper Primary		
	The State will look into the issue	Vellore	21.25	25.20		
	further so that there is no single	Krishnagiri	23.9	21.80		
	teacher school in the State.	B				
2	There are 37% upper primary schools	In all th	ne Upper	primary schools,		
	where the subject teachers as per RTE	availability of s	ubject teache	ers in Mathematics,		
	are not available. The average subject	language and So	cience has be	een ascertained and		
	PTR for upper primary is 35 in	surplus teacher	rs subject	wise have been		
	Language, 20 in Mathematics and 57	identified. During general counseling for				
	in Social Science. The PTR has been	transfers online, which is due in the last week of				
I	I					

SI.				
No.	Commitments	Action taken		
	high in two districts namely	May, 2018, these posts would be filled up. As		
	Krishnagiri and Vellore since 2014-15	per the DISE data, the actual availability of		
	and 2015-16. State has carried out	subject teachers could not be generated		
,	rationalization of schools and	presently. NIEPA has been addressed in this		
	redeployment of teachers and issue	regard.		
	will be resolved.	In Krishnagiri and Vellore, the PTR is		
		within the national norms and this can be		
		ascertained through UDISE. During 2017-18,		
		3665 teachers were redeployed to needy		
		schools.		
3	There are 2450 vacant positions of	The surplus teachers have been redeployed to		
	teachers at primary level and 1338 at	the needy schools. No teacher post has been		
	upper primary under the State. Since	filled in the last 2 years. During 2017-18, 3665		
	the pupil Teacher Ratio (PTR) is quite	teachers have been redeployed based on the		
	comfortable 25:1 at primary and upper	PTR rationalization. Adverse PTR, if there is		
	primary stage. State will follow	w any, will be addressed during the redeployme		
	redeployment of teacher instead of	of process in May, 2018. There is no shortage		
	appointing more teachers. Also	teachers and the issue of deployment will be		
	redeployment is justified as there are	sorted out with automated transparent		
	773 (3.20%) Primary schools and 718	counseling process for transfers.		
	(5%) upper primary schools with an			
	adverse PTR.			
4	State has conducted survey in all the	Out of the 36930 Out of School Children		
	costal blocks of 10 districts. All the	identified, 35720 have been enrolled in schools		
	379 children newly identified during	in age appropriate class and provided education		
	2016-17 have been enrolled in schools	through various interventions (NRSTC/ RSTC/		
	after being provided special training.	KGBV /NCLP/ CWSN / Direct Enrolment).		
	Further the survey has pointed (for the			
	year 2017-18) 36930 Out of School			
	Children (OoSC). The State will enroll			
	at least 35 thousand children out of			
	these in schools during 2017-18.			

SI.		
No.	Commitments	Action taken
5	The State reported dropout rate of 0.5% at Primary and 1.0% at upper Primary level. State will reduce dropout rate to 0.1% at primary and 0.5% at Upper Primary level.	The dropout rate is 0.88 % at primary level, 1.12% at elementary level, 3.75% at secondary level and 1.69% at senior Secondary level. The State is exploring possibilities to motivate and apprise the parents on the facilities available in all the Government schools via rallies, propaganda, pamphlets and door to door campaign in all the habitations of the State. The Government is also providing 14 kinds of incentives to the children belonging to below poverty line families studying in Government schools.
6	State would document their best practices and initiatives and subsequently upload it on the SSA Shagun portal. This would enable the State to showcase its successes and would provide a platform for all States to learn from each other.	1725 testimonials, case studies, videos and photos have been sent to MHRD, out of which 227 best practices and initiatives of the State have been uploaded in the SSA, Shagun portal
7	State would update the progress in implementation of the approved activities under the AWP&B on the SSA Shagun portal. A hard copy of the Summary State Tables I and II on the Shagun portal, duly signed by the State Project Director, would be submitted at the time of the request for release of funds under SSA. This would be in addition to the already prescribed documents under the GFR.	The summary of State Table I & II on the SHAGUN Portal duly signed by the SPD were submitted at the time of request for release of funds under SSA during 2017-18. The entries on Shagun portal have been made and the summary of the tables I and II are also submitted during the appraisal of Annual Work Plan.

Sl.				
No.	Commitments	Action taken		
8	State should create a Child wise	To make the enrollment indicators, robust and		
	database (using Aadhaar wherever	reliable, child-wise database using unique ID		
	available or any other unique Id for	has been created and the same is now bein		
	every child) by June, 2017. This	seeded with Aadhaar numbers. As on date,		
	database would make the enrolment	percentage coverage under Aadhaar seeding is		
	indicators robust and reliable.	91%. Aadhaar seeding would be completed by		
		December 2018.		
9	State will maintain a database on	The database for teachers including their		
	details of its teachers, including their	Aadhaar numbers has been created and is being		
	Aadhaar numbers.	maintained.		
10	The State will complete GIS mapping	The updating of 58033 schools with respect to		
	of all schools (100%) and integrate	the UDISE 2016-17 was completed in June,		
	their database with the NIC website	2017 with the support of web-GIS interface		
	http://schoolgis.nic.in/.	provided by NIC. The GIS link of updated		
		school locations were shared with MHRD for		
		hosting in National GIS platform-		
		SCHOOLGIS in September, 2017.		
11	State will undertake positive	The State is exploring the possibilities of		
	consolidation of its schools, within the	consolidation of Government schools with very		
	provisions of the RTE Act, with a view	low strength without compromising the access		
	to strengthen primary education and	to education. The State is taking all possible		
	for optimum utilization of resources.	steps to provide quality education to the children		
		in Government/ Aided schools with a view to		
		improve the enrollment in all such schools.		
12	State will map all the 24103 stand	NCERT developed learning outcomes have been		
	alone Government and Government	disseminated to all government and Government		
	aided primary schools, develop and	Aided schools of Tamil Nadu. Learning		
	finalize specific action plans for	outcomes have been included in the state rules		
	improving learning outcomes in these	of RTE, as per G.O. M.S. No. 216, School		
	schools and share it with the	Education, dated 25.10.2017. All the teachers		
	Department.	handling classes 1 to 8 were given training on		
		Learning outcomes. In addition to this, District		

_

Sl.	Commitments	Action taken		
No.	Commitments	ACTION TAKEN		
		specific action plan has been prepared on the NAS findings for implementation from June 2018.		
13	The State will rationalize teacher deployment in primary and upper primary schools, so that there is no single teacher school and all schools have PTR as per norms under the RTE Act, 2009. At the upper primary level, special emphasis should be laid on maintaining the subject PTR.	3665 teachers have been redeployed based on PTR during 2017-18. The same exercise will also be done during May 2018. NUEPA and TSG have been requested to make necessary modification in UDISE DCF to update and generate the subject wise availability of teachers separately.		
14	State will recruit headmaster in primary and upper primary schools as per the RTE norms. Given the significant role of a headmaster in school management, direct recruitment (including through limited department exam) of 50% of all headmasters may be considered.			
15	State should ensure that children with less than grade level learning competencies are identified and provided learning support and in- school re-enforcement. Efforts would be made so that that all children reach the desired grade-appropriate competency level.	The achievement level of children is assessed through Continuous and Comprehensive Evaluation, Periodical Assessment (Twice in a year), State Level Achievement Survey (SLAS) and National Achievement Survey (NAS). Based on the findings of the above assessment, the low performing children were identified and given special attention by providing Learning support materials and remedial teaching to improve their achievement level.		
16	State will explore the mechanisms for convergence with other departments	To ensure 100 percent coverage of all schools with functional toilets both for boys		

Sl.	C	Action taken		
No.	Commitments	Action taken		
	especially with the Department of	and girls, the Government of Tamil Nadu in		
	Panchayati Raj for maintenance of	convergence with other departments and Public		
	school infrastructure, school sanitation	Sector Undertakings have constructed 79		
	and provisioning of drinking water	units of toilets and all these have been put to		
	facilities in schools.	use. Further, Rural Development Department		
		has renovated 10776 units of dysfunctional		
		toilets and made them functional. All schools		
		have been provided with functional toilets and		
		drinking water facility.		
		Maintenance of school toilets:		
		• The Government of Tamil Nadu has		
		issued a G.O. No: 77, Dated: 13.04.2015		
		especially for maintaining the school toilets by		
		the local body administration and an amount of		
		Rs. 160.77 crore has been earmarked for this		
		maintenance. Maintenance grants under SSA		
		have been utilized principally for making the		
		schools toilets functional.		
		• In continuation of the above G.O. Rural		
		Development Department has issued G.O. No:		
		151, Dated: 30.11.2015 for engaging sanitary		
		workers and provision of cleaning materials		
	- -	(Rs.57.63 crore) for the above purpose of		
		regular maintenance of school toilets.		
		• Municipal Administration and Water		
		Supply Department has issued detailed		
		guidelines vide G.O Ms. No 166, dated		
		23.11.2016, to engage private service providers		
		for maintenance of toilets in schools that come		
		under Town Panchayats, Municipalities and		
		Corporations. The state is taking utmost care to		
		provide 100% infrastructure facility to each		

SI.				
No.	Commitments	Action taken		
		school. As and when any shortfall is noticed, it		
		is addressed by District authorities then and		
		there without any delay.		
		National level awards – SVP 2016-17		
		During the Swachh Vidyalaya Puraskar		
		2016-17, out of 40 schools nominated for		
		National level awards, maximum numbers of		
		schools i.e. 25 were awarded from the State of		
		Tamil Nadu. Further, Tamil Nadu has been		
		awarded as one among the best 3 States that		
		have maximum number of green schools.		
17	State would undertake the "Partnership	In the year 2017-18, 286 schools from rural		
	between Schools" Programme which	areas were identified and partnered with 286		
	aims to link schools located in rural	schools selected from Urban areas, through		
	areas with private, aided or	which 11,440 students were benefitted.		
	government schools in urban or semi	Partnership between Schools paves the way for		
	urban areas. This would help in	growing professionally and sharing knowledge		
	bringing all students to one common	and teaching best practices with new audience.		
	platform and to share experiences and	Student develop their own voice and prospective		
	learn from each other.	in relation to peers.		
18	State will display a gallery of the			
	grade-wise photos of teachers on the	Since there is no issue of proxy teachers in		
	school notice board in all elementary	Tamil Nadu and hence there is no necessity to		
	schools. The photos would be in a size	display a gallery of the grade wise photos of		
	that is visible and identifiable. This	teachers in the school.		
	would help in honouring the teachers			
	who are the fulcrum of the education			
	system.			
19	State will complete all the pending	All the civil works allotted till 2015-16		
	civil works in 2017-18.	have been completed except one Upper Primary		
		school building at Thoothukudi District. It is at		
		Lintel level due to court case, pending before		

Sl. No.	Commitments	Action taken
NO.		the Hon'ble High Court. (Madurai Branch) As far as 2016-17 civil works are concerned, out of 3720 works, 2382 works have been completed and the remaining 1338 works are under progress since the fund for these works has been released only during March 2018, these works will be completed by June 2018. As far as 2017-18 works are concerned 678 Additional Classrooms and 882 CWSN Spillover toilets could not be started due to shor receipt of fund from GoI and hence taken as spillover for the year 2018-19. Out of 279 Majo Repair works, 248 are completed and 31 are under progress 9 Residential school building
		under progress. 9 Residential school buildings are yet to be started as the tender is under process.
20	State will ensure inspection and evaluation of all primary and upper primary schools	The objective of inspection is to visit schools to assess at regular intervals to monitor the Teaching-learning process and the learning outcomes of children. During the visit by officials, in each District, 2 Schools per block will be reviewed based on the visit report. The team comprises State officials, APOs and DIET Principals of nearby districts and
		Coordinators and Consultants of SSA. In the year 2017-18, 12 Districts were visited twice and reviewed at Block and District level. BRTEs and CRTEs visit selected school periodically and facilitate teachers of pedagogical process. Block / District, State officials of the Administrative department visit

Sl.	Commitments	Action taken
No.	Communents	Action taken
		schools at regular interval. During 2017-18 in
		11 Districts, officials of the State with the
		District officials visited randomly selected
		schools to enforce effective monitoring.
21	The Department is in the process of	There are no untrained teachers in Government
	extending the deadline for training of	and Government Aided schools. Untrained
	untrained teachers as mandated under	teachers are working only in private schools.
	the RTE Act, 2009, this is likely to be	25,456 such teachers have been enrolled in
	cleared by early April. The State will	NIOS (National Institute of Open Schooling)
	ensure that all teachers are trained	and are undergoing the training.
	within the extended period.	
22	The Central RTE Rules are being	The State has included 'Learning outcomes' in
	amended to include reference to class-	its own RTE Rules G.O. M.S. No. 216, School
	wise, subject-wise Learning Outcomes	Education, dated: 25.10.2017. In continuation
	for all Elementary Classes.	of this, all teachers of Government and
	Accordingly, once the related	Government Aided schools of the State were
	guidelines are received by the State,	c ·
	the State would include the Learning	specific and class specific through BRC level
	Outcomes in its own RTE Rules.	training.
23	The State would ensure the	Public Financial Management System
	implementation of Public Finance	(PFMS) has been implemented at State Project
	Monitoring System (PFMS) up to the last destination i.e., school	Office and in a few districts during the year 2017-18 itself. The concerned districts have
	last destination i.e., school	transferred funds upto School level through
2		PFMS by using Print Payment Advice mode.
		Due to technical reasons, some of the
		districts were unable to implement PFMS during
		the financial year 2017-18. Now, the issues have
		been resolved by the SPMU team, Tamil Nadu.
		The State will ensure implementation of Public
		Financial Management System (PFMS) at all
		levels from the financial year 2018-19.
	·	

Sl.				
No.	Commitments	Action taken		
24	The Annual Report would be	Annual Report and Audit report were prepared		
	submitted to the Department for laying	on the scheduled date and submitted. There was		
	in the Parliament while the Audit	a delay in submission of Hindi version. In		
	Report would be laid before the State	future, this report will also be submitted on		
	Assembly.	scheduled date.		
25	States have a good number of Schools	In Tamil Nadu, in addition to the School		
	under the control of various	Education Department, several other		
	Departments other than Department of	departments are also administering schools		
-	Education such as Municipalities,	mainly to provide focused attention to the		
	Panchayat, Tribal Dept., Social welfare	children belonging to the respective segments of		
	etc. To bring these Schools under	the society. However, the School Education		
	unified command it is suggested that a	Department officials are empowered to		
	committee should be formed under the	supervise and monitor those schools to ensure		
	Chairpersonship of Secretary,	teaching learning process and academic		
	Education of the State.	performances suiting to the children based on		
		the curriculum, syllabus and textbooks with		
		reference to beyond textbooks. Unified		
		command is already in existence in Tamil Nadu.		
26	In Secondary Out of approved 1115	The State Government has released additional		
	new schools, the State has completed	funds under non-recurring head for completion		
	the civil work of 478 schools whereas	of pending civil works and hence there would be		
	construction of around 618 schools is	progress in respect of civil works now. Out of		
	in progress. The progress of civil	1115 schools 1083 schools construction were		
	works appears satisfactory compared	completed and 32 schools in under progress		
	to earlier years. However, the	almost 97 % work is completed.		
	construction progress of Computer			
	Room, Library Room, Art/Craft Room			
	is quite slow.			
27	Non implementation of Vocational	The implementation of the scheme has been		
	Education in 67 schools approved in	n formally inaugurated on 29.01.2018 and it will		
	2016-17.	be implemented from 2018-19.		
28	Non-implementation of ICT in 4345	GO (MS) No. 1, School Education		

SI.	Commitments	Action taken
No.	Commitments	Action taken
	schools; Out of 5265 approved schools	(SE2(2))Dept. Date 2.1.2018 has been
	under ICT, the scheme has not been	published and tender is in process.
	implemented in 4345 schools (4340	
	normal schools + 5 Smart schools)	
	approved in 2010-11, 2011-2012.	
29	Slow progress of Shaala Siddhi: self-	All the Head Masters from elementary, middle,
	evaluation of 1898 schools was	secondary, higher secondary have been trained
	complete out of 57,577 schools.	at block level to complete the self-evaluation
		format.
		Self assessment of Shaala siddhi by Individual
		head master of the schools have been completed
		in all Government and Government aided
		schools of Tamil Nadu. As per the guidance of
		NIEPA the external evaluation process will be
		initiated in all 413 blocks of the state (20
		schools per block) from June 2018 onwards.
		Preliminary arrangements have been initiated to
		start external evaluation, in a phased manner.

4. Appraisal issues- 2018-19

Educational Indicators

- Concern was expressed over the considerable decrease in GER and NER at higher secondary level and State was requested to take remedial measures. Regarding decrease in enrolment, State Secretary stated that State has launched a movement for increasing enrolment in government schools and that they will verify the data and share a status note with the Department on reduction in enrolment at elementary and higher secondary level in the academic year 2017-18.
- State was also requested to take immediate action for tackling the issue of zero enrolment schools so as to utilize the resources optimally.

- It was suggested to the State that redeployment of upper primary teachers may be undertaken by the State to maintain the PTR. Also, rationalization of teachers is required in single teacher schools.
- As per the recommendation of the JRM under erstwhile RMSA, activity based/Experiential learning may be promoted in the State to enhance the GER/NER at higher secondary level.
- There is a decrease in enrolment in Govt. and Aided schools (Decrease of 26.79% at primary level, 21.30% at upper primary level, 18.64% at secondary level and 9.08% schools at Hr. secondary level).
- Transition rate from upper primary to secondary is very low in some districts like Thiruvarur (69.83).
- There are 1408 surplus teachers at primary level and 2200 surplus teachers at upper primary level.
- The retention rate at primary level is 99.20%, at elementary level 98.57%, at secondary level 96.18% and at senior secondary level 94.75%.
- The dropout rate is 7.1 % at elementary level, 16.2% at secondary level and 13.1% at senior Secondary level.
- The number of out of school children is 0.4% of total population.
- There are about 4.31% primary, 10.5% upper primary, schools having adverse PTR.
- There are 3608 surplus teachers in the State requires redeployment. The State is taking up exercise of redeployment of excess teachers. This exercise will be completed during 2018-19

Preschool:

Most of the Government schools/ aided schools do not have such preschool arrangements. Discussion with Social Welfare Department is on to integrate Aanganwadis as preschool institution.

National Achievement Survey issues:

- Achievement of students in Class III is below national average in language and Mathematics.
- Achievement of students in Class V is below national average in EVS and Mathematics.

- Achievement of students in Class VIII is below national average in Science, Social Science and Mathematics.
- State must emphasize on improving the learning levels of students in these classes.
- State must provide special attention and prepare a plan of action to improve learning levels in the low performing districts.

Teacher Education Institutions

- As per the scheme 800 (@ 25 per DIET x 32 DIETs) academic posts have to be sanctioned. The State Govt. has sanctioned 756 Academic posts, and 505 posts are filled up, i.e. 37% vacancy.
- As per the scheme, 56 (@ 8 per BITE x 7 BITE) academic posts has to be sanctioned. The State Govt. has sanctioned 56 Academic posts, out of which 36 posts have been filled up, i.e. 23 % vacancy.

5. COMMITMENTS OF THE STATE FOR 2018-19:

- (i) State would document their best practices and initiatives and subsequently upload it on the SSA Shagun portal. This would enable the STATE to showcase its successes and would provide a platform for all STATEs and UTs to learn from each other.
- (ii) State will undertake positive consolidation of its schools, within the provisions of the RTE Act, with a view to strengthen primary education and for optimum utilization of resources.
- (iii) State will map all the stand alone Government and Government aided primary schools, develop and finalize specific action plans for improving learning outcomes in these schools.
- (iv) The State will rationalize teacher deployment so that there is no single teacher school and all schools have PTR as per norms under the RTE Act, 2009. At the upper primary and secondary level, special emphasis should be laid on maintaining the subject PTR.
- (v) State will recruit headmasters in primary and upper primary schools as per the RTE norms. Given the significant role of a headmaster in school management, direct recruitment (including through limited department exam) of 50% of all headmasters may be considered.

- (vi) State should ensure that children with less than grade level learning competencies are identified and provided learning support and in-school reenforcement. Efforts would be made so that that all children reach the desired grade-appropriate competency level.
- (vii) State would assess its grading under the Performance Grading Index (PGI) developed by the Department and carry out the required governance reforms to improve it grading.
- (viii) State would focus on the aspirational districts to achieve significant improvement in the key performance indicators identified for the same.
- (ix) The guidelines for expenditure on school grant, procurement of sports equipment and library books need to be followed. These need to be kept in mind while utilization of these grants.
- (x) The detailed guidelines on Operation Digital Board need to be followed to utilize the funds approved under the ICT initiatives.
- (xi) State will explore the mechanisms for convergence with other departments especially with the Department of Panchayati Raj for maintenance of school infrastructure, school sanitation and provisioning of drinking water facilities in schools.
- (xii) State should undertake the "Partnership Between Schools" Programme which aims to link schools located in rural areas with private, aided or government schools in urban or semi urban areas. This would help in bringing all students to one common platform and to share experiences and learn from each other.
- (xiii) State will display a gallery of the grade-wise photos of teachers on the school notice board in all elementary schools. The photos would be in a size that is visible and identifiable. This would help in honouring the teachers who are the fulcrum of the education system.
- (xiv) State will complete all the pending civil works in 2018-19.
- (xv) State will ensure inspection and evaluation of all primary and upper primary schools.
- (xvi) State would ensure the implementation of Public Finance Monitoring System(PFMS) up to the last destination i.e., school.
- (xvii) The Annual Report would be submitted to the Department for laying in the Parliament.
- (xviii) State would ensure effective implementation of the RTE Act, 2009.

6 EXPECTED OUTCOME:

In the meeting the following specific outcomes have been agreed to:

- (i) State would document their best practices and initiatives and subsequently upload it on the School Education SHAGUN website. This would enable the UT to showcase its successes and would provide a platform for all States and UTs to learn from each other.
- (ii) For the year 2017-18, State has identified 19582 Out of School Children (OoSC) and it has committed that all will be enrolled in schools during 2018-19.
- (iii) Dropout rate will be reduced at elementary level and secondary level especially for girls.
- (iv) The State has committed to complete the construction works of the previously approved civil work that has yet not started.
- (v) The state has committed to complete the 4330 ICT@ School that has not been implemented.
- (vi) The state is committed to start Vocational education in previously approved 67 schools.
- (vii) The State would fill up the vacancies of teachers and headmasters at all levels.
- (viii) The State will share database of all CWSN children on PMS portal of Samagra Shiksha.
- (ix) State would integrate their MIS on students, teachers and schools with the ShalaKosh software developed by the Department.
- (x) The State will ensure that all commitments under RTE Act, 2009 are fulfilled.
- (xi) The State will revise the district plans as per the approved AWP&B and share with the Department by 15th Aug, 2018.
- (xii) NAS results would be thoroughly analyzed and learning gaps identified. Strategic interventions in pedagogic methodologies and teacher training should be devised to improve the learning outcomes.

7. Total Estimated Budget 2018-19:

After detailed discussion, an outlay of Rs. 283769.33 lakh for the year 2018-19 was estimated as under:-

(Rs. in lakh)

Head	Spill-over	Non-recurring	Recurring	Fresh	Total Estimate
		(fresh)	(Fresh)	Outlay	including spill-
					over
1	2	3	4	5= (3+4)	6=(2+5)
Elementary	7495.64	1655.78	190632.34	192288.12	199783.76
Secondary	30006.30	2283.40	45443.58	47726.98	77733.28
Teacher Education	0.00	378.40	5873.89	6252.29	6252.29
Total (including MMER)	37501.94	4317.58	241949.81	246267.39	283769.33

8. Actual release by GOI during 2018-19:

Against the above estimates, Central Government shall provide to the State Government Rs. 1422.51 crore (Elementary: Rs. 999.34 cr., Secondary: Rs.380.16 cr., TE: Rs.43.01 cr.) as its share. The State would contribute Rs.948.34 crore as its State share matching the above Central share as per the existing fund sharing pattern of Samagra Shiksha.

It is likely that additional funds will be received subsequently during the year. A meeting for considering supplementary releases may, therefore, be held in the month of September- October, 2018.

It is recommended that the State should meet the balance amount from its own including the additional funds devolved under the 14th Finance Commission. As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfill the estimate for the implementation of the Act.

The release of funds under the scheme will be further guided by the following conditions:

 State should release/transfer the central share to State implementing Society within 15 days of its receipt in the State treasury.

- (ii) The State share should be released to the State Implementing Society within one month of the release of the central share.
- (iii) All releases by the Centre would be subject to fulfillment of provisions of GFR by the State.
- (iv) The 1st Installment would be released based on provisional utilization certificate for 2017-18 and subject to full release of proportionate State share.
- (v) The second installment would be released only after (a) the proportionate installment of State/UT share has been released; (b) at least 50% expenditure against available funds has been incurred; (c) utilization certificate has been submitted for funds released in the year 2017-18; (d) Audit report has been submitted for the year 2017-18 and (e) Annual Report upto the year 2016-17 has been submitted.

9. ACTIVITY-WISE DETAILS

I. ACCESS AND RETENTION

- (i) Higher Secondary School Science Stream (XI XII): 5 schools were approved @Rs.157.15 lakh for upgradation with an estimate of Rs.785.75 lakh. The list of schools is at Annexure-III.
- (ii) Strengthening/ Major repair: Under strengthening component, 228 boys' toilets and 273 girls' toilets for elementary schools were approved with a total estimate of Rs. 1229.70 lakh. And major repair work for 361 classrooms of 195 Government elementary Schools with a total estimate of Rs. 424.58 lakh was approved. The List of Schools is at Annexure-IV
- (iii) 24 Science Lab with equipment, 26 Art and Craft room, 1 Library, 54 boys and 77 girls toilets were approved for govt. secondary schools with a total estimate of Rs. 1351.40 lakh.
- (iv) Under Senior Secondary schools, 5 Science Labs (2 Physics and 3 Biology Labs) with equipments were approved with a total estimate of Rs. 90.25 lakh.
- (v) Solar Panel for schools: 16 on grid roof top solar PV system @Rs.3.5 lakh per school with a total estimate of Rs.56.00 lakh was approved. The list is enclosed at Annexure-V.

- (vi) Residential schools/ Hostels: 03 residential schools with the capacity of 50 students and 09 residential hostels with the capacity of 100 students were approved with a total estimate of Rs.374.80 lakh.
- (vii) **Transport/Escort facility:** Transport/Escort facility was estimated for 17541 children with an estimate of Rs. 933.18 lakh.

II. RTE ENTITLEMENTS

- (i) **Free Uniforms:** Free uniforms for 3035799 children at elementary level were approved with a total estimate of Rs 9107.40 lakh.
- (ii) **Free Textbooks:** Free textbooks for 4478500 children at elementary level were approved with a total estimate of Rs. 14194.94 lakh.
- (iii) Reimbursement of Fee against 25% admission under Section 12(1) (c) of RTE Act 2009 (Entry Level): Reimbursement to Private Unaided Schools for 2015-16 was approved with a total estimate of Rs.2769.99 lakh.
- (iv) Special Training for age appropriate admission of out-of-school children (OoSC) at Elementary Level: State has identified 19582 out of school children in the age group of 6-14 years. Non- residential and residential special trainings including the interventions for migrant children have been approved with a total estimate of Rs. 1691.60 lakh.
- (v) Media and Community Mobilization:- An outlay of Rs. 469.39 lakh was estimated for 31293 elementary schools @ Rs. 0.015 lakh and Rs. 90.97 lakh has been estimated for 6065 secondary schools.
- (vi) Training of SMC/SDMC members in 15646 elementary school and 3032 secondary schools has been estimated with a total outlay of Rs.560.34 lakh @RS. 0.03 lakh.

III. QUALITY INTERVENTIONS

(i) Fund for Quality Improvement: An outlay of Rs. 3197.19 lakh was estimated for different Quality related interventions including Learning Enhancement Programmes (LEP) at elementary and secondary levels, talent search, remedial teaching, emotional well-being for govt. school, aptitude tests at secondary level, SCOPE project and Mapping skills including shala shidhi and Kala Utsav programme.

- (ii) Yoga Olympiad with a total estimate of Rs.16.00 lakh was approved.
- (iii) Band competition with a total estimate of Rs. 1.00 lakh, Toss program with a total estimate of Rs.47.76 lakh, sports school program for one school @Rs.
 96.00 lakh and Model school with a total outlay of Rs.320.00 lakh has been estimated under quality innovative activities.
- (iv) An outlay of Rs. 320.00 lakh has was estimated under POST NAS activities.
- (v) An outlay of Rs.13524.75 lakh for composite school grant as per school was estimated as per enrollment including 10% for swachata program fund. This is to be implemented as per the scheme guidelines.
- (vi) Libraries: An annual library grant was estimated with the total outlay of Rs 623.03 lakh for elementary, secondary and senior secondary schools. The utilization of the funds for books and libraries needs to be in accordance with the detailed guidelines being issued by MHRD. The following points needs to be kept in mind:
- Age appropriate books published by NCERT, NBT, State Government Publications, SCERT may be procured.
- States/UTs may try to set up Readers' Club in schools in a phased manner with the help of National Centre for Children's Literature (NCCL), a wing of National Book Trust.
- During the first year, no magazines and newspapers can be procured from the funds meant for library books.
- States/UTs may constitute a committee to select age appropriate books from NCERT and NBT and to make guidelines for use of libraries including number of periods in the govt. schools.
- The schools may make provision of Reading Room/Reading Corner/Reading space and two periods in a week may be dedicated as reading periods in school time table.
- One teacher may be given the additional responsibility of custody of library books, issuing and receiving back of books who in turn may be relaxed from teaching for two periods in a week.
- (vii) An outlay of Rs 377.04 lakh was estimated under Rashtriya Avishkar Abhiyan (RAA) for various activities like: Science Exhibition / Book Fair, math kit, science kit, quiz competition, teacher exchange programme for empowerment and Exposure Visits within and outside State.

- (viii) Under Shala Kosh, special project for provision of tablet /IT device for school management including biometric attendance was approved for 30000 schools
 @ Rs. 0.1 lakh per school with a total estimate of Rs. 3000.00 lakh. The utilization of these funds needs to be in accordance of the detailed Guidelines issued under Operation Digital Board. The following need to be kept in mind, specifically, during procurement:
 - a) Inventory of each item will be maintained and the concerned school Principal will be in-charge of ensuring that all hardware and software has been marked as inventory items. The record of ICT inventory, school wise, has to be maintained online and made available to MHRD as and when required.
 - b) States and UTs have to ensure that Annual Maintenance Contract (AMC) for each hardware item procured under ICT scheme has been entered into.
 - c) In order to ensure that computers installed in the schools are being used, software which indicates when the computers are turned on or off, linked to the State server, must be put in place.
 - d) As per IT Act 2000 it has to be ensured that effective firewalls and appropriate control filters and monitoring software mechanism are installed in all computers in schools. Please consult local NIC for installing a government approved, free firewall.
- (ix) An outlay of Rs. 205.00 lakh was estimated for training of Anganwadi worker and development of training modules cum teaching material for students for supporting pre-school education in 5000 schools @ Rs.0.041 lakh per school.
- (x) Support for sports and physical education for 7432 primary and 5279 upper primary schools with a total estimate of Rs. 719.6 lakh was approved. The utilization of the funds for sports and physical education needs to be in accordance with the detailed guidelines being issued by MHRD. The following points needs to be kept in mind:
 - Age appropriate sports equipments for government schools may be procured as per the guidelines to be issued by this Department to the States/UTs. The States/UTs may if they so desire, procure items from beyond this list subject to its actual requirement being certified by the head of school.

• Age appropriate sports activities may be organised in the government schools of States/UTs as per the guidelines to be issued by this Department. Schools may include traditional/regional games of the respective State/Region.

1

• For maintaining workable stock position of sports equipments, periodic record may be maintained including workable equipment, repairable equipment, write-off equipment and new items to be purchased to maintain the required stock position.

• One responsible person/PET/Teacher incharge may be given the responsibility to take care of the equipments and maintaining the stock position of sports equipments in the school.

- (xi) An outlay of Rs 42221.50 lakh was estimated for Academic support through BRC/URC/CRC.
- (xii) An outlay of Rs 3514.25 lakh was estimated for in-service teacher training for class I to XII teachers.
- (xiii) An Outlay of Rs. 351.48 was estimated for Training of resource persons and master trainers.
- (xiv) School leadership training of head teachers/ principal/ RPs was estimated with a total outlay of Rs.312.0 lakh.

IV. STRENGTHENING OF TEACHER EDUCATION:

- (i) An outlay of Rs. 173.60 lakh was estimated for renovation and repair work for 8 DIETs
- (ii) Training of educational Administrators was approved with a total estimate of Rs. 34.18 lakh.
- (iii) An outlay of Rs 150.00 lakh was estimated for capacity building and training of teachers, teacher educators and state officials for use of DIKSHA, Creation and Curation of Digital Teaching Learning Material for uploading on DIKSHA, Content Creation for Energized Textbooks and Creation of online/digital modules for Professional development of teachers.
- (iv) An outlay of Rs 3995.71 lakh was estimated for Salaries of Teacher Educators.
- (v) An outlay of Rs 960.00 lakh was estimated for Program & Activities including Faculty Development.
- (vi) An outlay of Rs 204.80 lakh was estimated for hard ware and software support for 32 DIETS under Technology Support to TEIs. And recurring cost of the 40 DIETS with a total outlay of Rs. 24.00 lakh was estimated.

- (vii) An outlay of Rs 710.00 lakh was estimated for Annual Grant of SCERT (Rs 35 lakh) and DIETs (Rs 640 lakh) and BIETs (Rs. 35 Lakh).
- (viii) Teachers Salary: An outlay of Rs. 111921.96 lakh was estimated under teacher salary component, as per the norms of the scheme. Any additionality as per Terms & Conditions for recruitment of teachers in the State is to be borne by the State.
- V. GENDER AND EQUITY:
- (i) Katurba Gandhi Balika Vidhayalaya: Under KGBV Type -1 an outlay of Rs. 1.50 lakh was estimated for replacement of bedding in 2 KGBV.

Name of the District	Name of the Educationally Backward Block	Location of KGBV school	Last Replacement provided year
Erode	T.N.Palayam	Nanajai Puliampatti	2015-16
Villupuram	Kallakurichi	Pachery	2015-16

Recurring grant for KGBV TYPE -1 and TYPE -4 was estimated with a total estimate of Rs. 3880.11 lakh.

- (ii) Equity Project:- An outlay of Rs. 307.86 lakh was estimated for four special project under Equity.
 - An outlay of Rs. 513.99 lakh was estimated for Self defence training for Girls in 5711 govt. Secondary and Higher Secondary schools @Rs. 0.09 for three months.
 - An outlay of Rs. 633.87 lakh was estimated for 7043 (6 to 8) Elementary schools with girl enrollment @0.09 lakh per school for 3 months.

VI. INCLUSIVE EDUCATION

An outlay of Rs 7430.48 lakh was estimated for various activities for CWSN at elementary, secondary and senior secondary level. The State was asked to share database of all CWSN children on PMS portal of Samagra Shiksha.

VII. VOCATIONAL EDUCATION:

A total outlay of Rs. 355.10 lakh has been estimated under VE. The UT needs to ensure that the admissions under Vocational Education are taken only in the National Skills Qualifications Framework (NSQF) compliant courses/job roles. Funding would not be available for the non-compliant courses. The implementation timelines under vocational education may be strictly adhered to. The Assessment and certification of students may be completed in time. Delay and pendency in assessment and certification (if any) may be reported to MHRD.

VIII. MIS: An outlay of Rs. 246.63 lakh was estimated for MIS and activities under ShalaKosh.

IX. PROGRAMME MANAGEMENT: An outlay of Rs. **11727.01** lakh (5% against total outlay) was estimated for Programme Management.

X. There is a spillover of Rs. 37501.94 lakh on account of civil interventions estimated under elementary, Secondary and Teacher education programme in previous years. The State was asked to complete these works in 2018.19. The details of spillover are at Annexure-II (a).

- The detailed costing sheet indicating the component-wise proposal and approval for the State of Tamil Nadu is attached at Annexure – II.
- 11. The meeting ended with a vote of thanks to and from the Chair.

Annexure – I:	List of participants
Annexure II:	Activity-wise costing sheet
Annexure – II(a):	Details of spill-over
Annexure – III:	List of Schools approved for upgradation
Annexure-IV:	List of Major repairs and approved boys' and girls' toilets
Annexure-V:	Solar panel for Schools

ANNEXURE-I

LIST OF PARTICIPANTS

17.05.2018

- 1. Sh. Maneesh Garg, Joint Secretary, D/o SE&L, MHRD
- 2. Sh. Pradeep Yadav, Principal Secretary, School Education Dept., Tamil Nadu
- 3. Sh. Mohandasan P, Director, D/o SE&L, MHRD
- 4. Shri Alok Jawahar, Under Secretary, D/o SE&L, MHRD
- 5. Sh. Manoj Kumar Shukla, AFA, MHRD
- 6. Dr. G. Arivoli, Director, SCERT, Tamil Nadu
- 7. Dr. V.C. Rameswara Murugan, Project Director, RMSA, Tamil Nadu
- 8. Dr. S. Nagaraja Murugan, Joint Director, RMSA, Tamil Nadu
- 9. Sh. V. Balamurugan, Joint Director, SSA, Tamil Nadu
- 10. Sh. K. Selvakumar, Joint Director, SSA, Tamil Nadu
- 11. Sh. P. Ponnaiah, Joint Director, SSA, Tamil Nadu
- 12. Dr. K.S. Mani, Deputy Director, SCERT, Tamil Nadu
- 13. Sh. J. Inbaraj, Vice Principal, DIET, Tamil Nadu
- 14. Dr. S. Maniver, Reader, SCERT, Tamil Nadu
- 15. Sh. N. Sath, Reader, SCERT, Tamil Nadu
- 16. Sh. S. Meena, F.C., SSA, Tamil Nadu
- 17. Sh. K.T. Sekar, SSA, Tamil Nadu
- 18. Sh. A. Thalavai Muthu, ISSE, Tamil Nadu
- 19. Dr. M. Ayyaraju, RMSA, Tamil Nadu
- 20. Sh. G. Gouthaman, TSG, RMSA, Tamil Nadu
- 21. Sh. S. Thangaraj, PGT, TSG RMSA, Tamil Nadu
- 22. Sh. R. Muruganantham, State TSG, RMSA, Tamil Nadu
- 23. Sh. H. Mohammad Aslam, State Coordinator (Quality), SSA, Tamil Nadu
- 24. Sh. V. Rajagopal, State Coordinator, TSG, RMSA, Tamil Nadu
- 25. Sh. M. Raguraman, State ECCE Coordinator, SSA, Tamil Nadu
- 26. Sh. R. Ram Kumar, State Programmer, SSA, Tamil Nadu
- 27. Sh. K. Palanicherry, Chief Accounts Officer, RMSA, Tamil Nadu
- 28. Dr. V. Ranganathan, Secondary, RMSA, Tamil Nadu

- 29. Sh. S. Sundaraman, Sr. Consultant, SSA, SPO, Tamil Nadu
- 30. Sh. S. Keerthivasan, Accounts Officer, Tamil Nadu
- 31. Sh. K. Girija Shankar, Sr. Consultant, Ed.CIL
- 32. Dr. R.N. Lenka, Sr. Consultant, TSG, Ed.CIL
- 33. Ms. Kiran Dogra, Sr. Consultant, TSG, Ed.CIL
- 34. Sh. Nisheeth Verma, Chief Consultant, TSG, Ed.CIL
- 35. Sh. K. Rai, Consultant, TSG, Ed.CIL
- 36. Ms. Tara Naorem, Chief Consultant, TSG, Ed.CIL
- 37. Ms. Kajni Nigam, TSG, Ed.Cil
- 38. Sh. Rajiv Mehra, TSG, Ed.Cil
- 39. Ms. Sushma Shantu, TSG, Ed.Cil
- 40. Sh. Adil Rasheed, TSG, Ed.CIL
- 41. Ms. Arti Panchal, TSG, Ed.CIL
- 42. Ms. Alka Mishra, Chief Consultant, TSG, Ed.CIL
- 43. Ms. Purabi Pattnayak, TSG, Ed.CIL
- 44. Ms. Sohila K. Bakshi, TSG, Ed.CIL
- 45. Smt. Seema Shukla Ojha, Associate Prof. DESS, NCERT
- 46. Mr. Anthony Joseph, Senior Consultant, NCSL-NIEPA
- 47. Dr. Vijay Kumar. R, Deputy Secretary, NCTE

Annexure –II

	Costing sheet Proposal Final Approved Outlay(Rs in lakh)											
					Proposa	1		rinai Approved Outlay(KS in takn)				
Sub Compone nt	-		Activity Master	Physic al	Unit Cost	Financia 1	Physical	Unit Cost	Financial	Remarks		
Opening of New / Upgraded Schools	5		Opening of New / Upgraded Schools - Non Recurring (Hr. Secondary)									
		5.a	Higher Secondary School - Science Stream (XI - XII)	25	300	7500	5	157.15	785.75	Recommended 5 schools. Remaining 20 schools were not eligible as per distance norm (13), Enrollment norm (2), both norm (5).		
			Total of Opening of New / Upgraded Schools - Non Recurring (Hr. Secondary)			7500			785.75			
			pening of New d Schools			7500			785.75			
Residentia I School / Hostels	10		Residential Schools - Recurring (Capacity 50)									
		10.a	Maintenance per child per month	2	9.6	19.2	100	0.192	19.2	Recommended for food cost of 02 residential school @Rs. 1600/- per month per student with the capacity of 50 students per school		
		10.b	Stipend per child per month	2	1.2	2.4	100	0.012	1.2	Recommended for two residential school with the capacity of 50 students (per school @ Rs.100/- per girl child per month)		
		10.c	Supplementary TLM, Stationery and other educational material	2	0.5	1	100	0.01	1	Recommended Rs.1000/-per student per annum		

Ţ

• • •

10. d	1 Warden	2	3.24	6.48	2	3	6	Recommended for 02 wardens @ Rs.25000/- per month of 02 schools for capacity of 50 students each.
10.е	4 Fulltime teachers as per RTE Norms	2	10.56	21.12	4	2.64	10.56	Recommended for 04 teachers @ Rs.22000/- per month for 02 residential schools each
1 0. g	3 Part time teachers	2	3.06	6.12	3	0.66	1.98	Recommended for 03 part time teachers @ Rs. 5500/- each for 02 schools
10.h	1 Full Time Accountant	2	1.8	3.6	2	1.32	2.64	Recommended 02 accountants @ Rs. 11000/- per month for 02 residential schools
10. i	2 Support staff - (Accountant/A ssistant, Pcon, Chowkidar)	2	2.22	4.44	2	0.6	1.2	Recommended for 02 support staff @ Rs. 5000/- cach for 02 schools
10.j	1 Head Cook	2	1.44	2.88	2	0.72	1.44	Recommended 02 head cooks @ Rs. 6000/- per month for 02 schools
10.k	2 Assistant Cook	2	1.2	2.4	2	0.66	1.32	Recommended 02 assistant cooks for 02 schools (@ Rs.5500/-per month)
10. m	Electricity / water charges	2	0.5	1	100	0.01	1	Recommended @ Rs. 1000/- per student per annum for 02 schools
10. n	Medical care/contingen cies	2	0.75	1.5	100	0.0125	1.25	Recommended for 100 girls @ Rs. 1250/- per girl per annum.
10.0	Maintenance	2	0.5]	100	0.0075	0.75	Recommended maintenance for bldg. repair and other items @ Rs.750/- per student per annum
10 .p	Miscellaneous	2	2.1	4.2	100	0.0075	0.75	recommended for 100 students @ Rs.750/- per annum for 2 schools.
10. q	Preparatory camps	2	0.19	0.38	2	0.07	0.14	recommended @ rs.7000/-
10.r	P.T.A / school functions	2	0.19	0.38	100	0.003	0.3	Recommended for 100 girls @ Rs.300/- per girls

									per annum
	10.t	Capacity Building	2	0.25	0.5	2	0.07	0.14	Recommended @ Rs.7000/-
	10.u	Physical / Self Defence Training	2	0.2	0.4	2	0.1	0.2	recommended @ rs.10000/-
		Total of Residential Schools - Recurring (Capacity 50)			79			51.07	
12		Residential Schools - Recurring (Capacity 100)							
	12.a	Maintenance per child per month	9	19.2	172.8	900	0.192	172.8	recommended for 9 schools with 100 capacity @ Rs.1600/-pcr student per month
	12. b	Stipend per child per month	9	2.4	21.6	900	0.012	10.8	recommended for 9 schools with 100 capacity @ Rs.100/- per child per month.
	12.c	Supplementary TLM, Stationery and other educational material	9	1	9	900	0.01	9	Recommended as proposed
	12.e	1 Head Teacher in case the enrollment exceeds 100	9	3.24	29.16	9	3	27	recommended @ Rs.25000/-pm
	12.f	4 - 5 Fulltime teachers as per RTE Norms	9	13.2	118.8	4	2.64	10.56	Recommended 4 teachers @ Rs.22000/- pcr month
	1 2 .h	3 Part time teachers	9	3.06	27.54	3	0.66	1.98	Recommended 3 part time teachers @ Rs. 5500/- per month
	12.i	1 Full time Accountant	9	1.8	16.2	9	1.32	11.88	Recommended for 09 schools @ Rs.11000/- per month
	12. j	2 Support staff - (Accountant/A ssistant, Peon, Chowkidar)	9	2.22	19.98	2	0.6	1.2	Recommended @ Rs.5000/- per month
	12.k	1 Head Cook	9	1.44	12.96	9	0.72	6.48	Recommended Head cook @ Rs.6000/- for 09 schools

•

	12.1	2 Assistant Cook	9	2.4	21.6	18	0.66	11.88	Recommended 01 assistant cook per school @ Rs.5500/- per month
	12.n	Electricity / water charges	9	1	9	9	1	9	Recommended Rs. 1000/- per annum per student(900)
	1 2. 0	Medical care/contingen cies	9	1.5	13.5	900	0.0125	11.25	Recommended @ Rs.1250/- per annum for 900 students.
	12. p	Maintenance	9	1	9	900	0.0075	6.75	Recommended @ Rs750/- per stundent per annum for 900 students.
	12. q	Miscellaneous	9	4.2	37.8	900	0.0075	6.75	Recommended Rs.750/- per annum 900 students.
	12. r	Preparatory camps	9	0.2	1.8	9	0.07	0.63	Recommended @ Rs. 7000/- per school
	12. s	P.T.A / school functions	9	0.24	2.16	900	0.003	2.7	Recommended @ Rs. 300/- per student
	12.t	Provision of Rent	4	7.2	28.8	4	1.2	4.8	Recommended @Rs.10000/- per month for 04 schools
	12. u	Capacity Building	9	0.5	4.5	9	0.07	0.63	Recommended @ Rs.7000/-
	12.v	Physical / Self Defence Training	9	0.4	3.6	9	0.1	0.9	Recommended @ Rs.10000/-
		l of Residential Sc acity 100)	hools - R	ecurring	559.8			306.99	
17		Residential Hostels - Recurring (Secondary)							
	17.a	Stipend per child per month	0	0	0.00001	50	0.012	0.6	Recommended 100 rs. per girl per month as approved during PAB.
	17.b	Supplementary TLM, Stationery and other educational Materials	0	0	0.00001	50	0.01	0.5	@ Rs. 1000/- per girl per annum
	17.c	1 Warden	0	0	0.00001	1	3	3	@ Rs. 25,000/- per month
	17.d	4 Full-time Teachers	0	0	0.00001	4	2.4	9.6	Rs.20,000/- per month per teacher

	Τ	17.e	1 Head Cook	0	0	0.00001	1	0.72	0.72	@ Rs.6000/- per
		17.f	2 Assistant	0	0	0.00001	2	0.6	1.2	month Rs.5000/- per
			Cook							month per cook
		17.g	Electricity / Water Charges	0	0	0.00001	50	0.01	0.5	Rs. 1000/- per annum
		17.h	Medical Care / Contingencies	0	0	0.00001	50	0.0125	0.625	Rs.1250/- per girl per annum
			Total of Residential Hostels - Recurring (Secondary)			0			16.74	
		tal of R 100l / H	kesidential			638.8			374.8	
Strengthe	23		Strengthening						<u> </u>	
ning of Existing Schools			of Schools (up to Highest Class VIII)							
		23 .d	Boys Toilets	864	2.4	2073.6	228	2.4	547.2	228 toilets are eligible, due to paucity of fund unable to recommend
		23.e	Girls Toilets (Upto Class VIII)	911	2.5	2277.5	273	2.5	682.5	273 toilets are eligible, due to paucity of fund unable to recommend
		23.k	Major Repair (Upto Class VIII)	344	2.156	741.664	361	1.17612	424.579	Recommended for 361 classrooms of 195 schools.
			Total of Strengthening of Schools (up to Highest Class VIII)			5092.76			1654.28	
	24		Strengthening of Existing Schools (IX - X)							
		24 .b	Science Lab	33	18.81	620.73	24	17.05	409.2	Eligible 24 Science Lab,
		24. c	Lab Equipment (Sci Lab)	33	1	33	24	1.00	24	Eligible 24 lab equipment,
		24.d	Art/Craft Room	35	17.16	600.6	26	14.85	386.1	Eligible 26 Art culture,
		24.e	Library Room	4	24.03	96.12	1	22	22	Eligible 1 Library.
		24 .g	Boys Toilet	82	4.5	369	54	3.6	194.4	Eligible 54 Boys Toilet,
		24.h	Girls Toilet	83	4.5	373.5	77	4.1	315.7	Eligible 77 Girls Toilet,

			Total of Strengthening of Existing Schools (IX - X)			2092.95			1351.4	
	29		Electrification in Schools (Secondary and Sr. Secondary)							
		29 .a	Solar Panel For School	96	5	480	16	3.5	56	Recommended On grid roof top Solar PV system for 16 Schools @ RS 3.5 lac per school per 5kW with an outlay of RS 56.0 lakh.
			Total of Electrification in Schools (Secondary and Sr. Secondary)			480			56	
	31		Strengthening of Existing Schools (XI - XII)							
		31.c	Lab Equipment (Sci Lab)	17	4	68	5	1	5	
		31.g	Physics Lab	17	35.5	603.5	2	17.05	34.1	
		31. i	Biology Lab	17	35.5	603.5	3	17.05	51.15	
			Total of Strengthening of Existing Schools (XI - XII)			1275			90.25	
	Tot Exi	tal of S isting S	trengthening of Schools			8940.71			3151.93	
Transport & Escort Facilities	33		Transport / Escort Facility (Elementary)							
		33.a	Urban deprived children/childr en without adult protection	2843	0.0532	151.248	2843	0.0532	151.2476	Recommended as proposed
		33 .b	Children in remote habitation	14698	0.0532	781.934	14698	0.0532	781.9336	Recommended as proposed
			Total of Transport / Escort Facility (Elementary)			933.18			933.18	

		tal of T cort Fa	ransport & cilities			933.18			933.18	
Total for A	ccess	& Ref	tention			18012.70		·	5245.67	
Free	35	Γ	Uniform							
Uniforms		35.a	All Girls	154823 1	0.006	9289.386	1548060	0.003	4644.18	Recommended as appraised
		35. b	ST Boys	48581	0.006	291.486	48580	0.003	145.74	Recommended as appraised
		35.c	SC Boys	498190	0.006	2989.14	498181	0.003	1494.543	Recommended as appraised
		35.d	BPL Boys	940978	0.006	5645.868	940978	0.003	2822.934	Recommended as appraised
			Total of Uniform			18215.88			9107.4	-
	To	tal of F	ree Uniforms			18215.88	•		9107.4	• · · · · · · · · · · · · · · · · · · ·
Free Textbooks	36		Free Text Books						-	
		36 .a	Text Books (Class I - II)	912099	0.0025	2280.248	911803	0.0025	2279.507 5	Recommended as appraised
		36. b	Braille Books (Class I – 11)	116	0.0025	0.29	116	0.0025	0.29	Recommended as proposed
		36. c	Large Print Books (Class I – II)	180	0.0025	0.45	180	0.0025	0.45	Recommended as proposed
		36. d	Text Books (Class III - V)	156727 5	0.0025	3918.188	1565377	0.0025	3913.442 5	Recommended as appraised
		36 .c	Braille Books (Class III - V)	435	0.0025	1.088	435	0.0025	1.0875	Recommended as proposed
		36. f	Large Print Books (Class III - V)	1463	0.0025	3.658	1463	0.0025	3.6575	Recommended as proposed
		36 .g	Text Books (Class VI - VIII)	199928 6	0.004	7997.144	1997078	0.004	7988.312	Recommended as appraised
		36. h	Braille Books (Class VI – VIII)	464	0.004	1.856	464	0.004	1.856	Recommended as proposed
		36.i	Large Print Books (Class VI - VIII)	1584	0.004	6.336	1584	0.004	6.336	Recommended as proposed
			Total of Free Text Books			14209.26			14194.94	
	To	tal of F	ree Textbooks			14209.26			14194.94	
Reimburs ement	37		Reimburseme nt of F ee							
towards expenditu re incurred for 25% of Admision under 12		37.a	Reimbursemen t of Fee against 25% admission under Section 12(1)(c) of	136968	0.07228	9900.047	43376	0.06386	2769.991 4	Recommended as per actual reimbursement to Private Unaided Schools for 2015 16
(1)(c) RTE			RTE Act 2009 (Entry Level)							

. .

Act			Total of Reimburseme nt of Fee			9900.05			2769.99	
	Total of Reimbursement towards expenditure incurred for 25% of Admision under 12 (1)(c) RTE Act					9900.05			2769.99	
Special Training of Out of School Children	38		Special Training for OoSC - Non- Residential (Fresh)							
(OoSC)		38. b	6 Months (Non- Residential - Fresh)	398	0.03	11.94	398	0.03	11.94	Recommended as proposed
		38. d	12 Month (Non- Residential - Fresh)	6856	0.06	411.36	6856	0.06	411.36	Recommended as proposed
			Total of Special Training for OoSC - Non- Residential (Fresh)			423.3			423.3	
	39		Special Training for OoSC - Residential (Fresh)							
		39. d	12 Month (Residential - Fresh)	1833	0.3	549.9	1833	0.2	366.6	Recommended as per Norms
			Total of Special Training for OoSC - Residential (Fresh)			549.9			366.6	
	40		Special Training for OoSC - Non- Residential (Previous year)							
		40. d	12 Month (Non- Residential - Prev Year)	8745	0.06	524.7	8745	0.06	524.7	Recommended as proposed
			Total of Special Training for OoSC - Non- Residential (Previous year)			524.7			524.7	

	41		Special Training for OoSC - Residential (Previous							
		41.d	year) 12 Month (Residential - Prev. Year)	1750	0.3	525	1750	0.2	350	Recommended as per Norms
			Total of Special Training for OoSC - Residential (Previous year)			525			350	
	42		Intervention for Migrant Children/ Seasonal Hostel (Non- Residential)						-	
		42. b	6 Months (Non- Residential - Migrant)	1350	0.02	27	1350	0.02	27	Recommended as proposed
			Total of Intervention for Migrant Children/ Seasonal Hostel (Non- Residential)			27			27	
-	of	Dut of	peciał Training School (OoSC)			2049.9			1691.6	
Media & Communit y Mobilizati	47		Media & Community Mobilization (Elementary)							
on		47. b	Media & Community Mobilization	31293	0.015	469.395	31293	0.015	469.395	Schools are taken from UDISE 2017- 18, each Govt. School is entitled Rs.1500 for Media & Community Mobilisation activities
		47.c	Training of SMC/ SDMC	31293	0.03	938.79	15646	0.03	469.38	Schools are taken from UDISE 2017- 18, each Govt. School is entitled Rs.3000 for Training of SMC/SDMC
			Total of Media & Community Mobilization (Elementary)			1408.18			938.78	

	48	48. a	Media & Community Mobilization (Secondary) Media & Community Mobilization	6066	0.015	90.99	6065	0.015	90.975	Schools are taken from UDISE 2017- 18, each Govt. School is entitled
										Rs.1500 for Media & Community Mobilisation activities
		48. b	SMDC Training	6066	0.03	181.98	3032	0.03	90.96	Schools are taken from UDISE 2017- 18, each Govt. School is entitled Rs.3000 for Training of SMC/SDMC
			Total of Media & Community Mobilization (Secondary)			272.97			181.94	
	1		ledia & ty Mobilization			1681.16			1120.71	
Total for R						46056.24			28884.64	
Funds for Quality (LEP,	50		Quality Components (Secondary)							
Innovatio n, Guidance etc)		50.c	Talent Search at school level	13400	0.02	268	134	0.5	67	Recommended as appraised for 134 Centres in 67 Educational Districts.
		50.e	Emotional Well-being for Government Schools	6064	0.12	727.68	6064	0.05	303.2	May be linked with Guidance & counselling
		50. f	Aptitude Test at School Level	449195	0.001	449.195	67	0.5	33.5	Recommended for 67 Educational Districts.
		50 .0	SCOPE (Specific Concept Oriented Programme)	640	0.22694	145.242	640	0.2	128	Recommended for 640 Schools in 32 Revenue Districts (20 Schools per District).
		50. p		6064	0.03244	196.716	1000	0.00978	9.78	Recommended for 1000 Secondary schools for developing Mapping Skills in geography.
			Total of Quality Components (Secondary)			1786.83			541.48	gcography.

52		Project - Innovative Activities (Secondary & Sr. Secondary)							
	52. f	Yoga Olympiad	6064	0.05806	352.076	32	0.5	16	Recommended fo Yoga Olympiad in schools.
	52 .g	Competition	32	2	64	1	1	1	Recommended as appraised
	52.h	TOSS (Tamil Nadu Olympiad Scheme for Scholars)	1	200.85	200.85	1	47.76	47.76	Recommended a appraised
	52. i	Sports Schools	68	5	340	32	3	96	Recommended in one school per district pilot basis
	52 .j	Model School	32	50	1600	32	10	320	Recommended.
		Total of Project - Innovative Activities (Secondary & Sr. Secondary)			2556.93			480.76	
53		Project Innovation (Elementary)							
	53.z	School Standards and Evaluation	8260	0.05	413	16520	0.005	82.6	Recommended as appraised for Shaala siddhi.
		Total of Project Innovation (Elementary)			413			82.6	
54		Project Kala Utsav (Secondary)					<u> </u>		
	54.a	TA / DA Allowance for National Level	60	0.045	2.7	50	0.02	1	Recommended as appraised
	54. b	Kala Utsav	1	49.78	49.78	1	10	10	Recommended for District & State level event.
		Total of Project Kala Utsav (Secondary)			52.48			11	
61		LEP (Class I - II)							
	61 .b	English Language / Literature Kit (NCERT)	31325	0.03	939.75	22400	0.03	672	Recommended as appraised for Gov schools.
	61.c	Rhymes DVD	31325	0.003	93.975	4088	0.001	4.088	Recommended fo 4088 CRCs.

·.

		61. d	Remedial Teaching	163073	0.001	163.073	65230	0.001	65.23	Recommended for 20% of the class enrolment.
			Total of LEP (Class I - II)			1196.8			741.32	
	62		LEP (Class III - V)							
		62. a	English Language Kit	31325	0.03	939.75	22400	0.03	672	Recommended for Government schools.
		62. b	Mapping Skill Workbook	110542 3	0.0004	442.1692	1105423	0.0004	442.1692	Recommended as proposed
		62 .d	Remedial Teaching	552712	0.001	552.712	221084	0.001	221.084	Recommended for developing, printing & distribution of material.
			Total of LEP (Class III - V)			1934.63			1335.25	
	63		LEP (Class VI - VIII)							
		63 .ak	Science Kit Manual	7283	0.0003	2.1849	7283	0.0003	2.1849	Recommended as proposed
		63. al	Maths Kit Manual	8603	0.0003	2.5809	8603	0.0003	2.5809	Recommended as proposed
		63. am	Remedial Teaching	640406	0.001	640.406	256162	0.001	256.162	Recommended for 20% of the class enrolment.
		-	Total of LEP (Class VI - VIII)			645.17			260.93	
	64		LEP (Class IX - XII)							
		64. k	Learning Enhancement (Remedial teaching)	44922	0.005	224.61	44922	0.005	224.61	Recommended as proposed for Language.
			Total of LEP (Class IX - XII)			224.61			224.61	
	Qu	ality (I 10vatio	unds for			8810.45			3677.95	
Assessmen t at National	6 6		Assessment at State level (Elementary)							
& State level		66. a	Assessment at State level	32	15	480	32	7	224	Recommended fo State Level Achievement Survey (SLAS) fo classes 4 and 7 in all 32 districts.The state will also conduct the POST NAS activities and

										activities of next NAS.
			Total of Assessment at State level (Elementary)			480			224	
	6 7		Assessment at State level							
		67. a	(Secondary) Assessment at State Level	32	5	160	32	3	96	Recommended for State Level Achievement Survey (SLAS) for class 9 in all 32 districts. The state will also conduct the POST NAS activities and the preparatory activities for next NAS.
			Total of Assessment at State level (Secondary)			160			96	
			ssessment at & State level			640			320	
Training for In- service	6 8		In-Service Training (I - VIII)							
Teacher, Head Teachers and Teacher Educators		68. a	Class I & II	45548	0.024	1093.152	22774	0.024	546.576	Recommended for 22774 teachers @ Rs. 300 per day for 8 days. *The bifurcation of 8 days Elementary Level In-service teacher training has 5 days at BRCs level and 3 days at CRC level follow up meeting
		68. b	Class III to V	68322	0.024	1639.728	34161	0.024	819.864	Recommended for 34161 teachers @ Rs. 300 per day for 8 days. *The bifurcation of 8 days Elementary Level In-service teacher training has 5 days at BRCs level and 3 days at CRC level follow

..

									up meeting
	<u> </u>	Class VI to	78887	0.024	1893.288	39444	0.024	946.656	Recommended for
	68. c	VIII	/868/	0.024	1893.288	39444	0.024	940.030	 Recommended for 39444 teachers @ Rs. 300 per day for 8 days. *The bifurcation of 8 days Elementary Level In-service teacher training has 5 days at BRCs level and 3 days at CRC level follow up meeting
		Total of In- Service Training (I - VIII)			4626.17			2313.1	
6 9		In-Service Training (IX - XII)							
	69. b	Class IX to XII	100095	0.03523	3526.347	50048	0.024	1201.152	Recommended for 50048 teacher @ Rs. 300 per day for 8 days. *The bifurcation of 8 days Elementary Level In-service teacher training has 5 days at BRCs level and 3 days at CRC level follow up meeting
		Total of In- Service Training (IX - XII)			3526.35			1201.15	
72		Training of Resource Persons & Master Trainers (Elementary)							
	72. a	Master Trainers /RPs Training for Classes Class I & II	4555	0.024	109.32	2280	0.024	54.72	Recommended for 2280 RPs @ Rs. 300 per day for 8 days
	72. b	Master Trainers /RPs Training for Class III to V	6833	0.024	163.992	3416	0.024	81.984	Recommended for 3416 RPs @ Rs. 300 per day for 8 days

	72. c	Master Trainers /RPs Training for Class VI to VIII	7889	0.024	189.336	3944	0.024	94.656	Recommended for 3944 RPs @ Rs. 300 per day for 8 days
		Total of Training of Resource Persons & Master Trainers (Elementary)			462.65			231.36	
7 3		Training of Resource Persons & Master Trainers (Secondary)							
	73. b	Master Trainers/Kcy Resource Persons (KRPs) Training for Class IX to X	5972	0.032	191.104	2986	0.024	71.664	Recommended for 2986 RPs @ Rs. 300 per day for 8 days
	7 3. c	Master Trainers/Key Resource Persons (KRPs) Training for Class XI & XII	4038	0.04	161.52	2019	0.024	48.456	Recommended for 2019 RPs @ Rs. 300 per day for 8 days
		Total of Training of Resource Persons & Master Trainers (Secondary)			352.62			120.12	
7 4		School Leadership Training of Head Teachers/ Principals/RP s (Elementary)							
	74. a	Training of RPs (Classes I to VIII)	31293	0.03	938.79	4500	0.048	216	Recommended @ Rs. 4800 for 16 days as per training norm of the scheme
	74. b	Training of Head Teachers/Princ ipals (Class I to VIII)	500	0.048	24	500	0.048	24	Recommended @ Rs. 4800 for 16 days as per training norm of the scheme

		1	Total of			962.79			240	
			School			302.73			240	
			Leadership							
			Training of							
			Head							
			Teachers/							
		-	Principals/RP							
			S							
		ļ	(Elementary)							
	7		School							
	5	ĺ	Leadership							
			Training of							
			Head Teachers/							
			Principals/RP			:				
			s (Secondary)							
		75.	Training of	6109	0.05	305.45	1300	0.048	62.4	Recommended @
		a	SRGs (IX to							Rs. 4800 for 16
			XII)							days as per
										training norm of
										the scheme
		75.	Training of	200	0.048	9.6	200	0.048	9.6	Recommended @
		Ь	Head Masters							Rs. 4800 for 16
			(Class IX to							days as per
			XII)							training norm of the scheme
			Total of			315.05			72	ule selleme
			School			515.05			12	
			Leadership							
			Training of							
			Head							
			Teachers/							
			Principals/RP							
			s (Secondary)							
	7		Training of							
	6		Educational							
			Administrato							
			rs (Elementary)							
		76.	Elementary	856	0.02	17.12	856	0.02	17.12	Recommended for
		a	Level (Classes							856 Educational
			I to VIII)							Administrators @ Rs. 1000 per day
										for 2 days
			Total of			17.12			17.12	101 2 4473
			Training of							
			Educational							
			Administrato							
			rs							
			(Elementary)		ļ					ļd
	7		Training of		1					
	7		Educational							
			Administrato rs							
			(Secondary)							
		L			0.00			0.02		
-		77.	Secondary	115	0.02	2.3	115	0.02	2.3	Recommended for
1		a	Level (Classes IX to X)							115 Educational Administrators @
										Rs. 1000 per day
								1		for 2 days
L		ا			1			1	۱	

۰,

		77. b	Sr. Secondary Level (Classes XI to XII)	32	0.01	0.32	32	0.01	0.32	Recommended for 32 Educational Administrators @ Rs. 1000 per day for one day.
			Total of Training of Educational Administrato rs			2.62			2.62	
	ser Tea	vice To	(Secondary) Training for In- eacher, Head and Teacher s			10265.37			4197.47	
Composite School Grant	7 8		Annual Grant (up to Highest Class VIII)							
		7 8. b	School Grant - (Enrol 15 - 100)	24381	0.25	6095.25	24381	0.25	6095.25	Recommended as proposed including 10% for Swachhta Programs.
		78. c	School Grant - (Enrol > 100 and <= 250)	6167	0.5	3083.5	6167	0.5	3083.5	Recommended as proposed including 10% for Swachhta Programs.
		7 8. d	School Grant - (Enrol > 250 and <= 1000)	714	0.75	535.5	714	0.75	535.5	Recommended as proposed including 10% for Swachhta Programs.
		7 8. e	School Grant - (Enrol > 1000)	4	1	4	4	1	4	Recommended as proposed including 10% for Swachhta Programs.
			Total of Annual Grant (up to Highest Class VIII)			9718.25			9718.25	
	7 9		Annual Grant (up to Highest Class X or XII)							
		79. b	School Grant - (Enrol 15 - 100)	627	0.25	156.75	624	0.25	156	Recommended as appraised including 10% for Swachhta Programs.
		79. с	School Grant - (Enrol > 100 and <= 250)	2148	0.5	1074	2148	0.5	1074	Recommended as proposed including 10% for Swachhta Programs.
		79. d	School Grant - (Enrol > 250 and <= 1000)	2847	0.75	2135.25	2846	0.75	2134.5	Recommended as appraised including 10% for Swachhta Programs.
		79. е	School Grant - (Enrol > 1000)	442	1	442	442	l	442	Recommended as proposed including 10% for Swachhta Programs.

•

			Total of Annual Grant (up to Highest Class X or XII)			3808			3806.5	
		tal of C	Composite rant			13526.25			13524.75	
Libraries	8 2		Library (upto Highest Class VIII)							
		82. a	Composite Elementary Schools (I – VIII)	3517	0.13	457.21	3517	0.1	351.7	Recommended as appraised
		82. b	Upper Primary Schools (VI – VIII)	10	0.1	1	10	0.07	0.7	Recommended as appraised
			Total of Library (upto Highest Class VIII)			458.21			352.4	
	8 3		Library (upto Highest Class XII)							
		83. b	Schools with Class VI - XII	2947	0.15	442.05	2919	0.05	145.95	Recommended as appraised
		83. c	Secondary Schools (Classes IX & X)	3117	0.1	311.7	3117	0.04	124.68	Recommended for 3117 government schools @ Rs. 4000 per school.
			Total of Library (upto Highest Class XII)			753.75			270.63	
	Tot	al of l	ibraries			1211.96			623.03	
Rastriya Aavishkar Abhiyan	84		Rashtriya Aavishkar Abhiyaan (Elementary)							
		84. с	Study Trip for Students to Higher Institutions (Within States)	1239	0.01	12.39	826	0.002	1.652	Recommended as appraised
		84. h	Excursion Trip for Students within State	1239	0.03	37.17	826	0.002	1.652	Recommended as appraised & suggested to link it with study trip to Mentoring Institutions(2 students per Block).
			Total of Rashtriya Aavishkar Abhiyaan (Elementary)			49.56			3.3	

·

	8 5		Rashtriya Aaviskaar Abhiyan (Secondary)							
		85. a	Science Exhibition / Book Fair	32	1	32	32	1	32	Recommended as proposed
		85. c	Quiz Competition	1	18.361	18.361	33	0.5	16.5	Recommended as appraised foe school level, district level and State level Competitions including Rs 1.00 Lakh for State level.
		85. e	Exposure visit outside State	4 8 00	0.03	144	2010	0.02	40.2	Recommended as appraised
		85. h	Maths Kit	3032	0.015	45.48	2120	0.01907	40.4284	Recommended as appraised as per NCERT Kit cost.
		85. k	Science Kit	3032	0.06	181.92	1500	0.10947	164.205	Recommended as appraised as per NCERT Kit cost.
		85. n	Excursion Trip for Students within District	67000	0.002	134	33500	0.002	67	Recommended as appraised
		85. q	Teacher Exchange Programme for Empowerment	990	0.03	29.7	670	0.02	13.4	Recommended as appraised for 10 teachers per Educational District.
			Total of Rashtriya Aaviskaar Abhiyan (Secondary)			585.46			373.73	
	Aa		tastriya r Abhiyan			635.02			377.04	
ICT and Digital Initiatives	9 2		Project- IT/e- governance (Upto Highest Class X11)							
		92. a	Shaala Kosh	6064	0.1	606.4	30000	0.1	3000	Recommended under Shałaa kosh @0.10 per school initiative including purchase of tablet/ IT device for biomatric attendance of school and attendance.
			Total of Project- IT/e- governance (Upto Highest Class XII)			606.4			3000	
	Tot	ai of I	CT and Digital			606.4			3000	

•

·

	Ini	tiatives	5							
Support at Pre-	9 4		Pre-Primary (Recurring)							
Primary Level		94. a	Support at Pre- Primary Level	5000	0.09	450	5000	0.041	205	Recommended for Training of Aanganwadi Workers, development of Training Resource book and Module. And Material for students (Drawing book, Coloring Books, Stroke note book) and Play materials& Educational kit.
			Total of Pre- Primary			450			205	
			(Recurring) upport at Pre-	_		450			205	
Academic		<u>mary I</u>	Level Provision for	<u> </u>	<u> </u>				+	
Academic support through	9 5		BRCs/URCs							
BRC/URC /CRC		95. a	Salary for 6 Resource Persons at BRC	1910	6.95	13274.5	1910	6.196	11834.36	Recommended
		95. b	Salary for 2 Resource Persons for CWSN	804	2.376	1910.304	804	1.92	1543.68	Recommended
		95. с	Salary for 1 MIS Coordinator in position	402	2.52	1013.04	304	2.18251	663.4830 4	Recommended
		95. d	Salary for 1 Data Entry Operator in position	402	1.92	771.84	343	1.63959	562.3793 7	Recommended
		95. с	Salary for 1 Accountant- cum-support staff	872	1.98	1726.56	773	1.93249	1493.814 8	Recommended
		95 .f	TLE/TLM Grant	413	0.1	41.3	413	0.05	20.65	Recommended
		95.i	Contingency Grant	413	0.5	206.5	413	0.3	123.9	Recommended
		95.j	Meeting, TA Total of Provision for BRCs/URCs	413	0.3	123.9 19067.94	413	0.2	82.6 16324.87	Recommended
	9 7		Provisions for CRCs							
		97. a	Salary for CRC Coordinator (one)	4074	6.95	28314.3	4074	6.196	25242.50 4	Recommended

		97. c	Contingency Grant	4088	0.12	490.56	4088	0.08	327.04	Recommended
		97. d	Meeting, TA	4088	0.1	408.8	4088	0.08	327.04	Recommended
			Total of Provisions for CRCs			29213.66			25896.58	
	sup	port ti	.cademic 1rough C/CRC			48281.6			42221.45	
Total for Q						84427.05			68146.69	
Strengthe ning of physical infrastruct	1 0 0		Strengthening of Physical Infrastructur e							
ure& Establish ment of new		100 .b	Repair & Maintenance	8	30	240	8	21.7	173.6	Recommended for renovation and repair work for 8 DIETs
DIETs			Total of Strengthening of Physical Infrastructur e			240			173.6	
	phy	sical i ablishi	trengthening of nfrastructure& nent of ne w			240			173.6	
Salaries of Teacher Educators (TEIs)	1 0 2		Teachers Educators Salary in TEIs (Academic Posts)							
		1 02 .a	SCERT/SIEs	56	12.51	700.56	1	122.81	122.81	Recommended as per filled post. *Note: Total amount for salary worked out as per the scheme.
		102 .b	DIETs	608	10.4285	6340.528	32	110.76	3544.32	Recommended as per filled post. *Note: Total amount for salary worked out as per the scheme.
		102 .e	BITEs	49	9.5789	469.366	7	46.94	328.58	Recommended as per filled post. *Note: Total amount for salary worked out as per the scheme.
			Total of Teachers Educators Salary in TEls (Academic Posts)			7510.45			3995.71	ure serietite.

•

	Tea		Salaries of Educators			7510.45			3995.71	
Training of Teacher Educators	1 0 4		Training for Teacher Educators							
		104 .a	Residential Training program of Teacher Educators/DIE T Principal/ DIET Faculty as Master Trainers.	712	0.048	34.176	712	0.048	34.176	Recommended for 712 teacher educators @ Rs. 4800
			Total of Training for Teacher Educators			34.18			34.18	
	Tot	al of T	raining of			34.18			34.18	
			Educators							l
DIKSHA (National Teacher Portal)	1 0 5		DIKSHA (National Teacher Portal)							
		105 .b	Capacity building and Training for Teachers. Educators and State officials for usgae of DIKSHA	1000	0.025	25	1000	0.025	25	Recommended as proposed
		105 .c	Creation and Curation of Digital Teaching learning material for uploading on DIKSHA	500	0.15	75	500	0.15	75	Recommended as proposed
		105 .d	Content Creation for Energized Textbooks	100	0.28	28	100	0.28	28	Recommended as proposed
		105 .c	Creation on Item Banks based on competencies/I earning outcomes	50	0.28	14	50	0.28	14	Recommended as proposed
		105 .f	Creation of online/digital modules for Professional development of teachers	320	0.025	8	320	0.025	8	Recommended as proposed

			Total of			150		,	150	
			DIKSHA							
	!		(National							
			Teacher Portal)							
	Tot] slof D	Portal			150			150	
			Teacher			150			150	
		tal)								
Program	1		Program &							
& Activities including	0 6		Activities including Faculty							
Faculty Developm ent of			Development of Teacher Educators							
Teacher Educators		106 .a	Faculty development (DIET)	32	10	320	32	10	320	Recommended for conducting activities in both DIETs and SCERT @ Rs. 10.00 lakh per DIET
		106 .b	Program & Activities (DIET)	32	30	960	32	10	320	Recommended for conducting activities in both DIETs and SCERT @ Rs. 10.00 lakh per DIET
		106 .c	Specific projects for Research activities (DIET)	32	10	320	32	10	320	Recommended for conducting activities in both DIETs and SCERT @ Rs. 10.00 lakh per DIET
			Total of Program & Activities including Faculty Development of Teacher Educators			1600			960	
	T-4	 - . C D				1(00			0(0	
	Act Fac	tivities culty D	rogram & including evelopment of Educators			1600			960	
Technolog y Support to TEIs	1 0 7		Technology Support to TEIs (NR)							
		107 .a	Hardware & Software Support	40	6.4	256	32	6.4	204.8	Recommended for hardware support for all 32 DIETs @ Rs. 6.40 lakh as per norm
			Total of Technology Support to TEIs (NR)			256			204.8	
	1 0 8		Recurring Support on (Technology Support)							

·,

	1	100	Recurring	40	2.4	96	40	0.6	24	Recommended as
		108 .d	Support on Technology (TEIs)	40	2.4	90	40	0.0	24	recommended as per norm for 40 TEIs @ Rs. 0.60 lakh
			Total of Recurring Support on (Technology Support)			96			24	
	Tot	al of T	echnology o TEIs			352			228.8	
Annual Grant for	501 1 0 9		Annual Grant for TEIs			-				· · · · ·
TEIs	9	109 .a	SCERT	1	35	35	I	35	35	Recommended as proposed as per norm
		109 .b	DIETs	32	20	640	32	20	640	Recommended as proposed as per norm
		109 .c	BITEs	7	5	35	7	5	35	Recommended as proposed as per norm
			Total of Annual Grant for TEIs			710			710	
			nnual Grant			710			710	
		TEIs		=		10506 (2			6252.29	·
Total for T	, .	er Edu				10596.63			0252.29	
Sports & Physical Education	1 1 1		Sports & Physical Education (upto Highest Class VIII)							
		111 .a	Sports & Physical Education (Primary Schools)	7432	0.05	371.6	7432	0.04	297.28	Recommended as appraised
		111 .b		5279	0.1	527.9	5279	0.08	422.32	Recommended as appraised
			Total of Sports & Physical Education (upto Highest Class VIII)			899.5			719.6	
	Tot	al of S	ports &			899.5			719.6	
	Phy	sical I	Education		-	000 70			710.70	
		& Pby	sical Education			899.50			719.60	
Teacher Salary (HMs/Tea	1 1 4		Additional Staff for Existing							
chers)			Schools (Secondary)							

	114 .a	Additional Teachers	6752	3	20256	4529	3	13587	4529 (6752-2223) vacant Posts of the
		Total of Additional Staff for Existing Schools (Secondary)			20256			13587	state adjusted
1 1 5		Teacher Salary – (Elementary)							
	115 .a	Primary Teachers- Existing, in position (Regular)	7595	1.8	13671	4062	1.8	7311.6	4062 (7595-3533) vacant Posts of the state adjusted
	115 .c	Primary Head Teachers - Existing in position (Regular)	246	3	738	246	3	738	246 considered as proposed and financial support as per norms
		Total of Teacher Salary – (Elementary)			14409			8049.6	
1 1 6		Upper Primary Teachers (Contractual)							
	116 .e	(Elementary) Part Time Instructors	15169	1.133	17186.48	15169	0.84	12741.96	Financial support as per norms
		Total of Upper Primary Teachers (Contractual)			17186.48			12741.96	
1 1 7		- (Elementary) Upper Primary Teachers (Regular) (Elementary)							
	117 .a	Science and Mathematics	1010	2.4	2424	1010	2.4	2424	onsidered as proposed but financial support as per norms
	117 .b	Social Studies	1007	2.4	2416.8	1007	2.4	2416.8	onsidered as proposed but financial support as per norms
	117 .c	Languages	996	2.4	2390.4	996	2.4	2390.4	Considered as proposed but financial support as per norms

		117 .d	Upper Primary Teachers	24116	2.4	57878.4	21638	2.4	51931.2	2478 vacant Posts of the state adjusted and
		117 .c	Head Teachers for Upper Primary in position	50	3.6	180	50	3	150	financial support as per norms Considered as proposed but financial support as per norms
			Total of Upper Primary Teachers (Regular) – (Elementary)			65289.6			59312.4	
	1 1 8		Staff for Previous Year Schools (Secondary)							
		118 .b	Subject Teacher	6663	3	19989	6077	3	18231	6077 teachers in- position as per U- DISE
			Total of Staff for Previous Year Schools (Secondary)			19989			18231	
			eacher Salary Ichers)			137130.1			111921.9 6	
Total for S						137130.0			111921.9	
Kasturba Gandhi Balika Vidyalaya	1 1 9		KGBV - Type - I (NR) (Classes VI - VIII)			8			6	
(KGBVs)		119 .i	Replacement of bedding (once in 3 years)]	3	3	100	0.015	1.5	Recommended for 100 girls in 2 KGBVs (50 girls each)
			Total of KGBV - Type - I (NR) (Classes VI - VIII)			3	-		1.5	
	1 2 0		KGBV - Type - 1 (Recurring) (Classes VI - VIII)		5					
		120 .a	Fooding / Lodging per girl per month	4600	0.192	883.2	4600	0.192	883.2	As per consumer price index as approved for MDM the State has proposed 1600 per child per month which is recommended by the Appraisal team.

120 .b	Stipend per girl per month	4600	0.02	92	4600	0.02	92	Recommended as Proposed
120 .c	Supplementary TLM, Stationery and other educational material	4600	0.009	41.4	4600	0.009	41.4	Recommended a Proposed
120 .d	1 Warden	61	3.24	197.64	61	3.24	197.64	Recommended a Proposed
120 .f	4 - 5 Full Time Teachers	275	2.64	726	275	2.64	726	KGBVs are located in far flur areas. All the functionaries are getting same salaries for the la five years and hence, state has proposed hike in the salaires whic is recommended a per state proposa
120 .h	3 Part Time Teachers	183	1.02	186.66	183	1.02	186.66	Recommended a Proposed
120 .i	1 Full Time Accountant	61	1.8	109.8	61	1.32	80.52	1 Full time accountant recommended ir each KGBV in 6 KGBVs @Rs.11000/- pe month
120 .j	2 Support Staff - (Accountant/ Assistant, Pcon, Chowkidar)	122	1.11	135.42	122	1.32	161.04	2 Support staff recommended ir each KGBV in 6 KGBVs @Rs.5500/- per month
120 .k	1 Head Cook	61	1.44	87.84	61	0.96	58.56	1 Head Cook recommended ir each KGBV in 6 KGBVs @Rs.8000/- per month
120 .1	2 Assistant Cook	122	0.90491	110.399	122	1.2	146.4	2 Assistant Cook recommended in each KGBV in 6 KGBVs @Rs.5000/- per month
120 .m	Specific skill training per girl	4600	0.009	41.4	4600	0.009	41.4	Recommended a Proposed
1 20 .n	Electricity / Water Charges	4600	0.01	46	4600	0.01	46	Recommended a Proposed
1 20 .0	Medical care / Contingencies	4600	0.015	69	4600	0.015	69	Recommended a Proposed

•

	120 .р	Maintenance	4600	0.01	46	4600	0.01	46	Recommended as Proposed
	120 .r	Preparatory Camps	4600	0.0025	11.5	61	0.1	6.1	@Rs10000/- per KGBV recommended for 61 KGBVs
	120 .s	Р.Т.А.	4600	0.0029	13.34	4600	0.0029	13.34	Recommended as Proposed
	120 .u	Capacity Building	4600	0.005	23	61	0.07	4.27	@Rs7000/- per KGBV recommended for 61 KGBVs
	120 .v	Physical / Self Defence	4600	0.004	18.4	61	0.1	6.1	@Rs10000/- per KGBV recommended for 61 KGBVs
		Total of KGBV - Type - I (Recurring) (Classes VI - VIII)			2839			2805.63	
1 2 6		KGBV - Type - IV (Recurring) (Classes IX - XII)							
	126 .a	Food/Lodging per child per month	4400	0.187	822.8	4400	0.18	792	Recommended as appraised
	126 .b	Stipend per girl per month	4400	0.012	52.8	4400	0.012	52.8	Recommended as appraised
	126 .e	1 Warden	44	0.9	39.6	44	0.9	39.6	Recommended as proposed
	126 .g	1 Chowkidar	44	0.54	23.76	44	0.54	23.76	Recommended as proposed
	126 .h	1 Head Cook	44	0.54	23.76	44	0.54	23.76	Recommended as proposed
	126 .i	2 Assistant Cook	88	0.42	36.96	88	0.42	36.96	Recommended as appraised
	126 .k	Electricity / Water Charges	44	0.84	36.96	44	0.6	26.4	Recommended as appraised
	126 .1	Medical care / Contingencies	4400	0.011	48.4	4400	0.01	44	Recommended as appraised
	126 .m	Maintenance	44	0.4	17.6	44	0.4	17.6	Recommended as appraised
	126 .n	Miscellaneous	44	0.4	17.6	44	0.4	17.6	Recommended as appraised

,

			Total of KGBV - Type - IV (Recurring) (Classes IX - XII) Kasturba			1120.24 3962.24			1074.48 3881.61	
		ndhi B GBVs)	alika Vidyalaya							
Special Projects for Equity	1 3 0		Special Projects for Equity (Secondary)							
		130 .c	Improving Participation (IMPART)	6064	0.08133	493.185	32	4	128	The project can be considered for 6064 govt secondary schools of 32 district @ Rs.4.0 lakhs per school for SC, ST and Minorities students. The project is focused on qulaity teaching learning process and improving participation of SC, ST and Minorities students.
		130 .d	Slow Learners Achievement Programme (SLAP)	6064	0.06649	403.195	6064	0.01	60.64	The Project can be considered for 6064 @0.01 lakhs per schools for slow learners achievement
		130 _r	ROADS (Reduction of Anticipated Dropout at School Level)	5	6.58	32.9	5	1	5	programme. The project can be considered for 5 blocks of Karur district for reducing dropout rate of govt. secondary and higher secondary schools.
			Total of Special Projects for Equity (Secondary)			929.28			193.64	3010013.
	1 3 2		Project- Girls Empowermen t (Secondary)							

		132 .b	Training in Martial Arts to all girls / Self Defence	6064	0.09	545.76	5711	0.09	513.99	Self Defence training can be considered for 5711 govt schools secondary and higher secondary school (as per Udise) with girl enrollment @ Rs.0.09 lakhs per school for 3 months.
		132 .d	Enable Nutrition Health and Hyegine	6064	0.04422	268.15	5711	0.02	114.22	The project can be considered for 5711 govt schools with girl enrollment @ 0.02 lakhs per school. The project Gem activities can also be clubbed with this programme.
			Total of Project- Girls Empowermen t (Secondary)			813.91			628.21	
		al of S Equity	pecial Projects			1743.19			821.85	
Self defence training for Girls	1 3 3		Self Defence Training (up to Highest Class VIII)							
		133 .a	Self Defence Training (Upto Class VIII)	7043	0.09	633.87	7043	0.09	633.87	Self defence training can be considered for 7043 (6 to 8) elementary schools with girl enrollment @0.09 lakhs per school for 3 months.
			Total of Self Defence Training (up to Highest Class VIII)			633.87			633.87	
			elf defence			633.87			633.87	1
T-4 1 6 0			or Girls	_		6339.30			5327 33	
Total for G	T	r & Eq				6339.30			5337.33	
Provision for Children with	1 3 4		Inclusive Education (up to Highest Class VIII)							

Special	134	Sports Events	413	0.2	82.6	413	0.2	82.6	Recommended as
Needs (CWSN) - Recurring	.a								proposed at a unit cost Rs.20000 per BRC for sports events/ exposure visits/ celebration of Disability day. (This activity is recommended for
						•			CWSN from Classes 1 to 12)
	134 .b	Purchase/Deve lopment of instructional materials	413	1	413	413	0.5	206.5	Recommended at the unit cost Rs.50000/- per BRC for the purchase of therapy equipment. To be reviewed by the PAB.
	134 .f	Helper/Ayas/A ttendant	413	0.36	148.68	413	0.03	12.39	Recommended at Rs 3000 with a unit cost of Rs. 300 for 10 months.
	134 .h	Providing Aids & Appliances	8854	0.03	265.62	8854	0.025	221.35	Recommended as appraised at a unit cost Rs. 2500 to be undertaken in convergence with DDAW or Government hospitals (through insurance scheme).
	134 .i	Identification and Assessment (Medical Assessment Camps)	413	0.25	103.25	413	0.25	103.25	Recommended as proposed by the state at unit cost Rs.25000 per BRC.
	134 .m	Transportation allowance	21800	0.06	1308	21800	0.06	1308	Recommended as proposed by the state at Rs 6000 with a unit cost Rs. 600 for 10 months.
	134 .n	Stipend for Girls	54672	0.02	1093.44	54672	0.02	1093.44	Recommended as proposed at Rs 2000 with a unit cost Rs. 200 for 10 months.
	134 .0	In-service Training of Special Educators	2196	0.009	19.764	2196	0.006	13.176	Recommended as appraised at a unit cost Rs 600 for 2 days (Rs 300 per day) non residential training programme.
	134 .q	Orientation of Principals, Educational administrators, parents / guardians etc.	41300	0.006	247.8	10500	0.006	63	Recommended at a unit cost Rs. 600 for 2 days (Rs 300 per day) non residential training programme.

. .

	134 .s	Salary (Previous Spl. Educators)	1392	2.376	3307.392	1392	1.92	2672.64	Recommended as appraised at a unit cost of Rs. 16000 for 12 months subject to verification. The salary increment may be
	134 .v	Escort Allowance	8000	0.06	480	8000	0.06	480	borne by state. Recommended as proposed by the state for Rs. 6000 with a unit cost of Rs. 600 per month for 10 months.
	134 .w	Home Base Education	8303	0.024	199.272	8303	0.024	199.272	The state was previously converging with other organizations for CWSN in the Home Based Education programme. Recommended as proposed by the State at unit cost Rs. 2400 per CWSN, subject to verification of data provided by the state. The total number of CWSN (class 1 to 8) is 132314 (as per UDISE). The PAB to review this further.
		Total of Inclusive Education (up to Highest Class VIII)			7668.82			6455.62	
1 3 5		Inclusive Education (Student Oriented Components) (up to Highest Class X or XII)							
	135 .c	Helper/Ayas/A ttendant	273	0.05	13.65	273	0.03	8.19	Recommended at Rs 3000 with a unit cost Rs. 300 for 10 months.
	135 .f	Braille Stationary Material (Inc. Embossed Charts, globes etc)	590	0.007	4.13	590	0.007	4.13	Recommended as proposed as by the state at a unit cost Rs. 700.

135 .g	Providing Aids & Appliances	412	0.2	82.4	412	0.025	10.3	Recommended as appraised at a unit cost Rs. 2500 to be undertaken in convergence with DDAW or Government hospitals.
135 .i	Reader Allowance	590	0.005	2.95	590	0.005	2.95	Recommended as proposed by the state at unit cost Rs. 500.
135 .k	Assistive Devices,Equip ments and TLM	5644	0.013	73.372	412	0.005	2.06	The state to explore convergence for the provision of assistive devices. The state has proposed for TLM development only. Recommended at a unit cost Rs.500 per BRC. State may develop low/zero cost materials in schools.
135	Escort Allowance	9905	0.01	99.05	1550	0.01	15.5	The PAB approval of the year 2017- 18 for escort allowance was for 1526 CWSN. As per UDISE, there has been an overall increase of 4856 in enrollment of CWSN at the secondary level which includes all categories of disabilities. This number is lower than the proposed physical unit of 9905 of the state for escort allowance(which covers 7 categories). Therefore,keeping in view the ratio of enrollment, escort allowance for 1550 CWSN is recommended at Rs 1000 with a unit cost of Rs. 100 for 10 months.

	-	135 .n	Stipend for Girls	7436	0.02	148.72	7436	0.02	148.72	Recommended at Rs 2000 with a unit cost Rs. 200 for 10 months.
		135 .0	Transportation allowance	13115	0.01	131.15	13115	0.01	131.15	Recommended as proposed by the state by the state at Rs 1000 with a unit cost Rs. 100 for 10 months, subject to verification of data provided by the state.
			Total of Inclusive Education (Student Oriented Components) (up to Highest Class X or XII)			555.42			323	
	1 3 6		Inclusive Education (Recurring) (Upto Highest Class - XII)							
		136 .b	In-service Training of Special Educators	210	0.015	3.15	210	0.006	1.26	Recommended as appraised at a unit cost Rs. 600 for 2 days (Rs 300 per day) non residential training.
		136 .c	Environment Building programme	412	0.05	20.6	412	0.05	20.6	Recommended as proposed by the state at unit cost Rs. 5000 for 412 blocks.
		136 .f	Salary (Previous Spl. Educators)	210	3	630	210	3	630	Recommended as appraised at a unit cost of Rs 25000 for 12 months subject to verification of data.
			Total of Inclusive Education (Recurring) (Upto Highest Class - X11)			653.75			651.86	
	Ch: Neo	ildren eds (CV	rovision for with Special WSN) -			8877.99			7430.48	
Total for In		eurring ive Edi				8877.99			7430.48	
Introducti on of Vocational	1 4 0		Recurring Support VE - Existing							

Education		140	Financial	67	6	402	134	1.2	160.8	As per norms for 2
at Secondary and higher		.a	Support for Vocational Teacher/ Trainer							trainers per schools for 2 sectors (6 months provision)
Secondary		1 40 .b	(Existing) Financial Support for Resource Persons (Existing)	67	1.25	83.75	67	0.625	41.875	As per norms for class 9th
		140 .c	Raw material grant for new school per course (Existing)	67	2.25	150.75	67	1.125	75.375	As per norms for class 9th
		140 .d	Cost of providing Hands Training Students (Existing)	67	1.2	80.4	67	0.6	40.2	As per norms for class 9th
		140 .f	Office Expenses / Contingencies for School (Existing)	67	2	134	67	0.5	33.5	As per norms for class 9th
		140 ∙g	Induction training of VE - Teachers (10 Days) - (Existing)	67	0.05	3.35	134	0.025	3.35	As proposed for 5 days training @ R 500 per day
			Total of Recurring Support VE - Existing			854.25			355.1	
	Voc Sec	ationa	ntroduction of Il Education at y and higher			854.25			355.1	
Total for Vo	ocati	onal E	ducation			854.25			355.10	
Monitorin g Informati	1 4 3		Monitoring of the Scheme							
on System (MIS)		143 .b	Management Information System (SDMIS & Shaala Kosh)	1	237.91	237.91	1233152 5	0.00002	246.6305	Recommended for 12331525 children @ Rs. 2 per child.
			Total of Monitoring of the Scheme			237.91			246.63	
	Total of Monitoring Information System (MIS)				237.91			246.63		
Total for M			f the Scheme			237.91			246.63	
Program Managem	1 4		MMER (I- XII)							

,

ent	4	144 .a	MMER (I-XII)	1	10054.9 4	10054.94	1	11727.01	11727.01	Recommended for 5% against total outlay including spill over.to total budget approvals in PAB.
			Total of MMER (I- XII)		· · ·	10054.94			11727.01	
		al of P nagem	rogram ent			10054.94			11727.01	
Total for P	Total for Program Management				10054.94			11727.01		
						323486.6			246267.39	

	State :Tamil N	Nadu an	d Year :	2018-2019	Spill-over			
Major Component	Sub Component			Activity Master	Physical	Financial (Rs. in lakh)		
Elementary Education	i on							
Access & Retention	Strengthening of Existing Schools	23		Strengthening of Schools (up to Highest Class VIII)				
			23.b	Additional Classrooms (Upto Class VIII)	678	6596		
			23.j	CWSN Toilets (Upto Class VIII)	882	899.64		
				Total of Strengthening of Schools (up to Highest Class VIII)		7495.64		
				Total of Strengthening of Existing Schools		7495.64		
				Total of Elementary Education		7495.64		
Secondary Educatio	n		-	· · · · · · · · · · · · · · · · · · ·	· ·			
Access & Retention	Opening of New / Upgraded Schools	3		Opening of New / Upgraded Schools - Non Recurring (Secondary)				
	- 18		3.c	2 Section School (Class IX - X)	21	1153.41		
				Total of Opening of New / Upgraded Schools - Non Recurring (Secondary)		1153.41		
				Total of Opening of New / Upgraded Schools		1153.41		
	Strengthening of Existing Schools	24		Strengthening of Existing Schools (IX - X)				
						24.n	Equipment for Resource Room	412
				Total of Strengthening of Existing Schools (IX - X)		288.4		
·		-		Total of Strengthening of Existing Schools		288.4		
Quality Interventions	ICT and Digital Initiatives	89		ICT and Digital Initiatives (upto Highest Class XII)				
		:	89.a	Tablets/Laptop/Notebook/PCs	4345	22239		
			89.b	Operating System / Softwares	4345	4849.5		
			89.c	Furniture	4345	1090		
			-	Total of ICT and Digital Initiatives (upto Highest Class XII)		28178.5		
				Total of ICT and Digital Initiatives		28178.5		
Vocational	Introduction of	137		Introduction of VE in schools				
Education	Vocational Education at		137.a	Tools, Equipment & Furniture (New)	67	385.987		
	Education at Secondary and higher Secondary		·	Total of Introduction of VE in schools		385.99		
				Total of Introduction of Vocational Education at Secondary and higher Secondary		385.99		
				Total of Secondary Education	·	30006.3		
			t	Total		37501.94		

<u>Annexure -III</u>

			State-Tamil Nadu									
	List of Schools (Higher Secondary Level)											
	Lis	t of schools approve	d for up-grading into Higher s	econdary Scho	ol							
SN	District	Block	School name	UDISE code	Stream with section							
1	DINDIGUL	NATHAM	GHS, LINGAVADI	33130602403	Science stream with 2 section							
2	TIRUNELVELI	RADHAPURAM	GHS KASTHURIRENGAPURAM	33291403103	Science stream with 2 section							
3	KRISHANAGIRI	SHOOLAGIRI	GHS.CHINNADINNUR	33311403402	Science stream with 2 section							
4	KRISHANAGIRI	KELAMANGAL AM	GHS BOMMATHATHANUR	33311611202	Science stream with 2 section							
5	KRISHANAGIRI	THALLY	GHS T.SHOOLAKUNTA	33311714302	Science stream with 2 section							

Annexure-IV

TAMIL NADU: MAJOR REPAIR ELIGIBILITY

-- ·

, ,

•

SI. No	Name of the District	Name of the block	UDISE School CODE	Name of the School	No. of classro oms	No	Total Estimated Cost(Rs.)	recomme ndation
1	Ariyalur	Jayankondam	33160903801	PUMS - NARASINGAPALAYAM	2	2	200000	1
2	Coimbatore	Pollachi North	33121103601	PUMS VADAKIPALAYAM	3	2	221000	2
3	Coimbatore	Sulthanpet	33122002004	PUPS PULIYAMARATHUPAL AYAM	2	2	240000	2
4	Coimbatore	Pollachi South	33121202302	PUMS UNJAVELAMPATTI	2	2	232000	2
5	Coimbatore	Sulur	33122100903	Pups Pattanam	3	2	241000	2
6	Cuddalore	Annagramam	33180204402	PUPS PUDUPETTAI	2	2	225000	2
7	Cuddalore	Bhuvanagiri	33181105404	PUMS PERUMATHUR	2	2	175000	2
8	Cuddalore	Viruddhachla m	33180606401	PUMS VILANKATOOR	2	2	165000	2
9	Cuddalore	Kumaratchi	33181301401	PUPS ELLERI	2	2	200000	2
10	Cuddalore	Keerapalaya m	33181205101	PUPS THUNESIRAMEDU	2	2	130000	1
11	Dharmapuri	Harur	33050810401	PUPS Thamaraikoliyampatti	2	2	175000	2
12	Dharmapuri	Pappireddipat ti	33050703101	GTRPS Jakkampatti	2	2	240000	2
13	Dharmapuri	Palacode	33050409302	PUPS Palacode(South)	2	2	255000	2
14	Dharmapuri	Morappur	33050608701	PUPS Peramandapatti	2	2	255000	2
15	Dharmapuri	Pennagaram	33050303101	PUMS Eamanoor	2	2	257000	1
16	Dindigul	Guziliampara i	33130400902	PUPS GUZILIAMPARAI	2	2	201500	2
17	Dindigul	Athoor	33130100905	PUPS V.KOOTHAMPATTI	2	2	201500	2
18	Dindigul	Kodaikanal	33130501505	PUPS KADAMANRAVU	2	2	215000	2
19	Dindigul	Oddanchathra m	33130801102	PUMS SAMIYARPUDUR	3	2	184500	2
20	Dindigul	Vedasanthur	33131400510		2	2	212500	2
21	Dindigul	Sanarpatti	33131100702	PUPS KIZHAVANKULAM	2	2	196000	2
22	Dindigul	Palani Rural	33130900703	PUPS INDIIIRA NAGAR	2	2	207000	1
23	Dindigul	Dindigul Rural	33130300307	PUPS NARASINGAPURAM	2	2	207000	1
24	Dindigul	Batlagundu	33130200503	PUPS, OLD BATLAGUNDU	2	2	201500	2
25	Erode	Bhavanisagar	33100401402	PUPS, SUNGAKARANPALAYA M	2	2	170000	2
26	Erode	Kodumudi	33101000601	PUPS, VARAKUTTAI	2	2	190000	2
27	Erode	T.N.Palayam	33101800502	PUMS VINOBANAGAR	2	2	200000	2
28	Erode	Sathy	33101600903	PUMS, SATHUMUGAI	2	2	250000	2
29	Erode	Thalavadi	33101700703	GTRMS, BEJELATTY	3	2	230000	1
30	Kanchipuram	Kanchipuram	33030105403	MMS O.M. Pet	2	2	240800	2

SI. No	Name of the District	Name of the block	UDISE School CODE	Name of the School	No. of classro oms	No	Total Estimated Cost(Rs.)	recomme ndation
31	Kanchipuram	Walajabad	33030207501	PUPS Serkadu	2	2	240800	2
32	Kanchipuram	Thiruporur	33030605301	PUPS Manampathi	2	2	254800	2
33	Kanchipuram	Uthiramerur	33030304401	PUPS Kavampair	2	2	254800	2
34	Kanchipuram	Uthiramerur	33030305701	PUPS Anampakkam	2	2	240800	2
35	Kanchipuram	St. Thamos Mount Ru	33031400101	ADWMS Paduvanchery	2	2	254800	2
36	Kanchipuram	Maduranthga m	33031102301	PUPS Athimanam	2	2	240800	2
37	Kanniyakumar i	Agastheeswar am	33300204801	KDVP GPS Kottar	3	2	198000	2
38	Kanniyakumar i	Agastheeswar am	33300200206	GMS Pottayadi	2	2	200000	2
39	Kanniyakumar i	Rajakkamang alam	33300300804	GPS Ananthanadarkudi	2	2	200000	2
40	Kanniyakumar i	Thovalai	33300101302	GPS Aralvadakoor	3	2	202000	2
41	Kanniyakumar i	Kurunthanco de	33300400604	GMS Thotticode	3	2	204000	2
42	Kanniyakumar i	Killiyoor	33300800305	GPS Parambu	2	. 2	206000	2
43	Kanniyakumar i	Melpuram	33300700215	GV PS Kuzhithurai	2	2	211000	2
44	Kanniyakumar i	Agastheeswar am	33300205002	GHS (G) SLB Nagercoil	3	2	213000	2
45	Kanniyakumar i	Melpuram	33300700803	GPS Marapady	2	2	213000	2
46	Kanniyakumar i	Melpuram	33300700801	GPS Arumanai	3	2	227000	2
47	Kanniyakumar i	Kurunthanco de	33300400504	GPS Chenamvillai	2	2	228000	2
48	Kanniyakumar i	Thuckalay	33300500204	GMS Kottamavu	2	2	230000	2
49	Kanniyakumar i	Agastheeswar am	33300205301	GPS Vadalivilai	3	_ 2	236000	2
50	Kanniyakumar i	Thovalai	33300100201	GPS Chenbagaramanputhoor	3	2	241000	2
51	Kanniyakumar i	Thiruvattar	33300600102	GMS Thotavaram	2	2	241000	2
52	Kanniyakumar i	Killiyoor	33300800308	GMS Mankantuvillai	2	2	241000	2
53	Karur	K.Paramathi	33140400703	PUPS Pudurpatti	2	2	250000	2
54	Karur	Aravakurichi	33140301305	Pups Kurumbapatti	2	2	243000	2
55	Karur	Krishnarayap uram	33140502404	PUMS Velankattupatti	2	2	247000	1
56	Karur	Kadavur	33140601701	PUMS Palaviduthi	2	2	250000	2
57	Karur	Kulithalai	33140701001	PUMS Thaliyampatti	2	2	246000	2
58	Krishnagiri	Krishnagiri Kaveripattina	33311006601	PUMS Pedhathalapalli	2	2	235000	2
59	Krishnagiri	m	33311104001	PUPS Karadihalli	2	2	235000	2
60	Krishnagiri	Bargur	33311209301	PUPS Nakkalpatti	2	2	235000	2
61	Krishnagiri	Veppanapalli	33311304701	PUPS Kurubarapalli	2	2	235000	1
62	Krishnagiri	Shoolagiri	33311411501	PUPS Shoolagiri	2	2	235000	2

SI. No	Name of the District	Name of the block	UDISE School CODE	Name of the School	No. of classro oms	No	Total Estimated Cost(Rs.)	recomme ndation
63	Krishnagiri	Hosur	33311511401	PUPS M.Karupalli	2	2	235000	2
64	Krishnagiri	Kelamangala m	33311610801	PUMS Varaganapalli	2	2	235000	2
65	Krishnagiri	Thally	33311713301	PUPS Savarabatham	2	2	235000	2
66	Madurai	Chellampatti	33240200408	PUPS MAMPATTIPATTI	2	2	224000	2
67	Madurai	Melur	33240801505	PUPS A.VALLALAPATTI PUMS	2	2_	225500	2
68	Madurai	T.Vadipatti	33241300101	KULASEKARANKOTTA I	2	2	225000	2
69	Madurai	Sedapatti	33240902001	PUMS E.KOTTAIPATTI	2	2	221000	2
70	Madurai	Kallikudi	33240302901	PUMS PEYKULAM	3	2	230000	2
71	Madurai	T.Vadipatti Thirupparank	33241300102	PUPS RAMANAYAKKANPAT TI	2	2	225000	1
72	Madurai	undram	33241102401	PUPS KALLAMBAL	2	2	226000	1
73	Nagapattinam	Kilvelur	33190303401	PUPS, SATTIYAKUDI	2	2	195305	2
				PUMS,				
74	Nagapattinam	Keelaiyur	33190400306	KARAIMETTUTHIDAL	2	2	242070	2
75	Nagapattinam	Thalainayar Mayiladuthur	33190502902	PUPS, THALAINAYAR III	2	2	237652	2
76	Nagapattinam	ai	33190702601	PUPS, VILLIYANALLUR	2	2	246288	2
77	Nagapattinam	Sembanarkoil	33190803101	PUPS, M. SATHANUR	2	2	228360	2
78	Nagapattinam	Kuthalam	33190901505	PUMS, KUTHALAM	2	2	231735	2
79	Nagapattinam	Sirkali	33191000401	PÚMS, SATTANATHAPURAM	2	2	195529	2
80	Nagapattinam	Kollidam	33191103701	PUPS, SOTHIYAKUDI	2	2	238937	2
81	Namakkal	Namakkal	33090102001	PUMS KONDICHETTIPATTI	2	2	246000	2
82	Namakkal	Mohanur	33090301403	PUMS NEIKARANPATTI	2	2	246000	2
83	Namakkal	Erumapatty	33090401507	PUMS NAVALADIPATTI	2	2	226000	2
84	Namakkal	Puduchatram	33090600609	PUPS NAVANI PALLIPATTI PUPS	2	2	218000	2
85	Namakkal	Namagiripet	33090902101	MANGALAPURAM	4	2	249000	2
86	Namakkal	Tiruchengode	33091001604	MMS SANARPALAYAM	2	2	240000	2
87	Namakkal	Pallipalayam	33091101206	PUPS KANDIPUDUR	2	2	220000	2
88	Namakkal	Elachipalaya m	33091302402	PUPS MUSIRI PALLIPATTI PUPS	2	2	249000	2
89	Namakkal	Kabilarmalai	33091501504	PUPS PERIYASOLIPALAYAM	2	2	248000	2
90	Perambalur	Veppur	33160204101	PUPS ODIYAM	2	2	250000	2
91	Pudukkottai	Gandharvakk ottai	33220401203	PUMS MEIKIUDIPPATTI	2	2	220000	2
92	Pudukkottai	Kundrandark oil	33220103301	PUMS THIRUMALAIRAYAPU RAM	2	2	297500	2
93	Pudukkottai	Thiruvaranku lam	33220604601	PUPS SATHIRAPPATI	2	2	217000	2

,

•

PUPS PUPS PUPS 94 Pudukkottai i 3322070260 PUPS 2 2 226000 95 Pudukkottai Viralimalai 33220302706 RURUKKATHANPATTI 2 2 227500 96 Pudukkottai Arrimalam 33221001401 PUMS- 2 221000 97 Pudukkottai I 33221201501 AVUDAIYARKO[L 2 2 221500 98 Pudukkottai Manamelkudi 33221031501 AVUDAIYARKO[L 2 2 224000 99 Pudukkottai Anavasal 33220203203 PUPS GOPALAPURAM 1 2 295000 100 Pudukkottai Anavasal 33220203203 PUPS RARAMOU 2 2 260000 101 Ramanathapu 3327110602 GHS VALANTHARVAI 5 2 247000 103 am Mandapam 3327110602 GHS VALANTHARVAI 2 2 24000 103 am Nanazhapu	SI. Name of the No District	Name of the block	UDISE School CODE	Name of the School	No. of classro oms	No	Total Estimated Cost(Rs.)	recomme ndation
94 Pudukkottai i 33220702602 A(E) 2 2 222000 95 Pudukkottai Arimalam 33220302706 KURUKKATHANPATTI 2 2 227500 96 Pudukkottai Arimalam 3322100401 PUMS- 2 220000 97 Pudukkottai 1 33221301501 AVUDAIYARKOII. 2 2 221500 98 Pudukkottai Mammelkudi 3322030201 PUPS GOPALAPURAM 2 2 224000 99 Pudukkottai Mandepam 3322030301 PUPS AGRAPATTI 2 2 226000 101 Pudukkottai Annavasat 332203030 PUPS PARAMBUR 1 2 204000 Ramanathapur am Mandapam 33271106802 GHS VALANTIJARAVAI 5 2 247000 103 am Nanarkoil 33271106802 GHS VALANTJARAVAI 5 2 243000 105 Salem Nanarkoil 33271106802 GHS VALPANENDAL <td></td> <td>Karambakkud</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>		Karambakkud						
95 Pudukkottai Viralimalai 33220302706 KURUKKATHANPATTI 2 2 2227500 96 Pudukkottai Arumalam 3322100401 PUMS-MUNASANTIHAI 2 2 220000 97 Pudukkottai 1 33221301501 AVUDATYARKOII. 2 2 221500 98 Pudukkottai Manamelkudi 33221203201 PUPS GOPALAPURAM 2 2 224000 99 Pudukkottai Thirumayam 3322030301 PUPS GOPALAPURAM 1 2 225000 101 Pudukkottai Anavasal 3322030301 PUPS PARAMBUR 1 2 260000 Ramanathapur Anavasal 33271106201 PUMS KARAKADU 2 2 240000 Ramanathapur Mandapam 33271106202 GHS VALANTHARATI 2 2 240000 Ramanathapur Mandapam 33271106021 PANDAPANENDAL 2 2 243000 105 Salem Nangavalli 33080201503 PUPS VG OPUDUR <td>94 Pudukkottai</td> <td></td> <td>33220702602</td> <td>AI(E)</td> <td>2</td> <td>2</td> <td>226000</td> <td>2</td>	94 Pudukkottai		33220702602	AI(E)	2	2	226000	2
96 Pudukkottai Arimalam 3322100401 PUMS-MUNASANTHA1 2 2 220000 97 Pudukkottai Avudaiyarkoi PUMS- P	95 Pudukkottai	Viralimalai	33220302706		2	2	227500	2
Avudaiyarkoi PUMS- 33221301501 PUMS- AVUDAIYARKOIL 2 2 221500 97 Pudukkottai Manamelkudi 33221201201 PUPS GOPALAPURAM 2 2 224000 99 Pudukkottai Thirumayam 3322030301 PUPS GOPALAPURAM 1 2 295000 100 Pudukkottai Annavasal 3322030303 PUPS PARAMBUR 1 2 204000 Ramanathapur Amadapam 3327100201 PUMS FARAKADU 2 2 260000 Ramanathapur Amadapam 3327100201 PUMS FARAKADU 2 2 247000 Ramanathapur Am Mandapam 3327100201 PUPS GPUDUR 2 2 243000 105 Salem P.N.Palayam 308020103 PUPS GPUDUR 2 2 245000 106 Salem Rural 330800001 NAGAR 2 2 245000 108 Salem Paramarathu PUPS 2 2 25000 108	96 Pudukkottai	Arimalam	33221004401	PUMS-MUNASANTHAI	2	2	· ·	2
98 Pudukkottai Manamelkudi 33221203201 PUPS GOPALAPURAM 2 2 224000 99 Pudukkottai Thirumayam 33220804801 RANNGIRANPATTI 2 2 225000 100 Pudukkottai Pudukkottai 33220203203 PUPS PARAMBUR 1 2 204000 Ramanathapur Amanayaal 332270203203 PUPS PARAMBUR 1 2 260000 Ramanathapur Amandapam 33271100201 PUMS EARAKADU 2 2 260000 Ramanathapur Amandapam 3327106802 GHS VALANTHIARAVAI 5 2 247000 Ramanathapur Amanagavalli 33270501301 PANDAPANENDAL 2 2 243000 105 Salem Nangavalli 33080101401 KARUPUREDDIYUR 2 2 245000 106 Salem Rural 33080000101 KONDALAMPATTY 2 2 254000 108 Salem patti 3308160402 PUPS 2 2 26				PUMS-	•			2
99 Pudukkottai Thirumayam 33220804801 ARANGIRANPATTI 2 2 295000 100 Pudukkottai 33220503501 PUMS AGARAPATTI 2 2 25000 101 Pudukkottai Annavasal 3322003203 PUPS PARAMBUR 1 2 2 20000 Ramanathapur Mandapam 33271106802 GHS VALANTIARAVAI 5 2 247000 Ramanathapur Mandapam 33271106802 GHS VALANTIARAVAI 5 2 243000 103 am Mandapam 3327106802 GHS VALANTIARAVAI 5 2 243000 104 am Nainarkoil 33270501301 PANDAPANENDAL 2 2 245000 105 Salem P.N.Palayam 33080102101 KARUPUREDDIYUR 2 2 245000 106 Salem Nangavalli 3308100201 NAGAR 2 2 254000 107 Salem Pati 33081800402 PUPS 2 <td< td=""><td>98 Pudukkottai</td><td>Manamelkudi</td><td>• ·</td><td>· · · · · · · · · · · · · · · · · · ·</td><td><u> </u></td><td></td><td></td><td>2</td></td<>	98 Pudukkottai	Manamelkudi	• ·	· · · · · · · · · · · · · · · · · · ·	<u> </u>			2
100 Pudukkottai Pudukkottai 33220503501 PUMS AGARAPATTI 2 2 225000 101 Pudukkottai Annavasal 33220203203 PUPS PARAMBUR 1 2 204000 Ramanathapur Mandapam 33271106802 GHS VALANTIIARAVAI 5 2 260000 Ramanathapur Mandapam 33271106802 GHS VALANTIIARAVAI 5 2 247000 Ramanathapur Mandapam 33271106802 GHS VALANTIIARAVAI 5 2 247000 Ramanathapur Mandapam 33270501301 PANDAPANENDAL 2 2 243000 105 Salem P.N.Palayam 33080201503 PUPS 2 2 245000 106 Salem Nangavalli 33081200201 NAGAR 2 2 254000 107 Salem Rural 33081200201 PUPS 2 2 264000 108 Salem Idappadi 3308180402 PUES AN 2 2 260000 <td></td> <td></td> <td>55221205201</td> <td></td> <td></td> <td>2</td> <td>224000</td> <td><u> </u></td>			55221205201			2	224000	<u> </u>
101 Pudukkottai Annavasal 33220203203 PUPS PARAMBUR 1 2 204000 Ramanathapur am Mandapam 33271100201 PUMS EARAKADU 2 2 260000 Ramanathapur am Mandapam 33271106802 GHS VALANTIJARAVAI 5 2 247000 Ramanathapur am Mandapam 33271106802 GHS VALANTIJARAVAI 5 2 247000 104 am Nainarkoil 33270501301 PANDAPANENDAL 2 2 243000 105 Salem P.N.Palayam 33080201503 PUPS V G PUDUR 2 2 245000 106 Salem Nangavalli 3308101401 KARUPUREDDIYUR 2 2 254000 107 Salem patii 3308060010 KONDALAMPATTY 2 2 254000 108 Salem patii 3308120201 PUPS ADAIYUR 2 2 260000 111 Salem Sankari 3308160902 CHETTTIPATTY 2 <t< td=""><td>99 Pudukkottai</td><td>Thirumayam</td><td>33220804801</td><td>ARANGIRANPATTI</td><td>2</td><td>2</td><td>295000</td><td>2</td></t<>	99 Pudukkottai	Thirumayam	33220804801	ARANGIRANPATTI	2	2	295000	2
Ramanathapur am Mandapam 33271100201 PUMS EARAKADU 2 2 260000 Ramanathapur am Mandapam 33271106802 GHS VALANTHARAVAI 5 2 247000 103 am Nainarkoil 33270106802 GHS VALANTHARAVAI 5 2 247000 104 am Nainarkoil 33270106802 GHS VALANTHARAVAI 5 2 243000 105 Salem P.N.Palayam 33080201503 PUPS VG PUDUR 2 2 280000 106 Salem Nangavalli 3308101010 KARUPUREDDIYUR 2 2 254000 107 Salem Salem Rural 3308002001 KAGARA 2 2 254000 108 Salem patii 3308100200 PUPS ADAIYUR 2 2 260000 109 Salem Idapadi 33081404801 PUMS VELLIAMPATTY 2 2 260000 110 Salem Sankari 33081500904 MATHAYAKUTTAI 2	00 Pudukkottai	Pudukkottai	33220503501	PUMS AGARAPATTI	2	2	225000	2
Ramanathapur am Mandapam 33271100201 PUMS FARAKADU 2 2 260000 Ramanathapur am Mandapam 33271106802 GHS VALANTHARAVAI 5 2 247000 103 am Mandapam 33270106802 GHS VALANTHARAVAI 5 2 247000 104 am Nainarkoil 33270106802 GHS VALANTHARAVAI 5 2 243000 105 Salem P.N.Palayam 33080201503 PUPS V G PUDUR 2 2 280000 106 Salem Nangavalli 33081010401 KARUPUREDDIYUR 2 2 254000 107 Salem Salem Rural 3308090201 NAGAR 2 2 254000 108 Salem pati 3308100200 PUPS NDAIYAR 2 2 245000 109 Salem nam 33081404801 PUMS VELLIAMPATTY 2 2 260000 110 Salem Sankari 33081800402 CHETTIPATTY 2 <	01 Pudukkottai	Annavasal	33220203203	PUPS PARAMBUR	1	2	204000	1
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	•	Mandapam	33271100201					2
Ramanathapur amNainarkoil33270501301 33270501301PUPS PANDAPANENDAL22243000105SalemP.N.Palayam33080201503PUPS V G PUDUR22280000106SalemNangavalli33081101401KARUPUREDDIYUR22245000107SalemSalem Rural3308090200NAGAR22254000107SalemSalem Rural33080600101KONDALAMPATTY22254000108Salempatti33081200201PUPS22245000109SalemIdappadi33081200201PUPS ADAIAMPATTY22245000109SalemIdappadi33081404801PUNS VELLIAMPATTY22245000110SalemSankari3308180402CHETTIPATTY22245000111SalemSankari3308180402CHETTIPATTY22245000111SalemSankari33081500904MATHAIYANKUTTAI22245000112SalemKolathur33230402501PUMS, CHOTTATHATI22245000114SivagangaiSingampunari3323100403PUPS, ARALIPATTI22228000114SivagangaiKallai33232040201PUMS, NANIRATATIA22228000115SivagangaiKallai33231020201PUPS, ARALIPATTI22228000116SivagangaiKallai <td< td=""><td></td><td>Mandapam</td><td>33271106802</td><td>GHS VALANTHARAVAI</td><td>5</td><td>2</td><td>247000</td><td>2</td></td<>		Mandapam	33271106802	GHS VALANTHARAVAI	5	2	247000	2
105 Salem P.N.Palayam 33080201503 PUPS V G PUDUR 2 2 280000 106 Salem Nangavalli 33081101401 KARUPUREDDIYUR 2 2 245000 107 Salem Salem Rural 33080902001 NAGAR 2 2 254000 108 Salem Panamarathu PUPS - - 2 254000 109 Salem Idappadi 33081200201 PUPS ADAIYUR 2 2 245000 109 Salem Idappadi 33081404801 PUPS ADAIYUR 2 2 260000 110 Salem nam 33081404801 PUPS ADAIYUR 2 2 245000 111 Salem Sankari 33081500904 MATHAIYANKUTTAI 2 2 245000 111 Sivagangai Kolathur 3323100403 PUPS - 2 245000 111 Sivagangai Kolathur 3323100403 PUPS, ARALIPATTI 2			33270501301		2	2	243000	2
106 Salem Nangavalli 33081101401 PUPS KARUPUREDDIYUR 2 2 245000 107 Salem Salem Rural 33080902001 NAGAR 2 2 254000 108 Salem Panamarathu PUPS 2 2 254000 109 Salem Idappadi 33080600101 KONDALAMPATTY 2 2 245000 109 Salem Idappadi 33081200201 PUPS ADAIYUR 2 2 245000 109 Salem Idappadi 33081200201 PUPS ADAIYUR 2 2 260000 111 Salem Nama 3081800402 PUES AN 2 2 245000 111 Salem Sankari 33081800402 CHETTTIPATTY 2 2 245000 111 Salem Kolathur 33081500904 MATHAIYANKUTTAI 2 2 245000 112 Salem Kolathur 33231000403 PUPS, ARALIPATTI 2 2 <t< td=""><td></td><td>P N Palavam</td><td></td><td></td><td></td><td>1</td><td></td><td>2</td></t<>		P N Palavam				1		2
107 Salem Salem Rural 33080902001 NAGAR 2 2 254000 108 Salem Panamarathu PUPS 2 2 254000 108 Salem Panamarathu PUPS 2 2 254000 109 Salem Idappadi 3308100101 KONDALAMPATTY 2 2 260000 109 Salem Idappadi 33081200201 PUPS ADAIYUR 2 2 260000 110 Salem Ayothiyapatti nam 33081404801 PUMS VELLIAMPATTY 2 2 260000 111 Salem Sankari 33081500904 MATHAIYANKUTTAI 2 2 245000 112 Salem Kolathur 33081500904 MATHAIYANKUTTAI 2 2 245000 113 Sivagangai Singampunari 33231000403 PUPS, ARALIPATTI 2 2 260000 114 Sivagangai Kalala 33231020401 PUPS, RAHINIPATTI 2 2 <t< td=""><td></td><td></td><td></td><td>PUPS</td><td></td><td></td><td></td><td>2</td></t<>				PUPS				2
108 Salem pati 33080600101 KONDALAMPATTY 2 2 254000 109 Salem Idappadi 33081200201 PUPS ADAIYUR 2 2 245000 100 Salem nam 33081200201 PUPS ADAIYUR 2 2 260000 110 Salem nam 33081404801 PUMS VELLIAMPATTY 2 2 260000 111 Salem Sankari 33081800402 CHETTIPATTY 2 2 245000 111 Salem Kolathur 33081500904 MATHAIYANKUTTAI 2 2 245000 112 Salem Kolathur 33230402501 PUMS, CHOTTATHATI 2 2 260000 113 Sivagangai Singampunari 33231000403 PUPS, ARALIPATTI 2 2 241000 114 Sivagangai Kallal 332310020401 PUPS, RAHINIPATTI 2 2 260000 115 Sivagangai Kallai 3323020403702 PUMS, VAN	07 Salem		33080902001		2	2	254000	2
Ayothiyapatti nam 33081404801 PUMS VELLIAMPATTY 2 2 260000 111 Salem Sankari 33081404801 PUMS VELLIAMPATTY 2 2 260000 111 Salem Sankari 33081800402 CHETTTIPATTY 2 2 245000 112 Salem Kolathur 33081500904 MATHAIYANKUTTAI 2 2 245000 113 Sivagangai m 33230402501 PUMS, CHOTTATHATI 2 2 260000 114 Sivagangai Singampunari 33231000403 PUPS, ARALIPATTI 2 2 241000 115 Sivagangai Kallal 33231020901 TTI 3 2 228000 116 Sivagangai Kalaiyarkoil 332300403702 PUMS, NAIRAVANPA 7 2 2 216000 117 Sivagangai Devakottai 33230601101 PUPS, ANAYADIVAYAL 2 2 106000 118 Sivagangai S.Pudur 332311030701 <	08 Salem		33080600101		2	2	254000	2
Ayothiyapatti nam33081404801PUMS VELLIAMPATTY22260000111SalemSankari33081404801PUES AN PUES AN722245000111SalemSankari33081800402CHETTTIPATTY22245000112SalemKolathur33081500904MATHAIYANKUTTAI22245000113Sivagangaim33230402501PUMS, CHOTTATHATI22260000114SivagangaiSingampunari33231000403PUPS, ARALIPATTI22241000115SivagangaiKallal33231202901TTI32228000116SivagangaiKalaiyarkoil3323004101PUPS, RAHINIPATTI22216000117SivagangaiMaliyarkoil3323060101PUPS, ANAYADIVAYAL22216000118SivagangaiDevakottai33231103101NAGAMANGALAM12166000120ThanjavurThiruvajvaru33211030701Pums- Maharajapuram22200704121ThanjavurMadukkur33211030701Pums - Pilliyarkoil Street22243040122ThanjavurPapanasam33210803201PUPS KATTABETTU22243040123The NilgirisKothagiri33110400816PUPS FIRST MILE22300000	09 Salem	Idappadi	33081200201	PUPS ADAIYUR	2	2	245000	2
111 Salem Sankari 33081800402 PUES AN CHETTTIPATTY 2 2 245000 112 Salem Kolathur 33081500904 MATHAIYANKUTTAI 2 2 245000 112 Salem Kolathur 33081500904 MATHAIYANKUTTAI 2 2 245000 113 Sivagangai m 33230402501 PUMS, CHOTTATHATI 2 2 260000 114 Sivagangai Singampunari 33231000403 PUPS, ARALIPATTI 2 2 241000 115 Sivagangai Kallal 33231202901 TTI 3 2 228000 116 Sivagangai Kalaiyarkoil 33230204401 PUPS, ARAHINIPATTI 2 2 216000 117 Sivagangai Devakottai 33230601101 PUPS,ANAYADIVAYAL 2 2 195000 118 Sivagangai Devakottai 332310300701 Pums-Maharajapuram 2 200704 120 Thanjavur Thiruvaiyaru 3321030704		Ayothiyapatti			2	2		1
112 Salem Kolathur 33081500904 MATHAIYANKUTTAI 2 2 245000 113 Sivagangai m 33230402501 PUMS, CHOTTATHATI 2 2 260000 114 Sivagangai Singampunari 33231000403 PUPS, ARALIPATTI 2 2 241000 114 Sivagangai Kallal 33231000403 PUPS, ARALIPATTI 2 2 228000 115 Sivagangai Kallal 33231202901 TTI 3 2 228000 116 Sivagangai Kalaiyarkoil 33230204401 PUPS, RAHINIPATTI 2 2 216000 117 Sivagangai Kalaiyarkoil 33230403702 PUMS, NANIKOTTAI 2 2 216000 118 Sivagangai Devakottai 33230601101 PUPS,ANAYADIVAYAL 2 2 200704 119 Sivagangai S.Pudur 33210300701 Pums- Maharajapuram 2 2 200704 120 Thanjavur Madukkur 3321030704 Pums – Pilliyarkoil Street 2 2 24000	11 Salem	Sankari	33081800402		2	2	245000	2
113 Sivagangai m 33230402501 PUMS, CHOTTATHATI 2 2 260000 114 Sivagangai Singampunari 33231000403 PUPS, ARALIPATTI 2 2 241000 115 Sivagangai Kallal 33231202901 TTI 3 2 228000 116 Sivagangai Kalaiyarkoil 33230204401 PUPS, RAHINIPATTI 2 2 220000 117 Sivagangai Kalaiyarkoil 33230403702 PUMS, VANNIKOTTAI 2 2 216000 117 Sivagangai m 33230601101 PUPS, ANAYADIVAYAL 2 2 195000 118 Sivagangai Devakottai 33231103101 PUMS, NAGAMANGALAM 1 2 166000 120 Thanjavur Thiruvaiyaru 33210300701 Pums- Maharajapuram 2 2 200704 121 Thanjavur Madukkur 33210300701 Pums- Pilliyarkoil Street 2 2 24000 122 Thanjavur Madukkur 33210803201 Pups- Pullaboothangudi 2 2 243040	12 Salem	Kolathur	33081500904		2	2	245000	2
115 Sivagangai Kallal 33231202901 TTI 3 2 228000 116 Sivagangai Kalaiyarkoil 33230204401 PUPS, RAHINIPATTI 2 2 220000 116 Sivagangai Kalaiyarkoil 33230204401 PUPS, RAHINIPATTI 2 2 220000 117 Sivagangai M 33230403702 PUMS, VANNIKOTTAI 2 2 216000 118 Sivagangai Devakottai 33230601101 PUPS, ANAYADIVAYAL 2 2 195000 119 Sivagangai S.Pudur 33210300701 Pums- Maharajapuram 2 2 200704 120 Thanjavur Thiruvaiyaru 33210300701 Pums- Maharajapuram 2 2 200704 121 Thanjavur Madukkur 33210803201 Pums- Pilliyarkoil Street 2 2 243040 122 Thanjavur Papanasam 33210803201 Pups- Pullaboothangudi 2 2 300000 123 The Nilgiris <td>13 Sivagangai</td> <td></td> <td>33230402501</td> <td>PUMS, CHOTTATHATI</td> <td>2</td> <td>2</td> <td>260000</td> <td>2</td>	13 Sivagangai		33230402501	PUMS, CHOTTATHATI	2	2	260000	2
International Kallal Butternational PUMS,N.VAIRAVANPA TTI Sivagangai Kallal Butternational Butternational	14 Sivagangai	Singampunari	33231000403	PUPS, ARALIPATTI	2	2	241000	1
Thiruppuvana m Thiruppuvana m 33230403702 PUMS, VANNIKOTTAI 2 2 216000 118 Sivagangai Devakottai 33230601101 PUPS,ANAYADIVAYAL 2 2 195000 119 Sivagangai S.Pudur 33231103101 NAGAMANGALAM 1 2 166000 120 Thanjavur Thiruvaiyaru 33210300701 Pums- Maharajapuram 2 200704 121 Thanjavur Madukkur 33210803201 Pups- Pullaboothangudi 2 2 243040 122 Thanjavur Papanasam 3321080903 PUPS KATTABETTU 2 2 300000 123 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 300000			33231202901	-	3	2	228000	. 2
Thiruppuvana m Thiruppuvana m 33230403702 PUMS, VANNIKOTTAI 2 2 216000 118 Sivagangai Devakottai 33230601101 PUPS,ANAYADIVAYAL 2 2 195000 119 Sivagangai S.Pudur 33231103101 NAGAMANGALAM 1 2 166000 120 Thanjavur Thiruvaiyaru 33210300701 Pums- Maharajapuram 2 200704 121 Thanjavur Madukkur 33210803201 Pups- Pullaboothangudi 2 2 243040 122 Thanjavur Papanasam 3321080903 PUPS KATTABETTU 2 2 300000 123 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 300000		Kalaiyarkoil	33230204401	PUPS, RAHINIPATTI	2	2	220000	2
118 Sivagangai Devakottai 33230601101 PUPS,ANAYADIVAYAL 2 2 195000 119 Sivagangai S.Pudur 33231103101 NAGAMANGALAM 1 2 166000 120 Thanjavur Thiruvaiyaru 33210300701 Pums- Maharajapuram 2 2 200704 121 Thanjavur Madukkur 33210803201 Pums – Pilliyarkoil Street 2 2 224000 122 Thanjavur Papanasam 33210803201 Pups- Pullaboothangudi 2 2 243040 123 The Nilgiris Kothagiri 33110300903 PUPS KATTABETTU 2 300000 124 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 300000		Thiruppuvana						2
119 Sivagangai S.Pudur 33231103101 PUMS, NAGAMANGALAM 1 2 166000 120 Thanjavur Thiruvaiyaru 33210300701 Pums- Maharajapuram 2 200704 121 Thanjavur Madukkur 33211303704 Pums- Maharajapuram 2 2 224000 122 Thanjavur Papanasam 33210803201 Pups- Pullaboothangudi 2 2 243040 123 The Nilgiris Kothagiri 33110300903 PUPS KATTABETTU 2 300000 124 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 2 300000	* * *	Devakottai			2			2
120 Thanjavur Thiruvaiyaru 33210300701 Pums- Maharajapuram 2 2 200704 121 Thanjavur Madukkur 33211303704 Pums – Pilliyarkoil Street 2 2 224000 122 Thanjavur Papanasam 33210803201 Pups- Pullaboothangudi 2 2 243040 123 The Nilgiris Kothagiri 33110300903 PUPS KATTABETTU 2 2 300000 124 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 2 300000				PUMS,				1
121 Thanjavur Madukkur 33211303704 Pums – Pilliyarkoil Street 2 2 224000 122 Thanjavur Papanasam 33210803201 Pups- Pullaboothangudi 2 2 243040 123 The Nilgiris Kothagiri 33110300903 PUPS KATTABETTU 2 2 300000 124 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 2 300000				• · · · · · · · · · · · · · · · · · · ·				2
122 Thanjavur Papanasam 33210803201 Pups- Pullaboothangudi 2 2 243040 123 The Nilgiris Kothagiri 33110300903 PUPS KATTABETTU 2 2 300000 124 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 2 300000		-f·						2
123 The Nilgiris Kothagiri 33110300903 PUPS KATTABETTU 2 2 300000 124 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 2 300000				· · · · · · · · · · · · · · · · · · ·				2
124 The Nilgiris Gudalur 33110400816 PUPS FIRST MILE 2 2 300000								1
				•				2
125 the mights Guaziur 55110400815 PUPS ATHIPALLY 2 2 300000								
126The NilgirisGudalur33110401108PUPS KOOVAMOOLA12217000		1						2

, ,

SI. No	Name of the District	Name of the block	UDISE School CODE	Name of the School	No. of classro oms	No	Total Estimated Cost(Rs.)	recomme ndation
127	The Nilgiris	Gudalur	33110401204	PUPS PADANTHORAI	3	2	180000	2
128	Theni	Chinnamanur	33250300907	PUMS Karitchipatty	2	2	175000	2
129	Theni	Periyakulam	33250600101	PUPS Genguvarpatty	2	2	170000	2
130	Theni	Chinnamanur	33250300601	PUPs Erasakkanayakanur	2	2	175000	2
131	Thiruvallur	Thiruvallur	33010100801	Pups Ikkadu	2	2	176000	2
132	Thiruvallur	Kadambathur	33010307201	Pups Vengathur Kandigai	2	2	200000	2
133	Thiruvallur	Ellapuram	33010401101	Pups Ariyapakkam	2	2	180000	2
134	Thiruvallur	Poonamallee	33010509101	Pups Sundarasholavaram	2	2	176000	2
135	Thiruvallur	Minjur	33010613501	Pups Chinnakavanam	2	2	200000	2
136	Thiruvallur	Sholavaram	33010705701	Pums Thirunilai	2	2	200000	2
137	Thiruvallur	Villivakkam	33010911101	Pups Alapakkam	2	2	140000	2
138	Thiruvallur	Tiruttani	33011104002	Gms S.Agraharam	2	2	200000	2
139	Thiruvallur	Pallipet	33011308201	Pups Pallipet Main	2	2	176000	1
140	Thiruvannamal ai	Cheyyar	33060202801	PUMS SENGAMPOONDI	2	2	227000	2
141	Thiruvannamal ai	Vandavasi	33060507809	PUPS-(URUDU) VANDAVASI	2	2	250000	2
142	Thiruvannamal ai Thiruvannamal	Vandavasi Kalasapakka	33060504501	PUPS-MANGANALLUR	2	2	250000	2
143	ai Thiruvannamal	m Tiruvannamal	33061003702	PUPS-LADAVARAM PUMS-	3	2	280000	2
144	ai Thiruvannamal	ai	33061402001	CHINNAKALLAPADI	2	2	279000	2
145	ai	Pudupalayam	33061501001	PUPS-BHANU NAGAR PUPS-	2	2	200000	2
146	Thiruvannamal ai	Chengam	33061603004	KANNAKURUKKAI COLONY	2	2	238000	2
147	Thiruvarur	Valangaiman	33200103101	PUMS - Kethanur	2	2	178000	1
148	Thiruvarur	Thiruthuraipo ondi	33200900902	PUMS Thirupathur	5	2	164600	2
149	Thiruvarur	Thiruvarur	33200503401	PUPS Solanganallur	2	2	160200	2
150	Thiruvarur	Muthupettai	33201000201	PUMS Aariyalur	2	2	146700	2
151	Thiruvarur	Nannilam	33200402803	PUPS-Poonthottam	4	2	149000	2
152	Thiruvarur	Mannargudi	33200605001	PUPS Ullikkottai North	2	2	150000	1
153	Thiruvarur	Koradachery Alwarthiruna	33200304301	PUMS Melaradhanallur	2	2	123200	2
154	Thoothukudi	gari	33280404501	PUMS North Authoor PUPS	2	2	181044	2
155	Thoothukudi	Karunkulam	33280201205	Sethuramalaingapuram	3	2	174583	1
156	Thoothukudi	Karunkulam	33280201302	PUMS Vallanadu South	2	2	196207	2
157	Thoothukudi	Pudur	33281205601	PUMS Ayan Karisalkulam	2	2	224000	2
158	Thoothukudi	Thoothukudi Rural	33281300501	PUPS Kcela Thattaparai	2	2	195000	2
159	Thoothukudi	Kovilpatti	33280801502	PUPS Pithapuram	2	2	200255	2
160	Thoothukudi	Udangudi	33280600801	PUMS Puthumanai PUMS	2	2	190000	2
161	Tirunelveli	Kadayanallur	33290504704	SUNDARESAHAPURAM	2	2	200000	1

SI. No	Name of the District	Name of the block	UDISE School CODE	Name of the School	No. of classro oms	No	Total Estimated Cost(Rs.)	recomme ndation
				PUPS				
162	Tirunelveli	Keelapavoor	33290705401	VERAKERALAMPUTHU R	3	2	260000	2
163	Tirunelveli	Mela Neelithanallu r	33291009603	PUMS KOOVACHIPATTI	2	2	230000	2
17.4	T	Mcla Neelithanallu	22201002702					
164	Tirunelveli	r	33291003702	PUPS THONUGAL	2	2	210000	1
165	Tirunelveli	Nanguneri	33291104002	PUPS RETTARKULAM	2	2	220000	1
166	Tirunelveli	Nanguneri	33291104001	PUPS MUNANJIPATTI PUPS	2	2	220000	2
167	Tirunelveli	Nanguneri	33291101601	RENGASAMUDRAM	2	2	220000	2
168	Tirunelveli	Palay Rural	33291206902	PANDARAKULAM	2	2	180000	1
169	Tirunelveli	Shengottai	33291600402	GPS KESAVAPURAM	2	2	200000	2
170	Tirunelveli	Vasudevanall	33291900901	VEERANPULIDEVAN PUPS NELKATTUMSEVAL	2	2	200000	2
170	Trunciven	ur Madathukula	33291900901	PUPS WEST	Z		200000	2
171	Tiruppur	m	33121001301	KOMARALINGAM	4	2	240500	2
172	Trichy	Andhanallur	33150102201	PUPS-KULUMANI	2	2	230000	2
173	Trichy	Andhanallur	33150101902	PUPS - AYILAPETTAI	2	2	195000	2
174	Trichy	Mannachanall ur	33150302702	PUPS - KEEZHAPATTI	2	2	195000	2
175	Trichy	Mannachanall ur	33150300104	PUPS - TIRUNAGAR	2	2	200000	2
176	Trichy	Marungapuri	33150604306	PUPS- THUVARANKURUCHI	2	2	205000	1
177	Trichy	Pullambadi	33150801801	PUPS - OOTATHUR	2	2	170000	1
178	Trichy	T.Pet	33151402001	PUPS - THUMBALAM	2	2	195000	2
179	Trichy	Vaiyampatti	33151601303	PUMS-V.POOSARIPATI	2	2	230000	2
180	Trichy	Vaiyampatti	33151600401	PUPS- THAVALAVERAMPATT	2	2	170000	2
100		, uryumpatti	33131000401	PUPS			110000	
181	Vellore	Gudiyatham	33041504902	POOSARIVALASAI	2	2	200000	1
182	Vellore	Madhanur	33041704702	PUPS SANKILIKUPPAM COLONY	2	2	220000	1
183	Vellore	Walaja West	33040503101	PUMS GUDIMALLUR	2	2	200000	1
184	Viluppuram	Kanai	33070803702	PUPS - Sellangkuppam	2	2	200000	2
185	Viluppuram	Marakkanam	33070606504	PUPS - Kalliyangkuppam	2	2	200000	2
186	Viluppuram	Olakkur	33070400901	PUMS - Vadasiruvalur	2	2	230000	2
187	Viluppuram	Rishivanthiya m	33071602101	PUMS - Marur	2	2	199000	2
188	Viluppuram	Sankarapura m	33071506502	PUPS - Thurur	2	2	199000	2
189	Viluppuram	Thirunavalur	33072203301	PUMS - Semmananthal	2	2	210000	2
190	Viluppuram	Ulundurpet	33072101101	PUMS - Adhiyur	2	2	200000	2
191	Viluppuram	Vikkravandi	33070905202	PUPS - Sengamedu	2	2	200000	1
192	Virudhunagar	Aruppukottai	33260100501	PUPS SOOLAKARAI	2	2	177193	2

SI. No	Name of the District	Name of the block	UDISE School CODE	Name of the School	No. of classro oms	No	Total Estimated Cost(Rs.)	recomme ndation
193	Virudhunagar	Aruppukottai	33260100101	PUMS VILLIPATHIRI	2	2	166536	2
194	Virudhunagar	Kariyapatti	33260304201	PUMS VAIYAMPATTI	2	2	225451	2
195	Virudhunagar	Virudhunagar	33260204201	PUPS AMATHUR	2	2	92852	2
					416	390	42458041	361

.

List of approved Boys' Toilets

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
THIRUVALLUR	POONAMALLEE	KAMMAVAR KANDIGAI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL KAMMAVAR KANDIGAI	33010500801	1	1
THIRUVALLUR	POONAMALLEE	NAZARATHPETTAI	Upper Primary with grades 1 to 8	PUMS, NAZARATHPET	33010502801	1	1
THIRUVALLUR	POONAMALLEE	THIRUVERKADU WARD-17 MANALI NEW	Primary only with grades 1 to 5 Primary only with grades 1	PUPS, SUNDARA SOZHAVARAM	33010509101	1	1
THIRUVALLUR	MINJUR	TOWN	to 5	PUPS, MANALI NEW TOWN	33010602301	1	1_
THIRUVALLUR	VILLIVAKKAM	VEERAPURAM	Primary only with grades 1 to 5	PUPS, NEW KANNIYAMMAN NAGAR	33010900804	1	1
THIRUVALLUR	VILLIVAKKAM	METTUKUPPAM	Upper Primary with grades 1 to 8	PUMS METTUKUPPAM (N)	33010901101	1	11
THIRUVALLUR	VILLIVAKKAM	PAMMADUKULAM	Primary only with grades 1 to 5	PUPS, PAMMADUKULAM	33010901501	1	1
THIRUVALLUR	VILLIVAKKAM	ALAPAKKAM	Primary only with grades 1 to 5	PUPS, ALAPAKKAM	33010911101	1	1
THIRUVALLUR	VILLIVAKKAM	PORUR	Primary only with grades 1 to 5	PUPS, PORUR	33010911301	1	11
THIRUVALLUR	VILLIVAKKAM	PORUR	Upper Primary with grades 1 to 8	PUMS, POOTHAPEDU	33010911302	1	1_
THIRUVALLUR	VILLIVAKKAM	THIRUMULLAI VOYAL	Primary only with grades 1 to 5	MUN PRI SCHOOL THIRUMULLAIVOYAL,AVADI	33010911907	1	1
THIRUVALLUR	PUZHAL	MANALI	Primary only with grades 1 to 5	PUPS, MANALI	33011002901	1	1
THIRUVALLUR	PUZHAL	PUZHAL	Upper Primary with grades 1 to 8	PUMS, PUZHAL	33011004501	1	1
THIRUVALLUR	PUZHAL	KATHIVAKKAM WARD-2	Upper Primary with grades 1 to 8	MUN. MID SCH, NEHRU NAGAR	33011004701	1	11
THIRUVALLUR	PUZHAL	THIRUVOTRIYUR WARD-18	Primary only with grades 1 to 5	MPS,KARGIL VETRI NAGAR	33011006605	1	1
THIRUVALLUR	THIRUVALANGADU	HARICHANDRAPUR AM	Upper Primary with grades 1 to 8	PUMS, HARICHANDRAPURAM	33011201301	1	1
THIRUVALLUR	PALLIPAT	POTHATURPET WARD-3	Upper Primary with grades 1 to 8	PUMS, RANGANATHAN STREET	33011307601	1	1
CHENNAI	GEORGE TOWN	WARD 02	Primary only with grades 1 to 5	CPS ERUKKANCHERRY	33020100204	1	1
KANCHEEPURAM	Kanchipuram	Ayyangarkulam	Primary only with grades 1 to 5	PUPS, Ayyangarkulam	33030102601	1	1
KANCHEEPURAM	Kundrathur	Padappai	Upper Primary with grades 1 to 8	PUMS, Melpadappai	33030503303	1	1
KANCHEEPURAM	Kundrathur	Athancheri	Upper Primary with grades	PUMS Athanancheri	33030504201	1	1

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
			1 to 8				
KANCHEEPURAM	Kundrathur	Mangadu Ward 2	Upper Primary with grades 1 to 8	PUMS, Mangadu	33030506001	1	1
KANCHEEPURAM	Kattankolathur	Kilambakkam	Primary only with grades 1 to 5	ADWPS, Kilambakkam	33030700201	1	1
KANCHEEPURAM	Kattankolathur	Nallambakkam	Primary only with grades 1 to 5	PUPS, Kandigai	33030701502	1	1
KANCHEEPURAM	St. Thomas Mount (Rural)	Kovilambakkam	Primary only with grades 1 to 5	PUPS, Kovilambakkam	33031400801	1	1
KANCHEEPURAM	St. Thomas Mount (Rural)	Medavakkam	Primary only with grades 1 to 5	PUPS, Medavakkam	33031401502	1	1
KANCHEEPURAM	St. Thomas Mount (Rural)	Thoraipakkam	Primary only with grades 1 to 5	PUPS, Okkiam Thorapakkam	33031401901	1	1
KANCHEEPURAM	St. Thomas Mount (Rural)	Perumbakkam	Primary only with grades 1 to 5	PUPS, Perumbakkam	33031402408	1	1
KANCHEEPURAM	St. Thomas Mount (Rural)	Sithalapakkam	Primary only with grades 1 to 5	PUPS, Sithalapakkam	33031402601	1	1
KANCHEEPURAM	St. Thomas Mount (Rural)	Thirusoolam	Primary only with grades 1 to 5	PUPS, Amman Nagar, Thirusoolam	33031402702	1	1
VELLORE	ARAKKONAM	VALARPURAM	Primary only with grades 1 to 5	PUPS, VALARPURAM (VILLAGE)	33040100501	1	1
VELLORE	KAVERIPAKKAM	SEMPEDU	Primary only with grades 1 to 5	PUPS, GURUVARAJAPET (M)	33040300607	1	1
VELLORE	WALAJAH WEST	NOVLAC	Primary only with grades 1 to 5	PUPS, VOC NAGAR SIPCOT	33040501903	1	1
VELLORE	WALAJAH WEST	CETTITHANGAL	Primary only with grades 1 to 5	PUPS, CETTITHANGAL	33040502201	1	1
VELLORE	WALAJAH EAST	WALAJA MUNICIPALITY	Upper Primary with grades 1 to 8	MMS, MIXED, WALAJAH	33040600305	1	1
VELLORE	WALAJAH EAST	WALAJA MUNICIPALITY	Primary only with grades 1 to 5	MPS, THOPPUKANA NORTH ARCOT	33040600308	1	
VELLORE	VELLORE RURAL	KARUKAMPUTHUR	Upper Primary with grades 1 to 8	ADWMS, KARUGAMPATHUR	33040901002	1	1
VELLORE	GUDIYATTAM	AGRAVARAM	Primary only with grades 1 to 5	PUPS, AGRAVARAM	33041501101	. 1	1
VELLORE	PERNAMBUT	RAJAKKAL	Upper Primary with grades 1 to 8	PUMS, ODDARPALAYAM	33041602002	1	
VELLORE	MADHANUR	AMBUR	Upper Primary with grades 1 to 8	MMS, BETHLEHEM, AMBUR	33041703410	1	
VELLORE	ALANGAYAM	PUDHUR NADU	Upper Primary with grades 1 to 8	PUMS, VAZHUTHALAMPATTU	33041801002	1	
VELLORE	NATRAMPALLI	THOPPALA GUNDA	Primary only with grades 1	PUPS, THUMBERI	33041901905		1

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
			to 5				
VELLORE	THIRUPATTUR	ANDIYAPPANUR	Upper Primary with grades 1 to 8	PUMS, KALIYAMMAN KOIL NAGAR	33042101602	1	1
DHARMAPURI	PENNAGARAM	GOWRICHETTIPATT I	Upper Primary with grades 1 to 8	PUMS GOWRICHETTIPATTI	33050304701	1	1
DHARMAPURI	KARIMANGALAM	SONNAMPATTI	Upper Primary with grades 1 to 8	PUMS SONNAMPATTI	33050511101	1	1
TIRUVANNAMAL AI	TIRUVANNAMALAI	ISUKKAZHI KATTERI	Upper Primary with grades 1 to 8	PUMS-ISUKAZHIKATTERI	33061402801	1	1
TIRUVANNAMAL AI	TIRUVANNAMALAI	KALLANAI	Upper Primary with grades 1 to 8	PUMS-KALLANAI	33061403201	1	1
TIRUVANNAMAL AI	CHENGAM	KUPPANATHAM	Primary only with grades 1 to 5	PUPS-KUPPANATHAM	33061604101	1	1
TIRUVANNAMAL AI	CHENGAM	THALAVA NAICKAN PETTAI	Upper Primary with grades 1 to 8	PUMS-THALAVA NAICKAN PETTAI	33061608101	1	1
TIRUVANNAMAL AI	CHENGAM	VALAYAMPATTU	Upper Primary with grades 1 to 8	PUMS-VALAYAMPATTU	33061608901	1	1
TIRUVANNAMAL AI	THANDRAMPET	CHINNIYAMPETTAI	Upper Primary with grades 1 to 8	PUMS-CHINNIYAMPETTAI	33061701301	1	1
TIRUVANNAMAL AI	THANDRAMPET	THANIPADI	Primary only with grades 1 to 5	PUPS(NORTH)-THANIPADI	33061708102	1	1
TIRUVANNAMAL AI	THANDRAMPET	VAZHAVACHANUR	Upper Primary with grades 1 to 8	PUMS-VAZHAVACHANUR	33061709501	1	1
TIRUVANNAMAL AI	JAWADHU HILLS	ARASUVELI	Upper Primary with grades 1 to 8	GTRMS-ARASUVELI	33061800201	1	1
VILUPPURAM	MELMALAYANUR	PERUVALUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL PERUVALUR	33070106001	1	1
VILUPPURAM	GINGEE	MAZHAVANTHANG AL	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL MAZHAVANTHANGAL	33070204101	1	1
VILUPPURAM	GINGEE	GINGEE	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL GINGEE	33070207001	1	1
VILUPPURAM	MUGAIYUR	ARUNAPURAM	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL ARUNAPURAM	33071203801	1	1
VILUPPURAM	MUGAIYUR	KANDACHIPURAM	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL KANDACHIPURAM	33071204901	1	1
VILUPPURAM	MUGAIYUR	PERICHANUR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL PERICHANUR	33071205501	1	1
VILUPPURAM	MUGAIYUR	SU. PILRAMPATTU	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL SU.PILRAMPATTU	33071207801	1	1
VILUPPURAM	THIRUKOILUR	KODIYUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL KODIYUR	33071300701	1	1
VILUPPURAM	THIRUKOILUR	EDAIYUR	Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL	33071303301	1	1

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
			1 to 8	EDAIYUR			
	THIRUVENNAINALL		Primary only with grades 1	PANCHAYAT UNION PRIMARY			
VILUPPURAM	UR	ARUNKURIKAI	to 5	SCHOOL ARUNGURUKKAI	33071400301	1	1
	THIRUVENNAINALL		Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL			
VILUPPURAM	UR	AMOOR	1 to 8	AMOOR	33071400601	1	1
	THIRUVENNAINALL		Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL			
VILUPPURAM	UR	PENNAIVALAM	1 to 8	PENNAIVALAM	33071401901	1	1
	THIRUVENNAINALL		Primary only with grades 1	PANCHAYAT UNION PRIMARY	22071402401		
VILUPPURAM	UR	ANATHUR	to 5 Upper Primary with grades	SCHOOL ANATHUR	33071403401	1	1
	SANKARAPURAM	S.KULATHUR	1 to 8	PANCHAYAT UNION MIDDLE SCHOOL,S.KULATHUR	22071500501		
VILUPPURAM	SANKARAPURAM	S.KULATHUK	Primary only with grades 1	PANCHAYAT UNION PRIMARY	33071500501	1	<u>l</u>
VILUPPURAM	SANKARAPURAM	ARASAMPATTU	to 5	SCHOOL, ARASAMPATTU	33071502401	1	
VILUITORAM	SANKAKAI OKAM		Upper Primary with grades	GOVERNMENT TRIBAL RESIDENTIAL	55071502401		1
VILUPPURAM	SANKARAPURAM	KILAKADU	1 to 8	MIDDLE SCHOOL KILAKADU	33071507601	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL	35071507001		<u>.</u>
VILUPPURAM	RISHIVANTHIYAM	ARKAVADI	1 to 8	ARKAVADI	33071600301	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL			
VILUPPURAM	RISHIVANTHIYAM	SEERPANANTHAL	1 to 8	ILAYANARUPPAM	33071601502	1	1
· · · · · · · · · · · · · · · · · ·			Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL	· · · · · · · · · · · · · · · · · · ·		
VILUPPURAM	RISHIVANTHIYAM	LA.GUDALUR	1 to 8	LA.GUDALUR	33071603601	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL			
VILUPPURAM	RISHIVANTHIYAM	PASAR	1 to 8	PASAR	33071604401	1 .	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE			-
VILUPPURAM	KALLAKURICHI	KALLAKURICHI	1 to 8 ·	SCHOOL, KALLAKURICHI	33071701310	1	1
				GOVERNMENT TRIBAL WELFARE		ļ	
			Primary only with grades 1	RESIDENTIAL PRIMARY SCHOOL			
VILUPPURAM	KALLAKURICHI	KANDIKKAL	to 5	KOTTAPUTHUR	33071706801	1	1
	THINACADURCAM	KONGARAYAPALA	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE	22071002005		
VILUPPURAM	THIYAGADURGAM	YAM	Primary only with grades 1	SCHOOL, PUDU UCHIMEDU PANCHAYAT UNION PRIMARY	33071903905		1
VILUPPURAM	ULUNDURPET	KATTUEDAIYAR	to 5	SCHOOL,KATTUEDAIYAR	33072100201	1	
VILUFFURAN		MATTOLDATTAK	Upper Primary with grades	PANCHAYAT UNION MIDDLE	33072100201	I	1
VILUPPURAM	ULUNDURPET	KATTUSELLUR	1 to 8	SCHOOL,KATTUSELLUR	33072102201	1	1
VILOTIORAM			Upper Primary with grades	PANCHAYAT UNION MIDDLE	55072102201		1
VILUPPURAM	ULUNDURPET	ELLAIGIRAMAM	1 to 8	SCHOOL, ELLAIGIRAMAM	33072102501	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE	50012102001	•	1
VILUPPURAM	ULUNDURPET	VADAKURUMBUR	1 to 8	SCHOOL, VADAKURUMBUR	33072102801	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE			
VILUPPURAM	ULUNDURPET	PINNALVADI	1 to 8	SCHOOL, PINNALVADI	33072103701	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE			
VILUPPURAM	ULUNDURPET	PUGAIPATTI	1 to 8	SCHOOL, PUGAIPATTI	33072104801	1	1

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
VILUPPURAM	ULUNDURPET	M.KUNNATHUR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL M. KUNNATHUR	33072105101	1	1
VILUPPURAM	ULUNDURPET	KANAYAR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, KANAYAR	33072106501	1	1
VILUPPURAM	THIRUNAVALUR	ADHANUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, KILAPPALAYAM	33072201302	1	1
SALEM	GANGAVALLI	THAMMAMPATTI	Upper Primary with grades 1 to 8	PUMS 12THWARD THAMMAMPATTI	33080100601	1	1
SALEM	KADAYAMPATTY	KANJANAICKENPA TTI	Primary only with grades 1 to 5	PUES KANJANAICKENPATTI	33080302302	1	1
SALEM	KONGANAPURAM	KURUMAPPATTY	Upper Primary with grades 1 to 8	PUMS NACHIYUR	33080500901	1	1
SALEM	PANAMARATHUPA TTY	NEIKKARAPATTI	Primary only with grades 1 to 5	PUES NEIKKARAPATTI	33080600201	1	1
SALEM	VEERAPANDI	PUTTHUR AGRAHARAM	Upper Primary with grades 1 to 8	PUMS SK VALAVU	33080801502	<u> </u>	1
SALEM	VEERAPANDI	ILAMPILLAI	Primary only with grades 1 to 5	PUES ILAMPILLAI	33080802101	1	11
SALEM	VEERAPANDI	PALAMPATTI	Upper Primary with grades 1 to 8	PUMS PALAMPATTI	33080805201	1	1_
SALEM	VEERAPANDI	IRUSANAMPATTI	Upper Primary with grades 1 to 8	PUMS IRUSANAMPATTI	33080805301	1	1
SALEM	SALEM RURAL	ENAMVEDUGATTH AMPATTI	Primary only with grades 1 to 5	PUES VEDUGATHAMPATTI	33080900501	1	1
SALEM	SALEM RURAL	ANDIPATTI	Upper Primary with grades 1 to 8	PUMS ANDIPATTI	33080902701	1	1
SALEM	THARAMANGALAM	THARAMANGALAM TOWN	Primary only with grades 1 to 5	PUES SANATTHI STREET	33081000701	1	1
SALEM	THARAMANGALAM	THARAMANGALAM TOWN	Upper Primary with grades 1 to 8	PUMS THARAMANGALAM	33081000708	11	1
SALEM	THARAMANGALAM	RAMIREDDIPATTI	Upper Primary with grades 1 to 8	PUMS KATHIMARANVALAVU	33081001002	1	11
SALEM	THARAMANGALAM	DESAVILAKKU	Upper Primary with grades 1 to 8	PUMS ATTAYAMPATTIYAN VATTAM	33081001604	1	1
SALEM	THARAMANGALAM	DESAVILAKKU	Upper Primary with grades 1 to 8	PUMS LAKSHMAYUR	33081001607	1	1
SALEM	THARAMANGALAM	KARUKKALVADI	Upper Primary with grades 1 to 8	PUMS PERIYAKARUKKALVADI	33081001805	1	1
SALEM	NANGAVALLI	NANGAVALLI (TOWN)	Upper Primary with grades 1 to 8	PUMS NANGAVALLI	33081100504	1	1
SALEM	NANGAVALLI	SOORAPPALLI	Upper Primary with grades 1 to 8	PUMS CHINNANOOR	33081100803	1	1

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
			Upper Primary with grades				
SALEM	ATTUR	ATTUR TOWN	1 to 8	M.M.S. GANDHI NAGAR	33081302315	1	1
	AYOTHIYAPATTINA	AYOTHIAPATTINA	Primary only with grades 1		22221424		
SALEM	M	M	to 5	PUES AYOTHIYAPATINAM	33081401501	l	1
	AYOTHIYAPATTINA	ТНАТНАМРАТТҮ	Upper Primary with grades	PUMS ALLIKKUTTAI	33081405001		
SALEM	M AYOTHIYAPATTINA		1 to 8 Primary only with grades 1		33081403001		1
SALEM	M	AMMAPET	to 5	PUES KAMARAJ NAGAR COLONY	33081405202	,	
SALEM			Primary only with grades 1	T OLS KAMARAJ NAGAR COLONT	33081403202		1
SALEM	OMALUR	KAMALAPURAM	to 5	P.U.E.S. KAMALAPURAM	33081700201	1	1
SALEM	OMALOK	KAMALAI UKAM	Primary only with grades 1		55081700201	1	I
SALEM	VALAPPADI	S.VALAPPADI	to 5	P.U.E.S. VALAPPADI	33081901501	1	1
SALLM	VALATADI	0. THERITIAL	Primary only with grades 1	MUNICIPAL PRIMARY SCHOOL FORT			1
NAMAKKAL	NAMAKKAL	NAMAKKAL	to 5	NAMAKKAL	33090100402	1	1
		MALAIYAMPALAY	Primary only with grades 1	PANCHAYAT UNION PRIMARY	00070100102	•	
NAMAKKAL	VENNANDUR	AM	to 5	SCHOOL MALAIYAMPALAYAM	33090801301	1	1
		SENGODAMPALAY	Upper Primary with grades	MUNICIPAL MIDDLE SCHOOL			_ _
NAMAKKAL	TRIUCHENGODU	AM	1 to 8	NESAVALAR COLONY	33091000702	1	1
		· · · · · · · · · · · · · · · · · · ·	Primary only with grades 1	MUNICIPAL PRIMARY SCHOOL JKK			
NAMAKKAL	PALLIPALAYAM	KOMARAPALAYAM	to 5	SUNDRAM NAGAR	33091100128	1	1
			Primary only with grades 1	PANCHAYAT UNION PRIMARY			· · · · · · · · · · · · · · · · · · ·
NAMAKKAL	PALLIPALAYAM	PALLIPALAYAM	to 5	SCHOOL VEDIYARASAMPALAYAM	33091100605	1	1
		PALLIPALAYAM	Primary only with grades 1	PANCHAYAT UNION PRIMARY			
NAMAKKAL	PALLIPALAYAM	AGRAHARAM	to 5	SCHOOL AVARANGADU	33091101201	1	- 1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE			
ERODE	BHAVANI SAGAR	NALLUR	1 to 8	SCHOOL, NEHRU NAGAR	33100401003	1	1
			Primary only with grades 1	PANCHAYAT UNION PRIMARY			
ERODE	ERODE	PERIYASEMUR	to 5	SCHOOL, CHINNASEMUR	33100702501	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE			
ERODE	PERUNDURAI	PERUNDURAI	1 to 8	SCHOOL, PERUNDURAI WEST	33101503114	1	1
			Primary only with grades 1	PANCHAYAT UNION PRIMARY			
THE NILGIRIS	GUDALUR	DEVALA	to 5	SCHOOL PULIYAMPARA	33110401312	l	1
·		49.GOUNDAMPALA	Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL		_	
COIMBATORE	P.N.PALAYAM	YAM	1 to 8	EDAYARPALAYAM	33120301502		1
001 /D / 2000	DEDUD		Upper Primary with grades		22120400110	,	-
COIMBATORE	PERUR	KURICHI	1 to 8	KONAVAIKALPALAYAM	33120400112		1
CONTRACTOR	DEDUD	KUDICUI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL GANESAPURAM	22120400112	, i	
COIMBATORE	PERUR	KURICHI	Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL	33120400113		1
COMPATORE	PERUR	KUNIAMUTHUR	1 to 8	KUNIYAMUTHUR	33120400401	1	
COIMBATORE		KUNIAMUTHUK	Primary only with grades 1	PANCHAYAT UNION PRIMARY	33120400401	1	<u>l</u>
COIMBATORE	PERUR	KUNIAMUTHUR	to 5	SCHOOL SUGUNAPURAM	33120400403	,	1

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
COMPATORE			Upper Primary with grades		22120500412		
COIMBATORE	S.S.KULAM	SINGANALLUR	1 to 8	CMS KRISHNAPURAM	33120500413	1	1
COIMBATORE	S.S.KULAM	S.S.KULAM	Primary only with grades 1 to 5	PUPS SSKULAM	33120500601	1	11
COIMBATORE	POLLACHI NORTH	RAMAPATTINAM	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL R.GOPALAPURAM	33121102807	1	1
COIMBATORE	POLLACHI SOUTH	POLLACHI MPL WARD 18	Upper Primary with grades 1 to 8	MUNICIPAL MIDDLE SCHOOL RAMAKRISHNA NAGAR	33121204701	1	1
COIMBATORE	SULUR	ARASUR	Primary only with grades 1 to 5	PANCHYAT UNION PRIMARY SCHOOL ARASUR	33122101801	1	1
DINDIGUL	KODIKANAL	POOMBARAI	Primary only with grades 1 to 5	PUPS,POOMBARAI	33130500301	1	1
DINDIGUL	KODIKANAL	MANNAVANUR	Primary only with grades 1 to 5	PUPS,MANNAVANUR	33130500403	1	1
DINDIGUL	ODDANCHATRAM	ODDANCHATRAM	Upper Primary with grades 1 to 8	PUMS, GANDHINAGAR	33130800901	1	11
DINDIGUL	VADAMADURAI	PUTTHUR	Upper Primary with grades 1 to 8	PUMS, PUTTHUR	33131301701	1	1
KARUR	THANTHONI	SANAPRETTI	Primary only with grades 1 to 5	P.U.E.SCHOOL, NARIKATTIYUR	33140201401	1	1
TIRUCHIRAPPALL I	ANDHANALLUR	THIRUVALARSOLAI	Primary only with grades 1 to 5	PUPS, THIRUVALARSOLAI	33150100401	1	1
TIRUCHIRAPPALL I	MANIKANDAM	INAMKULATHUR	Primary only with grades 1 to 5	PUPS (BOYS), INAMKULATHUR	33150400201	1	1
TIRUCHIRAPPALL	MANAPPARAI	KARUPPUR	Upper Primary with grades 1 to 8	PUMS,KARUTHAKODANGIPATTY	33150502102	1	1
TIRUCHIRAPPALL I	THIRUVERUMBUR	THIRUVERUMBUR	Upper Primary with grades 1 to 8	PUMS,KAMARAJ NAGAR	33151103011	1	1
TIRUCHIRAPPALL I	VAIYAMPATTY	VAIYAMPATTY	Upper Primary with grades 1 to 8	PUMS,VAIYAMPATTI	33151601801	1	1
PERAMBALUR	ALATHUR	PADALUR	Primary only with grades 1 to 5	PUES PADALUR	33160603001	1	1
PERAMBALUR	ALATHUR	MELAMATHUR	Primary only with grades 1 to 5	PUPS MELAMATHUR	33160605401	1	1
CUDDALORE	ANNAGRAMAM	ALAGUPERUMALK UPPAM	Upper Primary with grades 1 to 8	PUMS REDDIKUPPAM	33180200201	1	1
CUDDALORE	PANRUTI	VISOOR	Upper Primary with grades 1 to 8	PUMS VISOOR	33180302901	1	1
CUDDALORE	NALLUR	CHOZHANAGAR	Upper Primary with grades 1 to 8	PUMS CHOZHANAGAR	33180708901	1	11
NAGAPATTINAM	NAGAPATTINAM	VADAKKU POIKAINALLUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, KEECHANKUPPAM	33190101404	1	1

•

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
······································			Upper Primary with grades	MUNICIPAL MIDDLE SCHOOL,			
NAGAPATTINAM	NAGAPATTINAM	NAGOOR (URBAN)	1 to 8	PATTINACHERRY	33190103006	1	1
		KANAGANAMPUTH	Upper Primary with grades	PANCHAYATH UNION MIDDLE			
NAGAPATTINAM	MAYILADUDURAI	UR	1 to 8	SCHOOL NIDUR NEIVASAL	33190703302	1	1
			Primary only with grades 1	PANCHAYAT UNION PRIMARY			
NAGAPATTINAM	SIRKALI	VANAGIRI	to 5	SCHOOL VANAGIRIKUPPAM	33191004201	1	1
			Primary only with grades 1	PANCHAYAT UNION PRIMARY			
NAGAPATTINAM	KOLLIDAM	PALAYAPALAYAM	to 5	SCHOOL KODAKKARAMOOLAI	33191102902	1	1
			Primary only with grades 1				
THIRUVARUR	KORADACHERY	MANAKKAL	to 5	PUPS, MANAKKAL AYYAMPETTAI	33200301801	1	1
	THIRUVIDAIMARU	THIRUBUVANAM	Primary only with grades 1	PANCHAYAT UNION PRIMARY			
THANJAVUR	DHUR	(URBAN)	to 5	SCHOOL THIRUBUVANAM (WEST)	33211005402	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL			
THANJAVUR	PATTUKKOTTAI	RAJAMADAM	1 to 8	KEEZHATHOTTAM	33211202202	1	1
	······································		Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL			
THANJAVUR	PERAVURANI	EDAIYATHI	1 to 8	EDAYATHI KONAR STREET	33211400406	1	1
			Primary only with grades 1	PANCHAYAT UNION PRIMARY			
PUDUKKOTTAI	ANNAVASAL	ANNAVASAL	to 5	SCHOOL. ANNAVASAL	33220205901	1	1
			Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL			•
PUDUKKOTTAI	VIRALIMALAI	MEBOOTHAGUDI	1 to 8	MEBOOTHAKUDI	33220302001	1	1
TODORIGITH	GANDARVAKKOTT		Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL			
PUDUKKOTTAI	AI	NODIYUR	1 to 8	SOLAGAMPATTI	33220400101	1	1
TODORROTTIN			Primary only with grades 1	MUNICIPAL PRIMARY SCHOOL	55220,00101		
PUDUKKOTTAI	PUDUKKOTTAI	PUDUKKOTTAI-22	to 5	RAJAGOPALAPURAM PUDUKKOTTAI	33220505101	1	1
TODORROTTAL	TODORROTTIN		Upper Primary with grades	PANCHAYAT UNION MIDDLE SCHOOL	55220505101		
PUDUKKOTTAI	ARANTHANGI	MANGUDI	1 to 8	MANGUDI	33221105101	1	1
FUDUKKUTTAI	ARANTHANOI	MANGODI	Primary only with grades 1		55221105101	1	1
MADUDAT	ALANGANALLUR	PALAMEDU	to 5	P.U.P.S, PALAMEDU	33240103201	1	1
MADURAI	ALANGANALLOK	TALAMEDO	Primary only with grades 1	1.0.1.5, 1 ALAMEDO	55240105201	1	1
	T.KALLUPATTI	PERAIYUR TOWN	to 5	P.U.P.S, PERAIYUR	33240403901	1	1
MADURAI	I.KALLUPATTI	MADURAI COR.	Primary only with grades 1	F.U.F.S, FERALIUR	33240403901	1	<u> </u>
MADUBAL	MAINIDALDAST		to 5	P.U.P.S, VANDIYUR	33240602901	1	
MADURAI	MADURAI EAST	WARD29		F.U.F.S, VANDITUK	33240002901	1	1
	MADUDALINDOT	CHETTHZIH ANA	Primary only with grades 1		22240701001	.	
MADURAI	MADURAI WEST	CHETTIKULAM	to 5	P.U.P.S, THIRUMALPURAM	33240701001	1	<u>1</u>
		PARAVAI WARD	Primary only with grades 1		12240508201	.	
MADURAI	MADURAI WEST	5	to 5	P.U.P.S, PARAVAI	33240708201	I	1
 		PARAVAI WARD	Primary only with grades 1	DUDC ONTUNANOODTUNANOOD	2224072020		
MADURAI	MADURAI WEST	15	to 5	P.U.P.S, SATHIYAMOORTHY NAGAR	33240709201	1	1
			Upper Primary with grades				
MADURAI	MELUR	KEELAIYUR	1 to 8	P.U.M.S, KEELAIYUR	33240800501	1	1
			Primary only with grades 1				
MADURAI	MELUR	A.VALLALAPATTI	to 5	P.U.P.S, A.VALLALAPATTI	33240801505	I	1

.

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
			Upper Primary with grades		22241000(01	1	-
MADURAI	THIRUMANGALAM	UCHAPATTI MANNADI	1 to 8	P.U.M.S, UCHAPPATI	33241000601	I	1
MADURAI	T. VADIPATTI	MANGALAM	Upper Primary with grades 1 to 8	P.U.M.S, MANNADI MANGALAM	33241301401	1	1
VIRUDHUNAGAR	KARIYAPATTI	MILLCOLONY	Upper Primary with grades 1 to 8	P.U.M.S.MILL COLONY	33260306601	1	1
VIRUDHUNAGAR	WATRAP	THAMBIPATTI	Upper Primary with grades 1 to 8	P.U.M.S.THAMBIPATTI	33260802501	1	1
VIRUDHUNAGAR	SIVAKASI	SIVAKASI (WARD- 02)	Primary only with grades 1 to 5	P.U.P.S THIRUTHANGAL MAIN	33260910501	1	1
VIRUDHUNAGAR	SIVAKASI	SIVAKASI (WARD- 02)	Primary only with grades 1 to 5	P.U.P.S NARAYANAPURAM	33260910522	1	1
RAMANATHAPUR AM	KADALADI	KEELAMUNDAL	Upper Primary with grades 1 to 8	PUMS, KEELAMUNDAL	33270807601	1	1
RAMANATHAPUR AM	MANDAPAM	KARAIYUR	Primary only with grades 1 to 5	PUPS, KARAIYUR	33271100601	1	1
RAMANATHAPUR AM	MANDAPAM	MANDAPAM	Primary only with grades 1 to 5	PUPS, MANDAPAM	33271107201	1	1
THOOTHUKKUDI	TUTICORIN	THOOTHUKUDI	Primary only with grades 1 to 5	MPS, SAMUVELPURAM	33280100117	1	1
THOOTHUKKUDI	SRIVAIKUNTAM	MUKKANI	Primary only with grades 1 to 5	PUPS MUKKANI	33280306701	I	1
THOOTHUKKUDI	VILATHIKULAM	VILATHI-WARD-15	Primary only with grades 1 to 5	PUPS VILATHIKULAM	33281109901	1	1
TIRUNELVELI	PALAYAMKOTTAI RURAL	REDIARPATTI	Primary only with grades 1 to 5	PUP S REDIARPATTI	33291203501	1	1
TIRUNELVELI	SANKARANKOVIL	VEERASIGAMANI	Primary only with grades 1 to 5	PUPS VEERASIGAMANI	33291502401	1	1
TIRUNELVELI	SHENGOTTAI	SAMBAVAR VADAKARAI	Primary only with grades 1 to 5	GPS,SVKARAI MELUR	33291601001	1	1
TIRUNELVELI	TIRUNELVELI URBAN	WARD 48	Upper Primary with grades 1 to 8	COPORATION MIDDLE SCHOOL,RAHMANPETTAI	33292104801	1	1
KANNIYAKUMAR I	AGASTHEESWARA M	KOTTARAM	Primary only with grades 1 to 5	GPS,KOTTARAM	33300201003	1	1
KANNIYAKUMAR I	AGASTHEESWARA M	WARD-6	Upper Primary with grades 1 to 8	GMS,KRISHNANKOIL	33300201601	<u>l</u> .	1
KANNIYAKUMAR I	AGASTHEESWARA M	WARD-38	Primary only with grades 1 to 5	KDVP GOVT PRIMARY S-KOTTAR	33300204801	1	1
KANNIYAKUMAR	RAJAKKAMANGAL AM	THENGAMPUTHOO R	Primary only with grades 1 to 5	GPS,THENGAMPUTHOOR	33300300203	1	1
KANNIYAKUMAR I	RAJAKKAMANGAL AM	NEENDAKARAI B	Primary only with grades 1 to 5	GPS, EATHAMOZHI	33300300605	1	1

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
KANNIYAKUMAR		FAUDEOAN	Primary only with grades 1				Tonet
	MUNCHIRAI	EZHUDESAM	to 5	GOVT.P.S-EZHUDESAPATTU	33300900203	1	1
KRISHANAGIRI	KRISHNAGIRI	KATTINAYANAPAL LI	Primary only with grades 1 to 5	PUPS KATTINAYANAPALLI	33311004201	1	1
KRISHANAGIRI	VEPPANAHALLI	KORALNATHAM	Primary only with grades 1 to 5	PUPS KORALNATHAM	33311304101	1	1
KRISHANAGIRI	HOSUR	HOSUR	Upper Primary with grades 1 to 8	PUMS HOSUR-TAMIL	33311504401	1	1
KRISHANAGIRI	HOSUR	HOSUR	Upper Primary with grades 1 to 8	PUMS HOSUR TELUGU&KANADA	33311504466	1	1
KRISHANAGIRI	HOSUR	KUMUDEPALLI	Upper Primary with grades 1 to 8	PUMS KUMUDEPALLI - TELUGU	33311505701	1	1
KRISHANAGIRI	KELAMANGALAM	KELAMANGALAM	Primary only with grades 1 to 5	PUPS KELAMANGALAM - TAMIL	33311604601	1	1
KRISHANAGIRI	KELAMANGALAM	SONNENAYAKANA HALLI	Upper Primary with grades 1 to 8	PUMS-SONNE NAYAKKANAHALLI	33311609301	1	1
KRISHANAGIRI	THALLY	CHAKALAPALLY	Upper Primary with grades 1 to 8	PUMS CHAKALAPALLY	33311703101	1	1
KRISHANAGIRI	THALLY	KODAGARAI	Upper Primary with grades 1 to 8	PUMS KODAGARAI	33311707001	1	1
Ariyalur	T.PALUR	UDAYANNATHAM	Upper Primary with grades 1 to 8	PUMS KODALI	33320101303	1	1
Ariyalur	T.PALUR	MUTHUVANCHERI	Upper Primary with grades 1 to 8	PUMS-MUTHUVANCHERI	33320102401	1	1
Ariyalur	T.PALUR	KASANKOTTAI	Upper Primary with grades 1 to 8	PUMS-KASANKOTTAI	33320102901	1	1
Ariyalur	T.PALUR	THIRUPURANTHAN	Primary only with grades 1 to 5	PUES-THIRUPURANTHAN	33320103501	1	1
Ariyalur	ARIYALUR	NAGAMANGALAM	Primary only with grades 1 to 5	PUES NAGAMANGALAM	33320302201	1	1
Ariyalur	THIRUMANUR	KALLUR	Upper Primary with grades 1 to 8	PUMS KALLUR	33320605701	1	1
Tiruppur	TIRUPUR	WARD 59,60	Upper Primary with grades 1 to 8	PUMS ANDIPALAYAM	33330700104	I	1
Tiruppur	TIRUPUR	WARD 14,16,17,18,19,	Primary only with grades 1 to 5	PUPS POOLUVAPATTI	33330701210	1	1
Tiruppur	TIRUPUR	WARD 20,28,29,30	Primary only with grades 1 to 5	PUPS PICHAMPALAYAM PUDUR	33330701502	1	1
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS ANUPARPALAYAM PUDUR	33330701604	1	11
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS RANGANATHAPURAM	33330701606	1	1

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Boys Toilet
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS 15 VELAMPALAYAM	33330701608	1	1
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS SIRUPOOLUVAPATTI	33330701609	1	1
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS SAMUNDIPURAM	33330701610	1	1
Tiruppur	TIRUPUR	WARD 55,57,58	Primary only with grades 1 to 5	PUPS IDUVAMPALAYAM	33330701802	1	1
Tiruppur	TIRUPUR	WARD 52,53,54	Upper Primary with grades 1 to 8	PUMS PALAVANJIPALAYAM	33330701901	11	1
Tiruppur	TIRUPUR	WARD 52,53,54	Upper Primary with grades 1 to 8	PUMS THIRU KUMARAN NAGAR	33330701904	1	1
Tiruppur	TIRUPUR	WARD 34,35,38,39,40,41	Upper Primary with grades 1 to 8	PUMS NALLUR	33330702301	1	1
Tiruppur	TIRUPUR	WARD 34,35,38,39,40,41	Primary only with grades 1 to 5	PUPS VIJAYAPURAM	33330702303	1	1
Tiruppur	TIRUPUR	WARD 34,35,38,39,40,41	Upper Primary with grades 1 to 8	PUMS CHERANKADU	33330702307	1_	1
Tiruppur	TIRUPUR	WARD 34,35,38,39,40,41	Upper Primary with grades 1 to 8	PUMS KANCHIPURAM	33330702312	1	1
Tiruppur	TIRUPUR	WARD 26	Primary only with grades 1 to 5	MPS NESAWALAR COLONY	33330702801	- 1	1
Tiruppur	TIRUPUR	WARD 23	Upper Primary with grades 1 to 8	MMS GOLDEN NAGAR	33330703301	1	1
Tiruppur	TIRUPUR	WARD 12	Upper Primary with grades 1 to 8	MMS BALAMURUGAN NAGAR	33330704001	1	1
Tiruppur	TIRUPUR	WARD 49,KARUVAM SOUTH	Primary only with grades 1 to 5	MPS KARUVAMAPALAYAM	33330704701	1	1
Tiruppur	TIRUPUR	WARD 44	Primary only with grades 1 to 5	MPS NOYYAL STREET	33330705601	1	1
Tiruppur	PALLADAM	NARANAPURAM	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL, ARIVOLI NAGAR	33330801106	1	1
Tiruppur	AVINASHI	CHEYUR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL CHEYUR	33331300305	1	1
Tiruppur	AVINASHI	PAZHANKARAI	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL PERIYAYEEPALAYAM	33331301502	1	1
Tiruppur	AVINASHI	RAKKIYAPALAYA M	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL AMMAPALAYAM	33331303201	1	1
						Total	228

List of approved Girls' Toilets

District	Block	Village	School Category	School Name	School Code	Proposal 2018-19	Final Girls Toilet
THIRUVALLUR	POONAMALLEE	KAMMAVAR KANDIGAI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL KAMMAVAR KANDIGAI	33010500801	11	1
THIRUVALLUR	POONAMALLEE	NAZARATHPETTAI	Upper Primary with grades 1 to 8	PUMS, NAZARATHPET	33010502801	1	1
THIRUVALLUR	POONAMALLEE	THIRUVERKADU WARD-17	Primary only with grades 1 to 5	PUPS, SUNDARA SOZHAVARAM	33010509101	1	1
THIRUVALLUR	MINJUR	MANALI NEW TOWN	Primary only with grades 1 to 5	PUPS, MANALI NEW TOWN	33010602301	2	1
THIRUVALLUR	SHOLAVARAM	ALAMATHI	Primary only with grades 1 to 5	PUPS,NEW ALAMATHY	33010700101	1	1
THIRUVALLUR	VILLIVAKKAM	VEERAPURAM	Primary only with grades 1 to 5	PUPS, NEW KANNIYAMMAN NAGAR	33010900804	1	1
THIRUVALLUR	VILLIVAKKAM	METTUKUPPAM	Upper Primary with grades 1 to 8	PUMS METTUKUPPAM (N)	33010901101	1	1
THIRUVALLUR	VILLIVAKKAM	AMBATHUR WARD- 44	Upper Primary with grades 1 to 8	MMS, DR MOORTHY NAGAR	33010909601	1	1
THIRUVALLUR	VILLIVAKKAM	ALAPAKKAM	Primary only with grades 1 to 5	PUPS, ALAPAKKAM	33010911101	1	1
THIRUVALLUR	VILLIVAKKAM	PORUR	Primary only with grades 1 to 5 Upper Primary with	PUPS, PORUR	33010911301	1	1
THIRUVALLUR	VILLIVAKKAM	PORUR THIRUMULLAI	grades 1 to 8 Primary only with	PUMS, POOTHAPEDU MUN PRI SCHOOL	33010911302	2	2
THIRUVALLUR	VILLIVAKKAM	VOYAL	grades 1 to 5 Primary only with	THIRUMULLAIVOYAL,AVADI	33010911907	1	1
THIRUVALLUR	PUZHAL	MANALI MADHAVARAM	grades 1 to 5 Primary only with	PUPS, MANALI	33011002901	3	3
THIRUVALLUR	PUZHAL	WARD-14	grades 1 to 5 Upper Primary with	MUN. P.S. MADHAVARAM	33011003901	1	1
THIRUVALLUR	PUZHAL	PUZHAL KATHIVAKKAM	grades 1 to 8 Upper Primary with	PUMS, PUZHAL	33011004501	1	1
THIRUVALLUR	PUZHAL	WARD-2 THIRUVOTRIYUR	grades 1 to 8 Primary only with	MUN. MID SCH, NEHRU NAGAR	33011004701	1	1
THIRUVALLUR	PUZHAL THIRUVALANGA	WARD-18 HARICHANDRAPUR	grades 1 to 5	MPS,KARGIL VETRI NAGAR	33011006605	1	1
THIRUVALLUR	DU	AM POTHATURPET	grades 1 to 8 Upper Primary with	PUMS, HARICHANDRAPURAM	33011201301	1	1
THIRUVALLUR	PALLIPAT	WARD-3	grades 1 to 8 Primary only with	PUMS, RANGANATHAN STREET	33011307601	1	1
CHENNAI	GEORGE TOWN	WARD 02	grades 1 to 5	CPS ERUKKANCHERRY	33020100204	2	2
CHENNAI	PERIAMEDU	WARD 32	Primary only with	CPS MAGAZINEPURAM	33020300201	1	1

			grades 1 to 5				·
CHENNAI	PERIAMEDU	WARD 40	Primary only with grades 1 to 5	GOVT ADW PRI SCH VENKATESAPURAM	33020300903	1	1
KANCHEEPURAM	Kanchipuram	Kilambi	Upper Primary with grades 1 to 8	PUMS, Kilambi	33030101802	1	1
KANCHEEPURAM	Kanchipuram	Ayyangarkulam	Primary only with grades 1 to 5	PUPS, Ayyangarkulam	33030102601	1	1
KANCHEEPURAM	Kanchipuram	Sevilimedu	Primary only with grades 1 to 5	PUPS, Sevilimedu	33030105301	1	1
KANCHEEPURAM	Sriperumbudr	Sriperumbudur	Upper Primary with grades 1 to 8	PUMS,Govt.Emps.Qrs.,Sriperumbudur	33030406801	1	1
KANCHEEPURAM	Sriperumbudr	Sriperumbudur	Upper Primary with grades 1 to 8	PUMS, Sriperumbudur (South)	33030406807	1	1
KANCHEEPURAM	Kundrathur	Padappai	Upper Primary with grades 1 to 8	PUMS, Melpadappai	33030503303	1	1
KANCHEEPURAM	Kundrathur	Athancheri	Upper Primary with grades 1 to 8	PUMS Athanancheri	33030504201	1	1
KANCHEEPURAM	Kundrathur	Madambakkam	Primary only with grades 1 to 5	PUPS, Madambakkam	33030505801	1	1
KANCHEEPURAM	Kundrathur	Mangadu Ward 2	Upper Primary with grades 1 to 8	PUMS, Mangadu	33030506001	1	_1
KANCHEEPURAM	Kattankolathur	Kilambakkam	Primary only with grades 1 to 5	ADWPS, Kilambakkam	33030700201	1	1
KANCHEEPURAM	Kattankolathur	Nallambakkam	Primary only with grades 1 to 5	PUPS, Kandigai	33030701502	1	1
KANCHEEPURAM	Thirukalukundram	Kadambadi	Upper Primary with grades 1 to 8	PUMS, Kadambadi	33030803901	1	1
KANCHEEPURAM	Thirukalukundram	Thirukalukundram Ward 18	Upper Primary with grades 1 to 8	PUMS, Thirukazhukundram (North)	33030807801	1	1
KANCHEEPURAM	St. Thomas Mount (Rural)	Kovilambakkam	Primary only with grades 1 to 5	PUPS, Kovilambakkam	33031400801	2	2
KANCHEEPURAM	St. Thomas Mount (Rural)	Medavakkam	Primary only with grades 1 to 5	PUPS, Medavakkam	33031401502	2	2
KANCHEEPURAM	St. Thomas Mount (Rural)	Thoraipakkam	Primary only with grades 1 to 5	PUPS, Okkiam Thorapakkam	33031401901	1	1
KANCHEEPURAM	St. Thomas Mount (Rural) St. Thomas Mount	Perumbakkam	Primary only with grades 1 to 5	PUPS, Perumbakkam	33031402408	1	1
KANCHEEPURAM	St. Thomas Mount (Rural) St. Thomas Mount	Sithalapakkam	Primary only with grades 1 to 5 Primary only with	PUPS, Sithalapakkam	33031402601	1	1
KANCHEEPURAM	(Rural)	Thirusoolam	grades 1 to 5 Primary only with	PUPS, Amman Nagar, Thirusoolam	33031402702	1	1
VELLORE	KAVERIPAKKAM	SEMPEDU	grades 1 to 5 Primary only with	PUPS, GURUVARAJAPET (M)	33040300607	1	1
VELLORE	WALAJAH WEST	NOVLAC	grades 1 to 5	PUPS, PULYANKANNU	33040501901	1	1

			Primary only with				
VELLORE	WALAJAH WEST	CETTITHANGAL	grades 1 to 5	PUPS, CETTITHANGAL	33040502201	1	1
		WALAJA	Upper Primary with				
VELLORE	WALAJAH EAST	MUNICIPALITY	grades 1 to 8	MMS, MIXED, WALAJAH	33040600305	1	1
		WALAJA	Primary only with				
VELLORE	WALAJAH EAST	MUNICIPALITY	grades 1 to 5	MPS, THOPPUKANA NORTH ARCOT	33040600308	1	1
	VELLORE		Upper Primary with				
VELLORE	RURAL	KARUKAMPUTHUR	grades 1 to 8	ADWMS, KARUGAMPATHUR	33040901002	1	1
			Upper Primary with				
VELLORE	PERNAMBUT	RAJAKKAL	grades 1 to 8	PUMS, ODDARPALAYAM	33041602002	1	1
			Upper Primary with				
VELLORE	MADHANUR	AMBUR	grades 1 to 8	MMS, BETHLEHEM, AMBUR	33041703410	1	1
			Upper Primary with				
VELLORE	MADHANUR	SOLUR	grades 1 to 8	PUMS, SOLUR	33041704201	1	1
			Upper Primary with				
VELLORE	NATRAMPALLI	VANIYAMBADI	grades 1 to 8	MMS, (U) (G) MUSLIMPUR	33041901510	1	11
			Upper Primary with				
VELLORE	JOLARPET	PUTHAGARAM	grades 1 to 8	PUMS, KALNARSAMPATTI	33042002602	1	1
			Primary only with				
VELLORE	KANDHILI	ATHIYUR	grades 1 to 5	PUPS, ADIYUR	33042200704	1	1
		HALE	Primary only with				
DHARMAPURI	DHARMAPURI	DHARMAPURI	grades 1 to 5	PUPS HALE DHARMAPURI	33050102301	1	1
		GOWRICHETTIPATT	Upper Primary with				
DHARMAPURI	PENNAGARAM	I	grades 1 to 8	PUMS GOWRICHETTIPATTI	33050304701	1	1
	KARIMANGALA		Upper Primary with				
DHARMAPURI	М	SONNAMPATTI	grades 1 to 8	PUMS SONNAMPATTI	33050511101	1	1
TIRUVANNAMAL	TIRUVANNAMA	ISUKKAZHI	Upper Primary with				
AI	LAI	KATTERI	grades 1 to 8	PUMS-ISUKAZHIKATTERI	33061402801	1	1
TIRUVANNAMAL	TIRUVANNAMA		Upper Primary with				
<u>AI</u>	LAI	KALLANAI	grades 1 to 8	PUMS-KALLANAI	33061403201		I
TIRUVANNAMAL	TIRUVANNAMA		Primary only with				
AI	LAI	NARAIYUR	grades 1 to 5	PUPS-NARAIYUR	33061406301		1
TIRUVANNAMAL			Primary only with				
AI	CHENGAM	KUPPANATHAM	grades 1 to 5	PUPS-KUPPANATHAM	33061604101		1
TIRUVANNAMAL		THALAVA	Upper Primary with				
AI	CHENGAM	NAICKAN PETTAI	grades 1 to 8	PUMS-THALAVA NAICKAN PETTAI	33061608101	1	1
TIRUVANNAMAL			Upper Primary with				
AI	CHENGAM	VALAYAMPATTU	grades 1 to 8	PUMS-VALAYAMPATTU	33061608901	1	1
TIRUVANNAMAL			Upper Primary with				
AI	THANDRAMPET	CHINNIYAMPETTAI	grades 1 to 8	PUMS-CHINNIYAMPETTAI	33061701301	1	1
TIRUVANNAMAL			Primary only with			.	
AI	THANDRAMPET	THANIPADI	grades 1 to 5	PUPS(NORTH)-THANIPADI	33061708102	1	1
TIRUVANNAMAL			Upper Primary with				
AI	THANDRAMPET	VAZHAVACHANUR	grades 1 to 8	PUMS-VAZHAVACHANUR	33061709501	1	1
TIRUVANNAMAL	JAWADHU HILLS	ARASUVELI	Upper Primary with	GTRMS-ARASUVELI	33061800201	1	1

AI			grades 1 to 8				
VILUPPURAM	GINGEE	MAZHAVANTHANG AL	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL MAZHAVANTHANGAL	33070204101	1	1
VILUPPURAM	GINGEE	GINGEE	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL GINGEE	33070207001	1	1
VILUPPURAM	MUGAIYUR	ARUNAPURAM	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL ARUNAPURAM	33071203801	1	1
VILUPPURAM	MUGAIYUR	KANDACHIPURAM	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL KANDACHIPURAM	33071204901	1	1
VILUPPURAM	MUGAIYUR	PERICHANUR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL PERICHANUR	33071205501	1	1
VILUPPURAM	MUGAIYUR	SU. PILRAMPATTU	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL SU.PILRAMPATTU	33071207801	2	2
VILUPPURAM	THIRUKOILUR	KODIYUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL KODIYUR	33071300701	1	1
VILUPPURAM	THIRUKOILUR	CHOLAVANDI PURAM	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL SOZHAVANDIPURAM	33071302001	1	1
VILUPPURAM	THIRUKOILUR	NEDUMUDAIYAN	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL NEDUMUDAIYAN	33071303001	1	1
VILUPPURAM	THIRUKOILUR	EDAIYUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL EDAIYUR	33071303301	1	1
VILUPPURAM	THIRUVENNAIN ALLUR	ARUNKURIKAI	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL ARUNGURUKKAI	33071400301	1	1
VILUPPURAM	THIRUVENNAIN ALLUR	AMOOR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL AMOOR	33071400601	1	1
VILUPPURAM	THIRUVENNAIN ALLUR	ANATHUR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL ANATHUR	33071403401	1	1
VILUPPURAM	SANKARAPURA M	DEVAPANDALAM	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL(HINDU),DEVAPANDALAM	33071500301	1	1
VILUPPURAM	SANKARAPURA M	S.KULATHUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL,S.KULATHUR	33071500501	1	1
VILUPPURAM	SANKARAPURA M	KILAKADU	Upper Primary with grades 1 to 8	GOVERNMENT TRIBAL RESIDENTIAL MIDDLE SCHOOL KILAKADU	33071507601	1	1
VILUPPURAM	RISHIVANTHIYA M	JAMBADAI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL JAMBADAI	33071600101	1	1
VILUPPURAM	RISHIVANTHIYA M	SEERPANANTHAL	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL ILAYANARUPPAM	33071601502	1	1
VILUPPURAM	RISHIVANTHIYA M	LA.GUDALUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL LA.GUDALUR	33071603601	1	1
VILUPPURAM	RISHIVANTHIYA M	PASAR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL PASAR	33071604401	1	1
VILUPPURAM	KALLAKURICHI	KALLAKURICHI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, KALLAKURICHI	33071701310	1	I
VILUPPURAM	KALLAKURICHI	KANDIKKAL	Primary only with grades 1 to 5	GOVERNMENT TRIBAL WELFARE RESIDENTIAL PRIMARY SCHOOL	33071706801	1	1

 \mathbf{x}

				KOTTAPUTHUR			
VILUPPURAM	ULUNDURPET	KATTUEDAIYAR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL,KATTUEDAIYAR	33072100201	1	1
VILUPPURAM	ULUNDURPET	KATTUSELLUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL,KATTUSELLUR	33072102201	1	1
VILUPPURAM	ULUNDURPET	ELLAIGIRAMAM	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, ELLAIGIRAMAM	33072102501	1	1
VILUPPURAM	ULUNDURPET	VADAKURUMBUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, VADAKURUMBUR	33072102801	1	1
VILUPPURAM	ULUNDURPET	PINNALVADI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, PINNALVADI	33072103701	1	1
VILUPPURAM	ULUNDURPET	PUGAIPATTI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, PUGAIPATTI	33072104801	1	1
VILUPPURAM	ULUNDURPET	M.KUNNATHUR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL M. KUNNATHUR	33072105101	1	1
VILUPPURAM	ULUNDURPET	KANAYAR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, KANAYAR	33072106501	1	1
VILUPPURAM	THIRUNAVALUR	ADHANUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, KILAPPALAYAM	33072201302	1	1
SALEM	GANGAVALLI	THAMMAMPATTI	Upper Primary with grades 1 to 8	PUMS 12THWARD THAMMAMPATTI	33080100601	1	1
SALEM	KADAYAMPATT Y	NATCHINAMPATTI	Upper Primary with grades 1 to 8	PUMS KADAYAMPATTI	33080301001	1	1
SALEM	KADAYAMPATT Y	KANJANAICKENPA TTI	Primary only with grades 1 to 5	PUES KANJANAICKENPATTI	33080302302	1	1
SALEM	PANAMARATHU PATTY	NEIKKARAPATTI	Primary only with grades 1 to 5	PUES NEIKKARAPATTI	33080600201	1	1
SALEM	PANAMARATHU PATTY	NEIKKARAPATTI	Primary only with grades 1 to 5	PUES N.METTUR	33080600202	1	1
SALEM	PANAMARATHU PATTY	MALLUR	Primary only with grades 1 to 5	PUES MALLUR	33080601901	1	1
SALEM	VEERAPANDI	MURUNGAPATTI	Primary only with grades 1 to 5	PUES MURUNGAPATTI	33080800901	1	1
SALEM	VEERAPANDI	PUTTHUR AGRAHARAM	Upper Primary with grades 1 to 8	PUMS SK VALAVU	33080801502	1	1
SALEM	VEERAPANDI	ILAMPILLAI	Primary only with grades 1 to 5	PUES ILAMPILLAI	33080802101	1	1
SALEM	SALEM RURAL	ENAMVEDUGATTH AMPATTI	Primary only with grades 1 to 5	PUES VEDUGATHAMPATTI	33080900501	1	1
SALEM	SALEM RURAL	ANDIPATTI	Upper Primary with grades 1 to 8	PUMS ANDIPATTI	33080902701	1	1
SALEM	THARAMANGAL AM	THARAMANGALAM TOWN	Primary only with grades 1 to 5	PUES SANATTHI STREET	33081000701	1	11
SALEM	THARAMANGAL AM	THARAMANGALAM TOWN	Upper Primary with grades 1 to 8	PUMS THARAMANGALAM	33081000708	1	1

	THARAMANGAL		Upper Primary with				
SALEM	AM	RAMIREDDIPATTI	grades 1 to 8	PUMS KATHIMARANVALAVU	33081001002	1	1
	THARAMANGAL		Upper Primary with				
SALEM	AM	DESAVILAKKU	grades 1 to 8	PUMS ATTAYAMPATTIYAN VATTAM	33081001604	1	1
	THARAMANGAL		Upper Primary with				
SALEM	AM	DESAVILAKKU	grades 1 to 8	PUMS LAKSHMAYUR	33081001607	1	1
	THARAMANGAL		Primary only with				
SALEM	AM	DESAVILAKKU	grades 1 to 5	PUES DHUTTAMPATTI	33081001608	1	1
	THARAMANGAL		Upper Primary with				
SALEM	AM	KARUKKALVADI	grades 1 to 8	PUMS PERIYAKARUKKALVADI	33081001805	1	1
		NANGAVALLI	Upper Primary with				
SALEM	NANGAVALLI	(TOWN)	grades 1 to 8	PUMS NANGAVALLI	33081100504	1	1
			Upper Primary with				
SALEM	NANGAVALLI	SOORAPPALLI	grades 1 to 8	PUMS CHINNANOOR	33081100803	1	1
			Upper Primary with				
SALEM	ATTUR	ATTUR TOWN	grades 1 to 8	M.M.S. GANDHI NAGAR	33081302315	1	1
	ΑΥΟΤΗΙΥΑΡΑΤΤΙ	AYOTHIAPATTINA	Primary only with				
SALEM	NAM	M	grades 1 to 5	PUES AYOTHIYAPATINAM	33081401501	1	1
	AYOTHIYAPATTI		Upper Primary with				
SALEM	NAM	ΤΗΑΤΗΑΜΡΑΤΤΥ	grades 1 to 8	PUMS ALLIKKUTTAI	33081405001	1	1
	AYOTHIYAPATTI		Primary only with				
SALEM	NAM	AMMAPET	grades 1 to 5	PUES KAMARAJ NAGAR COLONY	33081405202	1	1
			Primary only with				
SALEM	OMALUR	KAMALAPURAM	grades 1 to 5	P.U.E.S. KAMALAPURAM	33081700201	1	1
			Primary only with				
SALEM	VALAPPADI	S.VALAPPADI	grades 1 to 5	P.U.E.S. VALAPPADI	33081901501	1	1
			Primary only with	MUNICIPAL PRIMARY SCHOOL FORT			
NAMAKKAL	NAMAKKAL	NAMAKKAL	grades 1 to 5	NAMAKKAL	33090100402	2	2
		MALAIYAMPALAY	Primary only with	PANCHAYAT UNION PRIMARY SCHOOL			
NAMAKKAL	VENNANDUR	AM	grades 1 to 5	MALAIYAMPALAYAM	33090801301	1	1
		SENGODAMPALAY	Upper Primary with	MUNICIPAL MIDDLE SCHOOL NESAVALAR			
NAMAKKAL	TRIUCHENGODU	AM	grades 1 to 8	COLONY	33091000702	1	1
			Primary only with	MUNICIPAL PRIMARY SCHOOL JKK			
NAMAKKAL	PALLIPALAYAM	KOMARAPALAYAM	grades 1 to 5	SUNDRAM NAGAR	33091100128	1	1
			Primary only with	PANCHAYAT UNION PRIMARY SCHOOL			
NAMAKKAL	PALLIPALAYAM	PALLIPALAYAM	grades 1 to 5	VEDIYARASAMPALAYAM	33091100605	2	2
		PALLIPALAYAM	Primary only with	PANCHAYAT UNION PRIMARY SCHOOL			
NAMAKKAL	PALLIPALAYAM	AGRAHARAM	grades 1 to 5	AVARANGADU	33091101201	2	2
	BHAVANI		Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL,			
ERODE	SAGAR	NALLUR	grades 1 to 8	NEHRU NAGAR	33100401003	1	1
			Primary only with	PANCHAYAT UNION PRIMARY SCHOOL,			
ERODE	ERODE	PERIYASEMUR	grades 1 to 5	CHINNASEMUR	33100702501	1	1
			Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL,			
ERODE	PERUNDURAI	PERUNDURAI	grades 1 to 8	PERUNDURAI WEST	33101503114	2	2
THE NILGIRIS	GUDALUR	DEVALA	Primary only with	PANCHAYAT UNION PRIMARY SCHOOL	33110401312	1	1

			grades 1 to 5	PULIYAMPARA			
COIMBATORE	MADUKKARAI	MADUKKARAI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL- ARIVOLI NAGAR	33120201106	1	1
COIMBATORE	P.N.PALAYAM	49.GOUNDAMPALA YAM	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL EDAYARPALAYAM	33120301502	1	1
COIMBATORE	PERUR	KURICHI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL KONAVAIKALPALAYAM	33120400112	1	1
COIMBATORE	PERUR	KURICHI	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL GANESAPURAM	33120400113	1	1
COIMBATORE	PERUR	KUNIAMUTHUR	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL KUNIYAMUTHUR	33120400401	2	2
COIMBATORE	PERUR	KUNIAMUTHUR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL SUGUNAPURAM	33120400403	1	1
COIMBATORE	S.S.KULAM	SINGANALLUR	Upper Primary with grades 1 to 8	CMS KRISHNAPURAM	33120500413	1	1
COIMBATORE	S.S.KULAM	S.S.KULAM	Primary only with grades 1 to 5	PUPS SSKULAM	33120500601	1	1
COIMBATORE	S.S.KULAM	KONDAIYAMPALA YAM	Upper Primary with grades 1 to 8	PUMS KOTTAIPALAYAM	33120500709	1	1
COIMBATORE	S.S.KULAM	SARAVANAMPATTI	Primary only with grades 1 to 5	PUPS SARAVANAMAPATII	33120501206	1	1
COIMBATORE	POLLACHI NORTH	RAMAPATTINAM	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL R.GOPALAPURAM	33121102807	1	1
COIMBATORE	POLLACHI SOUTH	POLLACHI MPL WARD 18	Upper Primary with grades 1 to 8	MUNICIPAL MIDDLE SCHOOL RAMAKRISHNA NAGAR	33121204701	1	1
COIMBATORE	SULUR	KALANGAL	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL KALANGAL	33122100602	1	1_
COIMBATORE	SULUR	ARASUR	Primary only with grades 1 to 5	PANCHYAT UNION PRIMARY SCHOOL ARASUR	33122101801	1	1
DINDIGUL	ATHOOR	KEELAKOTTAI	Primary only with grades 1 to 5	PUPS, CHETTIYAPATTI	33130101301	1	1
DINDIGUL	BATLAGUNDU	SEVUGAMPATTI	Upper Primary with grades 1 to 8	PUMS, M.VADIPATTI	33130200203	1	1
DINDIGUL	BATLAGUNDU	VIRALIPATTI	Upper Primary with grades 1 to 8	PUMS,VERIYAPPANAICKENPATTY	33130200606	1	1
DINDIGUL	KODIKANAL	POOMBARAI	Primary only with grades 1 to 5	PUPS,POOMBARAI	33130500301	1	1
DINDIGUL	KODIKANAL	MANNAVANUR	Primary only with grades 1 to 5	PUPS,MANNAVANUR	33130500403	1	1
DINDIGUL	ODDANCHATRA M	ODDANCHATRAM	Upper Primary with grades 1 to 8	PUMS, GANDHINAGAR	33130800901	1	1
DINDIGUL	VADAMADURAI	PUTTHUR	Upper Primary with grades 1 to 8	PUMS, PUTTHUR	33131301701	1	1
KARUR	THANTHONI	SANAPRETTI	Primary only with grades 1 to 5	P.U.E.SCHOOL, NARIKATTIYUR	33140201401	1	11

TIRUCHIRAPPALL			Primary only with				
I	ANDHANALLUR	THIRUVALARSOLAI	grades 1 to 5	PUPS, THIRUVALARSOLAI	33150100401	1	1
TIRUCHIRAPPALL			Upper Primary with				
<u>I</u>	MANAPPARAI	KARUPPUR	grades 1 to 8	PUMS,KARUTHAKODANGIPATTY	33150502102	1	1
TIRUCHIRAPPALL	THIRUVERUMBU		Upper Primary with				
<u>I</u>	R	THIRUVERUMBUR	grades 1 to 8	PUMS,KAMARAJ NAGAR	33151103011	3	3
TIRUCHIRAPPALL			Upper Primary with				
I	VAIYAMPATTY	VAIYAMPATTY	grades 1 to 8	PUMS,VAIYAMPATTI	33151601801	1	1
			Primary only with				
PERAMBALUR	ALATHUR	PADALUR	grades 1 to 5	PUES PADALUR	33160603001	1	1
			Primary only with				
PERAMBALUR	ALATHUR	MELAMATHUR	grades 1 to 5	PUPS MELAMATHUR	33160605401	1	1
			Upper Primary with				
CUDDALORE	CUDDALORE	VELLAPAKKAM	grades 1 to 8	PUMS VELLAPAKKAM	33180104801	1	1
		ALAGUPERUMALK	Upper Primary with				
CUDDALORE	ANNAGRAMAM	UPPAM	grades 1 to 8	PUMS REDDIKUPPAM	33180200201	1	1
			Upper Primary with			-	
CUDDALORE	PANRUTI	VISOOR	grades 1 to 8	PUMS VISOOR	33180302901	1	1
			Upper Primary with				
CUDDALORE	NALLUR	CHOZHANAGAR	grades 1 to 8	PUMS CHOZHANAGAR	33180708901	1	1
		VADAKKU	Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL,			-
NAGAPATTINAM	NAGAPATTINAM	POIKAINALLUR	grades 1 to 8	KEECHANKUPPAM	33190101404	1	1
	MAYILADUDUR	KANAGANAMPUTH	Upper Primary with	PANCHAYATH UNION MIDDLE SCHOOL			
NAGAPATTINAM	AI	UR	grades 1 to 8	NIDUR NEIVASAL	33190703302	1	1
			Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL			
NAGAPATTINAM	KOLLIDAM	ARAPALLAM	grades 1 to 8	NALLUR	33191102801	1	1
	Ī		Primary only with				
THIRUVARUR	KORADACHERY	MANAKKAL	grades 1 to 5	PUPS, MANAKKAL AYYAMPETTAI	33200301801	1	1
	THIRUVIDAIMA	THIRUBUVANAM	Primary only with	PANCHAYAT UNION PRIMARY SCHOOL			
THANJAVUR	RUDHUR	(URBAN)	grades 1 to 5	THIRUBUVANAM (WEST)	33211005402	1	1
			Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL -			
THANJAVUR	PATTUKKOTTAI	ETTUPULIKKADU	grades 1 to 8	ETTUPULIKADU	33211200501	1	1
			Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL			
THANJAVUR	PATTUKKOTTAI	RAJAMADAM	grades 1 to 8	KEEZHATHOTTAM	33211202202	1	1
			Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL			
THANJAVUR	PERAVURANI	EDAIYATHI	grades 1 to 8	EDAYATHI KONAR STREET	33211400406	1	1
			Primary only with	PANCHAYAT UNION PRIMARY SCHOOL.			
PUDUKKOTTAI	ANNAVASAL	ANNAVASAL	grades 1 to 5	ANNAVASAL	33220205901	1	1
			Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL			
PUDUKKOTTAI	VIRALIMALAI	MEBOOTHAGUDI	grades 1 to 8	MEBOOTHAKUDI	33220302001	1	1
	GANDARVAKKO		Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL			
PUDUKKOTTAI	TTAI	NODIYUR	grades 1 to 8	SOLAGAMPATTI	33220400101	1	1
			Primary only with	MUNICIPAL PRIMARY SCHOOL			
PUDUKKOTTAI	PUDUKKOTTAI	PUDUKKOTTAI-22	grades 1 to 5	RAJAGOPALAPURAM PUDUKKOTTAI	33220505101	1	1
PUDUKKOTTAI	THIRUVARANKU	VEPPANKUDI	Upper Primary with	PANCHAYAT UNION MIDDLE SCHOOL	33220604104	1	1

	LAM		grades 1 to 8	IMMANAMPATTI			
MADURAI	ALANGANALLU R	PALAMEDU	Primary only with grades 1 to 5	P.U.P.S, PALAMEDU	33240103201	1	1
MADURAI	T.KALLUPATTI	PERAIYUR TOWN	Primary only with grades 1 to 5	P.U.P.S, PERAIYUR	33240403901	1	1
MADURAI	MADURAI EAST	MADURAI COR. WARD29	Primary only with grades 1 to 5	P.U.P.S, VANDIYUR	33240602901	1	1
MADURAI	MADURAI WEST	CHETTIKULAM	Primary only with grades 1 to 5	P.U.P.S, THIRUMALPURAM	33240701001	1	1
MADURAI	MADURAI WEST	PARAVAI WARD 5	Primary only with grades 1 to 5	P.U.P.S, PARAVAI	33240708201	1	1
MADURAI	MADURAI WEST	PARAVAI WARD	Primary only with grades 1 to 5	P.U.P.S, SATHIYAMOORTHY NAGAR	33240709201	1	· 1_
MADURAI	MELUR	KEELAIYUR	Upper Primary with grades 1 to 8	P.U.M.S, KEELAIYUR	33240800501	1	1
MADURAI	MELUR	A.VALLALAPATTI	Primary only with grades 1 to 5	P.U.P.S, A.VALLALAPATTI	33240801505	1	1
MADURAI	THIRUMANGAL AM	UCHAPATTI	Upper Primary with grades 1 to 8	P.U.M.S, UCHAPPATI	33241000601	1	11
MADURAI	THIRUPARAMKU NDRAM	SURAKULAM	Upper Primary with grades 1 to 8	P.U.M.S, SURAKULAM	33241103701	1	1
MADURAI	THIRUPARAMKU NDRAM	PERIYA ALANGULAM	Primary only with grades 1 to 5	P.U.P.S, ALANKULAM	33241103801	1	1
MADURAI	T. VADIPATTI	MANNADI MANGALAM	Upper Primary with grades 1 to 8	P.U.M.S, MANNADI MANGALAM	33241301401	1	1
VIRUDHUNAGAR	WATRAP	THAMBIPATTI	Upper Primary with grades 1 to 8	P.U.M.S.THAMBIPATTI	33260802501	1	1
VIRUDHUNAGAR	SIVAKASI	VELLUR	Upper Primary with grades 1 to 8	P.U.M.S.MATHIYASENAI	33260901204	1	1
VIRUDHUNAGAR	SIVAKASI	VADAPATTI	Upper Primary with grades 1 to 8	P.U.M.S.VADAPATTI	33260908501	1	1
VIRUDHUNAGAR	SIVAKASI	SIVAKASI (WARD- 02)	Primary only with grades 1 to 5	P.U.P.S THIRUTHANGAL MAIN	33260910501	2	2
VIRUDHUNAGAR	SIVAKASI	SIVAKASI (WARD- 02)	Primary only with grades 1 to 5	P.U.P.S NARAYANAPURAM	33260910522	1	1
RAMANATHAPUR AM	KADALADI	KEELAMUNDAL	Upper Primary with grades 1 to 8	PUMS, KEELAMUNDAL	33270807601	1	1
RAMANATHAPUR AM	MANDAPAM	KARAIYUR	Primary only with grades 1 to 5	PUPS, KARAIYUR	33271100601	1	1
RAMANATHAPUR AM	MANDAPAM	MANDAPAM	Primary only with grades 1 to 5	PUPS, MANDAPAM	33271107201	1	1
THOOTHUKKUDI	TUTICORIN	THOOTHUKUDI	Primary only with grades 1 to 5	MPS, SAMUVELPURAM	33280100117	1	1
THOOTHUKKUDI	SRIVAIKUNTAM	MUKKANI	Primary only with grades 1 to 5	PUPS MUKKANI	33280306701	1	1

			Primary only with				
THOOTHUKKUDI	VILATHIKULAM	VILATHI-WARD-15	grades 1 to 5	PUPS VILATHIKULAM	33281109901	I	1
	PALAYAMKOTT		Primary only with			ľ	
TIRUNELVELI	AIRURAL	REDIARPATTI	grades 1 to 5	PUP S REDIARPATTI	33291203501	1	1
		SAMBAVAR	Primary only with				
TIRUNELVELI	SHENGOTTAI	VADAKARAI	grades 1 to 5	GPS,SVKARAI MELUR	33291601001	1	1
	TIRUNELVELI		Upper Primary with	COPORATION MIDDLE			
TIRUNELVELI	URBAN	WARD 48	grades 1 to 8	SCHOOL, RAHMANPETTAI	33292104801	1	1
KANNIYAKUMAR	AGASTHEESWA		Primary only with				
<u>I</u>	RAM	KOTTARAM	grades 1 to 5	GPS,KOTTARAM	33300201003	1	1
KANNIYAKUMAR	AGASTHEESWA		Upper Primary with				
<u> </u>	RAM	WARD-6	grades 1 to 8	GMS,KRISHNANKOIL	33300201601	1	1
KANNIYAKUMAR	AGASTHEESWA		Primary only with				
	RAM	WARD-38	grades 1 to 5	KDVP GOVT PRIMARY S-KOTTAR	33300204801		1
KANNIYAKUMAR	RAJAKKAMANG	THENGAMPUTHOO	Primary only with	OPE THENCANDUTIOOD	22200200000	.	
	ALAM	R	grades 1 to 5	GPS,THENGAMPUTHOOR	33300300203	1	1
KANNIYAKUMAR	RAJAKKAMANG		Primary only with	CDC FATHAMOZUU	222222222		
	ALAM	NEENDAKARAI B	grades 1 to 5	GPS, EATHAMOZHI	33300300605	1	1
KANNIYAKUMAR		EZHUDECAN	Primary only with	COVE D. C. F.ZHUDESADATTU	33300000000		
I	MUNCHIRAI	EZHUDESAM	grades 1 to 5	GOVT.P.S-EZHUDESAPATTU	33300900203	I	<u> </u>
ZDICHANACIDI	KDIGUNIACIDI	CHINNAMELUPALL	Primary only with	PUPS CHINNAMELUPALLI	22211001001	.	-
KRISHANAGIRI	KRISHNAGIRI	KATTINAYANAPAL	grades 1 to 5 Primary only with	PUPS CHINNAMELUPALLI	33311001901		1
KRISHANAGIRI	KRISHNAGIRI	LI	grades 1 to 5	PUPS KATTINAYANAPALLI	33311004201		
KRISHANAOIM	KRISHINAOIRI		Upper Primary with	TUTSKATTINATANAFALLI	33311004201		1
KRISHANAGIRI	KRISHNAGIRI	R.POOSARIPATTY	grades 1 to 8	PUMS R.POOSARIPATTY	33311007401	1	1
KRISHANAOIRI	KRISHRAGIRI	KI OOSAKII ATTT	Primary only with		55511007401		
KRISHANAGIRI	VEPPANAHALLI	KORALNATHAM	grades 1 to 5	PUPS KORALNATHAM	33311304101	1	1
KRISHARAOIRI			Primary only with		55511504101		1
KRISHANAGIRI	SHOOLAGIRI	UDDANAPALLI	grades 1 to 5	PUPS UDDANAPALLI - TAM-TEL	33311412501	1	1
	<u>BillooLindiki</u>		Upper Primary with		33311412301	1	I
KRISHANAGIRI	HOSUR	HOSUR	grades 1 to 8	PUMS HOSUR-TAMIL	33311504401	2	2
			Upper Primary with				
KRISHANAGIRI	HOSUR	KUMUDEPALLI	grades 1 to 8	PUMS KUMUDEPALLI - TELUGU	33311505701	1	1
	KELAMANGALA		Primary only with				
KRISHANAGIRI	M	KELAMANGALAM	grades 1 to 5	PUPS KELAMANGALAM - TAMIL	33311604601	1	T
			Upper Primary with			· · · · · · · · · · · · · · · · · · ·	
KRISHANAGIRI	THALLY	CHAKALAPALLY	grades 1 to 8	PUMS CHAKALAPALLY	33311703101	1	1
			Upper Primary with				
KRISHANAGIRI	THALLY	KODAGARAI	grades 1 to 8	PUMS KODAGARAI	33311707001	1	1
- MA 10-			Upper Primary with				
Ariyalur	T.PALUR	MUTHUVANCHERI	grades 1 to 8	PUMS-MUTHUVANCHERI	33320102401	1	1
			Upper Primary with				
Ariyalur	T.PALUR	GOVINDAPUTHUR	grades 1 to 8	PUMS-GOVINDAPUTHUR	33320102701	1	1
Ariyalur	T.PALUR	KASANKOTTAI	Upper Primary with	PUMS-KASANKOTTAI	33320102901	1	1

			grades 1 to 8				
Ariyalur	ARIYALUR	NAGAMANGALAM	Primary only with grades 1 to 5	PUES NAGAMANGALAM	33320302201	1	1
Ariyalur	THIRUMANUR	KALLUR	Upper Primary with grades 1 to 8	PUMS KALLUR	33320605701	1	1
Tiruppur	TIRUPUR	WARD 59,60	Upper Primary with grades 1 to 8	PUMS ANDIPALAYAM	33330700104	1	1
Tiruppur	TIRUPUR	WARD 2,3,4,7	Upper Primary with grades 1 to 8	PUMS ATHUPALAYAM	33330700204	. 1	1
Tiruppur	TIRUPUR	WARD 14,16,17,18,19,	Primary only with grades 1 to 5	PUPS POOLUVAPATTI	33330701210	1	1
Tiruppur	TIRUPUR	WARD 20,28,29,30	Upper Primary with grades 1 to 8	PUMS KETHAMPALAYAM	33330701501	1	1
Tiruppur	TIRUPUR	WARD 20,28,29,30	Primary only with grades 1 to 5	PUPS PICHAMPALAYAM PUDUR	33330701502	1	1
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS ANUPARPALAYAM PUDUR	33330701604	1	1
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS RANGANATHAPURAM	33330701606	1	1
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS 15 VELAMPALAYAM	33330701608	1	1
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS SIRUPOOLUVAPATTI	33330701609	1	1
Tiruppur	TIRUPUR	WARD 1,5,6,11,14,15	Upper Primary with grades 1 to 8	PUMS SAMUNDIPURAM	33330701610	1	1
Tiruppur	TIRUPUR	MANGALAM	Upper Primary with grades 1 to 8	PUMS MANGALAM	33330701701	1	1
Tiruppur	TIRUPUR	WARD 55,57,58	Primary only with grades 1 to 5	PUPS IDUVAMPALAYAM	33330701802	i	1
Tiruppur	TIRUPUR	WARD 52,53,54	Upper Primary with grades 1 to 8	PUMS PALAVANJIPALAYAM	33330701901	1	1
Tiruppur	TIRUPUR	WARD 52,53,54	Upper Primary with grades 1 to 8	PUMS THIRU KUMARAN NAGAR	33330701904	2	2
Tiruppur	TIRUPUR	WARD 34,35,38,39,40,41	Upper Primary with grades 1 to 8	PUMS NALLUR	33330702301	1	1
Tiruppur	TIRUPUR	WARD 34,35,38,39,40,41	Primary only with grades 1 to 5	PUPS VIJAYAPURAM	33330702303	1	11
Tiruppur	TIRUPUR	WARD 34,35,38,39,40,41 WARD	Upper Primary with grades 1 to 8 Upper Primary with	PUMS CHERANKADU	33330702307	1	1
Tiruppur	TIRUPUR	34,35,38,39,40,41	grades 1 to 8	PUMS KANCHIPURAM	33330702312	1	11
Tiruppur	TIRUPUR	WARD 10	Primary only with grades 1 to 5	MPS KUMAR NAGAR	33330702401	1	1
Tiruppur	TIRUPUR	WARD 26	Primary only with grades 1 to 5	MPS NESAWALAR COLONY	33330702801	2	2

						Total	273
Tiruppur	AVINASHI	M	grades 1 to 8	AMMAPALAYAM	33331303201	1	1
Tiruppur	AVINASHI	PAZHANKARAI RAKKIYAPALAYA	Primary only with grades 1 to 5 Upper Primary with	PANCHAYAT UNION PRIMARY SCHOOL PERIYAYEEPALAYAM PANCHAYAT UNION MIDDLE SCHOOL	33331301502	1	1
Tiruppur	AVINASHI	CHEYUR	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL CHEYUR	33331300305	1	1
Tiruppur	PALLADAM	PALLADAM	Upper Primary with grades 1 to 8	PANCHAYAT UNION MIDDLE SCHOOL, RAYARPALAYAM	33330801209	1	1
Tiruppur	PALLADAM	NARANAPURAM	Primary only with grades 1 to 5	PANCHAYAT UNION PRIMARY SCHOOL, ARIVOLI NAGAR	33330801106	1	1
Tiruppur	TIRUPUR	WARD 44	Primary only with grades 1 to 5	MPS NOYYAL STREET	33330705601	1	1
Tiruppur	TIRUPUR	WARD 49,KARUVAM SOUTH	Primary only with grades 1 to 5	MPS KARUVAMAPALAYAM	33330704701	2	2
Tiruppur	TIRUPUR	WARD 12	Upper Primary with grades I to 8	MMS BALAMURUGAN NAGAR	33330704001	I	1
Tiruppur	TIRUPUR	WARD 23	Upper Primary with grades 1 to 8	MMS GOLDEN NAGAR	33330703301	1	1

<u>Annexure-V</u>

Solar Panel for Schools

~

•

ь. •

S.N	District	UDISE No	School Name	Management	Category	Total Enrolment
1	THIRUVALLU R	330109 07202	PERUNTHALAIVAR KAMARAJAR GOVT (G) HSS, AMBATTUR	Department of Education	Higher Secondary 6 to 12	2949
2	THIRUVALLU R	330110 03101	GOVT HSS, MANALI	Department of Education	Higher Secondary 6 to 12	2836
3	THIRUVALLU R	330108 04002	GOVT HSS KAVARAIPETTAI	Department of Education	Higher Secondary 6 to 12	2450
4	CHENNAI	330208 01219	GOVT.GIRLS HR.SEC.SCHOOL ASHOK	Department of Education	Higher Secondary 6 to 12	3782
5	CHENNAI	330208 02501	JGG GOVT GIRLS HSS VIRUGAMBAKA	Department of Education	Higher Secondary 6 to 12	2817
6	CHENNAI	330203 00605	CGHSS MH ROAD	Corporation	Higher Secondary 6 to 12	2624
7	KANCHEEPU RAM	330307 05011	GHSS (Girls), Nandhivaram	Department of Education	Higher Secondary 6 to 12	2606
8	KANCHEEPU RAM	330301 05440	GHSS(Girls)., Big Kanchipuram	Department of Education	Higher Secondary 6 to 12	2537
9	KANCHEEPU RAM	330308 07901	GHSS(Girls), Thirukazhukundram	Department of Education	Higher Secondary 6 to 12	2286
10	VELLORE	330406 00119	GOVT (G) HR SEC SCHOOL, ARCOT VELLORE	Department of Education	Higher Secondary 6 to 12	2453
11	VELLORE	330406 00316	GOVT (G) HR SEC SCHOOL, WALAJAPET VELLORE	Department of Education	Higher Secondary 6 to 12	2382
12	VELLORE	330404 03111	TMT ETHIRAJAMMAL MUDALIANDAR GOVT (G) HSS, SHOLINGHUR	Department of Education	Higher Secondary 6 to 12	1945
13	DHARMAPUR 1	330501 01420	GHSS AVVIYAR - GIRLS - DPI.	Department of Education	Higher Secondary 6 to 12	3550
14	DHARMAPUR I	330504 09306	GHSS PALACODE - GIRLS	Department of Education	Higher Secondary 6 to 12	2108
15	DHARMAPUR 1	330501 04102	GHSS KRISHNAPURAM	Department of Education	Higher Secondary 6 to 12	2007
16	TIRUVANNA MALAI	330614 11333	MUNICIPAL HSS(GIRLS)- TV MALAI	Municipality	Higher Secondary 6 to 12	3045